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Tier-I
SSC CGL 2018

SSC CGL Tier-I (2018)
{04/06/2019}

1. I f a nine-digit number

985x3678y is divisible by 72,

then the value of (4x – 3y) is :

;fn ukS vadks dh la[;k 985x3678y] la[;k

72 ls foHkkT; gS] rks  (4x – 3y) dk eku

gksxk%
(a) 5 (b) 4

(c) 3 (d) 6

2. If the 8 digit number 789x531y

is divisible by 72, then the

value of (5x – 3y) is :

;fn vkB vadksa dh la[;k 789x531y,

la[;k 72 ls foHkkT; gS] rks (5x – 3y) dk

eku gksxk%
(a) 0 (b) –1

(c) 2 (d) 1

3. If the 8-digit number 179x091y

is divisible by 88, the value of

(5x – 8y) is:

;fn 8&vadh; la[;k 179x091y, 88 ls

foHkkT; gS] rks (5x – 8y) dk eku gS%
(a) 4 (b) 7

(c) 9 (d) 5

SSC CGL Tier-I (2018)

{06/06/2019} All Shifts
4. If the 8-digit number 2074x4y2

is divisible by 88. then the

value of (4x + 3y) is :

;fn 8-vadksa dh la[;k 2074x4y2 ,88

ls foHkkT; gS] rks (4x + 3y) dk eku gSa%
(a) 49 (b) 36

(c) 42 (d) 45

5. If a 9 digit number 32x4115y2

is divisible by 88, then the

value of (4x – y) for the small-

est possible value of y, is:

;fn ,d 9 vadkss dh la[;k 32x4115y2,

88 ls foHkkT; gS] rks y ds U;wure laHko eku

ds fy, (4x – y) dk eku gS%
(a) 31 (b) 20

(c) –1 (d) 11

6. If a 10-digt number 2094x843y2
is divisible by 88, then the
value of (5x – 7y) for the largest
possible value of x, is:

; fn 10-v ad k s  d h ,d l a[; k
2094x843y2, 88 ls foHkkT; gS]rks x ds
vf/dre laHko eku ds fy,] (5x – 7y) dk
eku gS%
(a) 3 (b) 5
(c) 2 (d) 6

SSC CGL Tier-I (2018)
{07/06/2019} All Shifts

7. I f the 10-digit number
897359y7x2 is divisible by 72,
then what is the value of (3x –
y), for the possible greatest
value of y?
;fn 10&vadh; ,d la[;k 897359y7x2,
72 ls foHkkT; gS] rks y ds laHko vfèkdre eku ds
fy,] (3x – y) dk eku] gS%
(a) 3 (b) 8
(c) 7 (d) 5

8. If 10-digit number 67127y76x2
is divisible by 88, then the
value of (7x – 2y) is:

; fn 10-v ad h; ,d l a[; k
67127y76x2,88 ls foHkkT; gS] rks (7x

– 2y) dk eku gS%
(a) 10 (b) 7
(c) 3 (d) 5

SSC CGL Tier-I (2018)
{10/06/2019} All Shifts

9. I f an 11-digit number
5y5884805x6 , x  y , is divis-
ible by 72, then the value of

xy  is :

,d 11-vadh; la[;k 5y5884805x6 ,

x   y , ;fn 72 ls foHkkT; gS ] rks

yx dk eku gS %

(a) 7 (b) 3

(c) 7 (d) 6
10. If the six digit number 15x1y2

is divisible by 44, then (x + y)
is equal to :

;fn Ng vadksa dh la[;k 15x1y2, la[;k
44 ls foHkkT; gS rks (x + y) cjkcj gksxk%
(a) 8 (b) 7
(c) 6 (d) 9

11. If the six digit number 6x2904

is divisible by 88, then the

value of x is :

;fn Ng&vadksa dh la[;k 6x2904, 88 ls

foHkkT; gS rks x dk eku gksxk %
(a) 5 (b) 6

(c) 7 (d) 8

SSC CGL Tier-I (2018)

{11/06/2019} All Shifts

12. What is the least value of x such

that 517x324 is divisible by 12?

x dk U;wure eku D;k gksxk ftlls 517x

324, la[;k 12 ls foHkkT; gks tk,\
(a) 3 (b) 1

(c) 0 (d) 2

13. If the six digit number 4x573y

is divisible by 72 then the

value of x + y is :

;fn Ng vadksa dh la[;k 4x573y , la[;k

72 ls foHkkT; gS] rks x + y dk eku gS %
(a) 9 (b) 4

(c) 8 (d) 6

14. For what value of x is the seven

digit number 46393x8 divisible

by 11?

x ds fdl eku ds fy, lkr vadksa okyh

la[;k 46393x8, la[;k 11 foHkkT; gS\
(a) 5 (b) 3

(c) 2 (d) 7

SSC CGL Tier-I (2018)

{12/06/2019} All Shifts

15. What is the value of x so that

the seven digit number

91876x2 is divisible by 72?

x ds fdl eku ds fy, lkr vadh; la[;k

91876x2, la[;k 72 ls foHkkT; gS\
(a) 2 (b) 7

(c) 5 (d) 3

16. What is the value of x so that

the seven digit number

6913x08 is divisible by 88?

x ds fdl eku ds fy, lkr vadksa okyh la[;k
6913x08, la[;k 88 ls foHkkT; gS\
(a) 4 (b) 2

(c) 8 (d) 6

la[;k i¼fr
NUMBER SYSTEM
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SSC CGL Tier-I (2018)
{13/06/2019} All Shifts

17. What is the value of x so that
the seven digit number
55350x2 is divisible by 72?

x ds fdl eku ds fy, lkr vadh; la[;k]
55350x2, la[;k 72 ls foHkkT; gS\
(a) 1 (b) 7
(c) 8 (d) 3

18. What is the value of x so that
the seven digit number
8439x53 is divisible by 99?

x ds fdl eku ds fy, lkr vadh; la[;k
8439x53, la[;k 99 ls foHkkT; gS\
(a) 9 (b) 4
(c) 3 (d) 6

19. When an integer n is divided
by 8, the remainder is 3. What
will be the remainder if 6n – 1
is divided by 8 ?

tc ,d iw.kkZad n dks 8 ls foHkkftr fd;k tkrk
gSa] rks 'ks"k 3 cprk gSA ;fn 6n – 1 dks 8 ls
foHkkftr fd;k tkrk gS rks 'ks"k D;k cpsxk\
(a) 4 (b) 1
(c) 0 (d) 2

SSC CGL Tier-I (2018)
{19/06/2019} All Shifts

20. A integer n is divided by 7
leaves remainder 3. When the
6 times of the number is di-
vided by 7, the remainder is :

tc ,d iw.kkZad n dks 7 ls foHkkftr fd;k tkrk gS]
rks 'ks"k 3 cprk gSA tc fdlh la[;k ds 6 xqus dks
7 ls foHkkftr fd;k tkrk gS] rks 'ks"k D;k cpsxk\
(a) 1 (b) 4
(c) 0 (d) 2

Tier-I
SSC CGL 2019

SSC CGL Tier-I (2019)
{03/03/2020} All Shifts

21. I f the number 1005x4 is
completely divisible by 8, then
the smallest integer in place
of x will be?

;fn la[;k 1005x4, 8 ls iwjh rjg foHkkT;
g S rk s x ds LF k ku ij lcl s Nk sV k
iw.kkZ ad____gksxkA
(a) 1 (b) 0

(c) 4 (d) 2
22. When 200 is divided by a

positive integer x, the
remainder is 8. How many
values of x are there?

tc 200 dks ,d /u iw.kkZad x ls foHkkftr
fd;k tkrk gS] rks 'ks"k 8 izkIr gksrk gSA x ds
fdrus eku gks ldrs gSA
(a) 6 (b) 7

(c) 8 (d) 5

23. What should replace * in the
number 94*2357, so that
number is divisible by 11?

la[;k 94*2357 esa * dks fdl vad ls
izfrLFkkfir djuk pkfg,] rkfd og la[;k
11 ls foHkkT; gks\
(a) 1 (b) 7

(c) 8 (d) 3

SSC CGL Tier-I (2019)
{04/03/2020} All Shifts

24. When 732 is divided by a
positive integer x, the
remainder is 12. How many
values of x are there?

tc 732 dks fdlh /u iw.kkZad x ls foHkkftr
fd;k tkrk gS] rks 'ks"k 12 jgrk gSA x ds
fdrus eku gks ldrs gSa\
(a) 19 (b) 20

(c) 18 (d) 16
25. If the 6-digit numbers x35624

and 1257y4 are divisible by 11
and 72, respectively, then what
is the value of (5x – 2y) ?

;fn 6 vadksa okyh la[;k,¡ x35624 vkSj
1257y4 Øe'k% 11 vkSj 72, ls foHkkT;
gSa] rks (5x – 2y) dk eku D;k gksxk\
(a) 14 (b) 12

(c) 10 (d) 13
26. How many numbers are there

from 200 to 800 which are
neither divisible by 5 nor by 7?

200 ls 800 ds chp ,slh fdruh la[;k,¡
gS] tks u rks 5 ls vkSj u gh 7 ls foHkkT; gS\
(a) 407 (b) 410

(c) 413 (d) 411

SSC CGL Tier-I (2019)
{05/03/2020} All Shifts

27. If nine-digit number 708x6y8z9
is divisible by 99, then what is
the value of x + y + z?

;fn 708x6y8z9 ukS vadksa okyh la[;k 99

ls foHkkT;  gS rks x + y + z dk eku D;k gSa\
(a) 27 (b) 5

(c) 16 (d) 9
28. When a positive integer divided

by d, the remainder is 15. When
ten times of the same number
is divided by d, the remainder
is 6. The least possible value of

d is:

tc fdlh /u iw.kkZad dks d ls foHkkftr fd;k
tkrk gS] rks 'ks"kiQy 15 izkIr gksrk gSA tc
mlh la[;k ds nl xqus dks d ls foHkkftr
fd;k tkrk gS] rks 'ks"kiQy 6 izkIr gksrk gSA d
dk U;wure laHko eku Kkr dhft,A
(a) 9 (b) 16

(c) 18 (d) 12

29. The greatest number which
should be replace '*' in the
number 146*48 to make it
divisible by 8 is:
la[;k 146*48 esa '*' ds LFkku ij og
lcls cM+h dkSu lh la[;k gksuh pkfg, ftlls
fd izkIr la[;k 8 ls foHkkT; gks\
(a) 2 (b) 0
(c) 9 (d) 8

SSC CGL Tier-I (2019)
{06/03/2020} All Shifts

30. I f the number 687x29 is
divisible by 9, then the value
of 2x is:
;fn la[;k 687x29, 9 ls foHkkT; gS] rks
2x dk eku Kkr dhft,A
(a) 8 (b) 3
(c) 2 (d) 4

31. The largest number which
should replace * in the number
2365*4 to make the number
divisible by 4 is:
og lcls cM+h la[;k dkSu lh gS tks la[;k
2365*4 esa * ds LFkku ij vkuh pkfg,
rkfd izkIr la[;k 4 ls foHkkT; gks\
(a) 9 (b) 0
(c) 2 (d) 8

32. The sum of the squares of 3
natural numbers is 1029, and
they are in the proportion 1:2:4.
The difference between greatest
number and smallest number is:
3 çkÑfrd la[;kvksa ds oxksZa dk ;ksx 1029

gS] vkSj os 1 : 2 : 4 ds vuqikr esa gSA lcls
cM+h la[;k vkSj lcls NksVh la[;k ds chp
varj _____ gSA
(a) 21 (b) 18
(c) 15 (d) 31

33. What is the smallest integer
that is divisible by 3, 7 and 18?
3, 7 vkSj 18 ls foHkkT; lcls NksVk iw.kkZad
dkSu&lk gS\
(a) 72 (b) 252
(c) 63 (d) 126

SSC CGL Tier-I (2019)
{07/03/2020} All Shifts

34. If the given number 925x85 is
divisible by 11, then the
smallest value of x is:
;fn nh xbZ la[;k 925x85, 11 ls foHkkT;
gS rks x dk U;wure eku______gSA
(a) 1 (b) 2
(c) 3 (d) 4

35. If 7 divided a positive integer n,
the remainder is 2. Which of the
following numbers given a
remainder of 0 when divided by 7?
fdlh /u iw.kkZad n dks 7 ls foHkkftr djus
ij 'ks"kiQy ds :i esa 2 izkIr gksrk gSA
fuEufyf[kr fdl la[;k dks 7 esa foHkkftr
djus ij 'ks"kIkQy ds :i esa 0 izkIr gksxk\
(a) n + 2 (b) n + 5
(c) n – 5 (d) n + 1
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36. What is the remainder when
we divide 570 + 770 by 74 ?

570 + 770 dks 74 ls foHkkftr djus ij
'ks"kiQy D;k izkIr gksrk gS\
(a) 5 (b) 0

(c) 7 (d) 1
37. 25a² – 9 is factored as:

25a² – 9 dk xq.ku[kaMu&&&&&&gSA
(a) (5a + 3)(5a – 3)
(b) (5a –3)²
(c) (25a + 1)(a – 9)

(d) (5a + 1)(5a – 9)

SSC CGL Tier-I (2019)
{09/03/2020} All Shifts

38. What is the smallest integer
that is multiple of 5, 8 and 15?

og lcls NksVk iw.kkZad D;k gS] tks 5, 8 vkSj
15 dk xq.kt gSa\
(a) 120 (b) 40
(c) 60 (d) 600

39. If 5 divided the integer n, the
remainder is 2. What will be the
remainder if 7n is divided by 5?

;fn iw.kkZad n dks 5 ls foHkkftr fd;k tkrk
gSaA rks 'ks"kiQy 2 izkIr gksrk gSaA ;fn 7n dks 5
ls foHkkftr fd;k tk, rks 'ks"k D;k izkIr gksxk\
(a) 1 (b) 2
(c) 3 (d) 4

40. The greatest number which
may replace * in the number
1190*6 to make the number
divisible by 9 is:

og cM+h ls cM+h la[;k Kkr djs tks * dks
izfrLFkkfir dj lds rkfd 9 ls 1190*6

iw.kZr% foHkkftr gks lds\
(a) 1 (b) 0
(c) 3 (d) 9

Tier-I
SSC CGL 2020

SSC CGL Tier-I (2020)
{13/08/2021} All Shifts

41. If the 5-digit number 676xy is
divisible by 3, 7 and 11, then

what is the value of (3x – 5y)?

;fn 5-vad okyh la[;k 676xy, 3, 7

vkSj 11 ls foHkkT; gS] rks (3x – 5y) dk
eku Kkr djsaA
(a) 10 (b) 7

(c) 9 (d) 11
42. If a five digit number 247xy is

divisible by 3, 7 and 11, then
what is the value of (2y – 8x)?

;fn ikap vad okyh la[;k 247xy, 3, 7

vkSj 11 ls foHkkT; gS] rks (2y – 8x) dk
eku Kkr djsaA
(a) 6 (b) 17
(c) 9 (d) 11

43. Find the greatest value of b so
that 30a68b (a > b) is divisible
by 11.

b dk vf/dre eku Kkr djsa] ftlls
30a68b (a > b) la[;k] 11 ls foHkkT;
gksA
(a) 4 (b) 9

(c) 3 (d) 6

SSC CGL Tier-I (2020)
{16/08/2021} All Shifts

44. If the 6-digit number 5x423y is
divisible by 88. then what is
the value of (5x – 8y) ?

;fn 6-vad okyh la[;k 5x423y, 88 ls
foHkkT; gS] rks (5x – 8y) dk eku Kkr djsaA
(a) 28 (b) 14

(c) 16 (d) 24
45. I f the nine-digit number

7p5964q28 is completely
divisible by 88, what is the
value of (p2–q), for the largest
value of q, where p and q are
natural numbers?

;fn ukS&vad okyh la[;k 7p5964q28,

88 ls iw.kZr% foHkkT; gS] rks q ds vf/dre
eku ds fy,] (p2 – q) dk eku Kkr djsa tgka
p vkSj q izkÑfrd la[;k,¡ gSaA
(a) 72 (b) 9

(c) 0 (d) 81
46. Find the difference between

squares of the greatest value
and the smallest value of P if
the number 5306P2 is divisible
by 3.

;fn 5306P2 la[;k] 3 ls foHkkT; gS] rks P
ds vf/dre eku vkSj U;wure eku ds oxks±
ds chp varj Kkr djsaA
(a) 60 (b) 68

(c) 36 (d) 6

SSC CGL Tier-I (2020)
{17/08/2021} All Shifts

47. I f the seven-digit number
94x29y6 is divisible by 72, then
what is the value of (2x + 3y)
for x  y?

;fn lkr vad okyh la[;k 94x29y6, 72

ls foHkkT; gS] rks x  y ds fy,] (2x + 3y)

dk eku Kkr djsaA
(a) 35 (b) 21

(c) 37 (d) 23
48. Find the smallest value of a so

that 42a48b (a > b) is divisible
by 11.

a dk U;wure eku Kkr djsa] ftlls 42a48b

(a > b) la[;k] 11 ls foHkkT; gksA
(a) 4 (b) 5

(c) 0 (d) 9

49. Find the sum of squares of the
greatest value and the smallest
value of K in the number so
that the number 45082K is
divisible by 3.

la[;k esa K ds vf/dre eku vkSj U;wure
eku ds oxks± dk ;ksxiQy Kkr djsa] ftlls
la[;k 45082K, 3 lsa foHkkT; gksA

(a) 68 (b) 64

(c) 100 (d) 50

SSC CGL Tier-I (2020)

{18/08/2021} All Shifts

50. If the 8-digit number 888x53y4
is divisible by 72, then what is
the value of (7x + 2y), for the
maximum value of y?

;fn 8-vad okyh la[;k 888x53y4, 72

ls foHkkT; gS] rks y ds vf/dre eku ds
fy,] (7x + 2y) dk eku Kkr djsaA

(a) 19 (b) 15

(c) 23 (d) 27

51. If the 5-digit number 688xy is
divisible by 3, 7 and 11, then
what is the value of (5x + 3y) ?

;fn 5-vad okyh la[;k 688xy, 3, 7

vkSj 11 ls foHkkT; gS] rks (5x + 3y) dk
eku Kkr djsaA

(a) 43 (b) 23

(c) 36 (d) 39

52. If a number P is divisible by 2
and another number Q is
divisible by 3, then which of the
following is true?

;fn la[;k P, 2 ls foHkkT; gS vkSj la[;k Q,

3 ls foHkkT; gS] rks fuEu esa ls dkSu lk dFku
lR; gS\

(a) P × Q is divisible by 6

P × Q, 6 ls foHkkT; gSA
(b) P + Q is divisible by 6

P + Q, 6 ls foHkkT; gSA
(c) P + Q is divisible by 5

P + Q, 5 ls foHkkT; gSA
(d) P × Q is divisible by 5

P × Q, 5 ls foHkkT; gSA

SSC CGL Tier-I (2020)

{20/08/2021} All Shifts

53. What is the value of k such that
number 72k460k is divisible by 6?

K dk og eku Kkr dj s a fd la[;k
72k460k, 6 ls foHkkT; gks tk,\

(a) 4 (b) 9

(c) 7 (d) 8
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54. What is the sum of the digits of the
largest five digit number which is
divisible by 5, 35, 39 and 65?

5, 35, 39 vkSj 65 ls foHkkT;] ikap vadksa
okyh lcls cM+h la[;k ds vadksa dk ;ksxiQy
Kkr djsaA
(a) 33 (b) 30

(c) 35 (d) 27

55. If 3 3(56 7 – 2 2 )x y  ÷

(2 7 – 2 )x y  = Ax2 + By2 – Cxy,

then find the value of A + B –

14C .

;fn 3 3(56 7 – 2 2 )x y  ÷

(2 7 – 2 )x y  = Ax2 + By2 – Cxy

gS] rks A + B – 14C dk eku Kkr

djsaA
(a) 19 (b) 10

(c) 58 (d) 38
56. The number 823p2q is exactly

divisible by 7, 11 and 13. What
is the value of (p - q)?

la[;k 823p2q, 7, 11 vkSj 13 ls iw.kZr%
foHkkT; gSA (p – q) dk eku Kkr djsaA
(a) 8 (b) 3

(c) 5 (d) 11
57. Fourth proportion to 12,18, 6 is

equal to the third proportion to
4, k. What is the value of k?

12, 18, 6 dk prqFkk ±uqikr (Fourth

proportion), 4, k ds r`rh;kuqikr ds
cjkcj gSA k dk eku Kkr djsaA

(a) 6 (b) 4 3

(c) 6.5 (d) 4

SSC CGL Tier-I (2020)
{23/08/2021} All Shifts

58. If the 5-digit number 593ab is
divisible by 3, 7 and 11, then
what is the value of (a2 – b2 + ab)?

;fn 5-vad okyh la[;k 593 ab, 3, 7

vkSj 11 ls foHkkT; gS] rks (a2 – b2 + ab)

dk eku Kkr djsaA
(a) 35 (b) 31

(c) 25 (d) 29
59. In an examination, the average

score of a student was 67.6. If
he would have got 27 more
marks in Mathematics, 10
more marks in Computer
Science, 18 more marks in
History and retained the same
marks in other subjects, then
his average score would have
been 72.6. How may papers

were there in the examination?

fdlh ijh{kk esa] fdlh Nk=k ds vkSlr vad
67.6 FksA ;fn mls xf.kr esa 27 vf/d vad]
dEI;wVj foKku esa 10 vf/d vad] bfrgkl esa
18 vf/d vad feyrs] vkSj vU; fo"k;ksa esa
leku vad feyrs] rks mlds vkSlr vad
72.6 gksrsA ijh{kk esa dqy fdrus isij Fks\
(a) 11 (b) 10
(c) 12 (d) 9

60. If the six-digit number 5z3x4y
is divisible by 7, 11 and 13,
then what is the value of (x + y
– z) ?
;fn N% vad okyh la[;k 5z3x4y, 7, 11

vkSj 13 ls foHkkT; gS] rks (x + y – z) dk
eku Kkr djsaA
(a) 5 (b) 4
(c) 6 (d) 3

61. I f the 9-digit number
89x64287y is divisible by 72,
then what is the value of (3x +
2y) ?
;fn 9-vad okyh la[;k 89x64287y,

72 ls foHkkT; gS] rks (3x + 2y) dk eku
Kkr djsaA
(a) 30 (b) 25
(c) 28 (d) 31

SSC CGL Tier-I (2020)
{24/08/2021} All Shifts

62. The sum of 3-digit numbers
abc, cab and bca is not divisible
by:
3-vad okyh la[;kvksa abc, cab vkSj bca

dk ;ksxiQy ________ ls foHkkT; ugha gSA
(a) a + b + c (b) 37
(c) 31 (d) 3

63. Find the sum of all the possible
values of (a + b), so that the
number 4a067b is divisible by
11.
(a + b) ds lHkh laHkkfor ekuksa dk ;ksxiQy
Kkr djsa] ftlls la[;k 4a067b, 11 ls
foHkkT; gksA
(a) 5 (b) 16
(c) 21 (d) 11

64. I f a nine-digit number
7698x138y is divisible by 72,

then the value of +4x y  is:

;fn ukS vad okyh la[;k 7698x138y,

72 ls foHkkT; gS] rks +4x y  dk eku
Kkr djsaA
(a) 8 (b) 6
(c) 5 (d) 9

Tier-I
SSC CGL 2021

SSC CGL Tier-I (2021)
{11/04/2022} All Shifts

65. Find the greatest number
23a68b, which is divisible by 3
but NOT divisible by 9.

og lcls cM+h la[;k 23a68b Kkr dhft,]
tks 3 ls foHkkT; gS ysfdu 9 ls foHkkT; ugha gSA
(a) 238689 (b) 239685
(c) 239688 (d) 237687

66. Find the greatest number
which divides 108, 124 and
156, leaving the same remain-
der.

og cM+h ls cM+h la[;k Kkr dhft,] ftlls
108, 124 vkSj 156 dks foHkkftr djus
ij leku 'ks"kiQy izkIr gksrk gSA
(a) 18 (b) 10
(c) 12 (d) 16

67. How many numbers are there
from 500 to 650 (including both)
which are neither divisible by
3 nor by 7?

500 ls 650 rd (nksuksa dks lfEefyr djrs
gq,) ,slh fdruh la[;k gS] tks 3 vkSj 7 nksuksa
ls foHkkT; ugha gS\
(a) 21 (b) 121
(c) 87 (d) 99

68. What is the greatest number
by which when 156, 181 and
331 are divided, the remainder
is 6 in each case?

og lcls cM+h la[;k dkSu&lh gS] ftlls
158, 181 vkSj 331 dks foHkkftr djus
ij izR;sd fLFkfr esa 'ks"kiQy 6 vkrk gS\
(a) 26 (b) 17
(c) 25 (d) 13

69. If the 7-digit number x8942y4
is divisible by 56, what is the
value of (x2 + y) for the largest
value of y, where x and y are
natural numbers?

;fn x8942y4 ,d ,slh 7 vadkas dh la[;k
gS] tks 56 ls foHkkT; gS] rks y ds lcls cM+s
eku ds fy, (x2 + y) dk eku D;k gS\ tgka
x vkSj y izkÑr la[;k,a gSaA
(a) 33 (b) 44
(c) 55 (d) 70

SSC CGL Tier-I (2021)
{12/04/2022} All Shifts

70. What is the remainder when
the product of 335, 608 and 853
is divided by 13?

335, 608 vkSj 853 ds xq.kuiQy dks 13

ls foHkkftr djus ij izkIr 'ks"kiQy D;k
gksxk\
(a) 11 (b) 12
(c) 6 (d) 7

71. Which is the smallest multiple
of 7, which leaves 5 as remain-
der in each case, when divided
by 8, 9, 12 and 15?

7 dk lcls NksVk xq.kt dkSu lk gS] ftls 8,

9,12 vkSj 15 ls foHkkftr djus ij izR;sd
fLFkfr esa 5 'ks"k cprk gS\
(a) 365 (b) 1085
(c) 2525 (d) 725
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72. If 8A5146B is divisible by 88,
then what is the value of B-A?

;fn 8A5146B ls foHkkT; gS] rks B–A dk
eku D;k gS\
(a) 0 (b) –1
(c) 1 (d) 2

73. If 8A5146B is divisible by 88,
then what is the value of BA?

;fn 8A5146B gS] rks BA dk eku D;k gS\
(a) 81 (b) 64
(c) 15 (d) 12

SSC CGL Tier-I (2021)
{13/04/2022} All Shifts

74. If the 9-digit number 7x79251y8
is divisible by 36, What is the
value of (10x2 – 3y2) for the
largest possible value of y?

;fn ukS&vad okyh la[;k 7x79251y8, 36

ls iw.kZr% foHkkftr gS] rks y ds vf/dre eku
ds fy, (10x2 – 3y2) dk eku Kkr djsaA
(a) 490 (b) 289
(c) 192 (d) 298

75. If 8A5146B is divisible by 88,
then what is the value of AB?

;fn 8A5146B, 88 ls foHkkT; gS] rks
AB dk eku D;k gS\
(a) 15 (b) 12
(c) 9 (d) 20

76. What is the least number
which when decreased by 7 is
divisible by 15, 24, 28 and 32?

og NksVh la[;k dkSu lh gS ftlesa 7 ?kVkus ij
izkIr la[;k 15, 24, 28 vkSj 32 ls foHkkftr
gks tkrh gS\k
(a) 10097 (b) 10087
(c) 10067 (d) 10077

77. I f the nine-digit number
9m2365n48 is completely di-
visible by 88, what is the value
of (m2 × n2). for the smallest
value of n, where m and n are
natural numbers?

9m2365n48 ,d ,slh ukS vadksa dh
la[;k gS] tks 88 ls iw.kZr% foHkkT; gS] rks n
ds lcls NksVs eku ds fy, (m2 × n2) dk
eku D;k gksxk] tgka m vkSj n izkÑr la[;k,a
gSa\
(a) 36 (b) 64
(c) 32 (d) 20

SSC CGL Tier-I (2021)
{18/04/2022} All Shifts

78. The greatest number that
divides 126,224 and 608
leaving remainders 2, 7 and
19, respectively, is:

og lcls cM+h la[;k dkSu lh gS] ftlls 126,

224 vkSj 608 dks foHkkftr djus ij 'ks"kiQy
Øe'k% 2, 7 vkSj 19 izkIr gksrk gS\
(a) 27 (b) 31
(c) 21 (d) 37

79. Find the greatest number
234a5b, which is divisible by
22, but NOT divisible by 5.

lcls cM+h la[;k 234a5b Kkr dhft,] tks
22 ls foHkkT; gS] ysfdu 5 ls foHkkT; ugha gSA
(a) 234058 (b) 234850
(c) 234652 (d) 234751

80. What is the greatest four-digit
number which on being divided
by 6, 7 and 8 leaves 4, 5 and 6
as remainders, respectively?

pkj vadksa dh lcls cM+h la[;k dkSu lh gS]
ftls 6, 7 vkSj 8 ls foHkkftr djus ij
Øe'k% 4, 5 vkSj 6 'ks"kiQy izkIr gksrk gS\
(a) 9910 (b) 9920

(c) 9921 (d) 9912
81. I f a nine digit number

468x5138y is divisible by 72,

then the value of 4 3x + y is:

;fn ,d ukS vadksa dh la[;k 468x5138y 72

ls foHkkT; gS] rks 4 3x + y  bldk eku gS%

(a) 8 (b) 9
(c) 12 (d) 6

82. A number ‘n’ when divided by
6 leaves remainder 2. What will
be the remainder when (n2 + n
+ 2) is divided by 6?

,d la[;k 'n' dks 6 ls foHkkftr djus ij
2 'ks"kiQy izkIr gksrk gSA (n2 + n + 2) dks
6 ls foHkkftr djus ij 'ks"kiQy D;k izkIr
gksxk\
(a) 4 (b) 6

(c) 0 (d) 2

SSC CGL Tier-I (2021)
{19/04/2022} All Shifts

83. If each of the two numbers 516

and 525 are divided by 6, the
remainders are R

1
 and R

2
respectively. What is the value

of
1 2

2

R + R

R ?

;fn nks la[;kvksa 516 vkSj 525 esa ls izR;sd
dks 6 ls foHkkftr fd;k tkrk gS] rks 'ks"kiQy

Øe'k% R
1
 vkSj R

2 
izkIr gksrs gSA 

1 2

2

R + R

R
dk eku D;k gS\

(a)
1

6
(b)

5

6

(c)
1

5
(d)

6

5
84. If 8A5146B is divisible by 88,

then what is the value of AB?

;fn 8A5146B ls 88 foHkkT; gS] rks AB

dk eku D;k gksxk\
(a) 27 (b) 64

(c) 81 (d) 12

85. Find the value of k such that the

number k53206k is divisible by

6.

k dk og eku Kkr dhf,] ftlls la[;k
k53206k, 6 ls foHkkT; gksxhA
(a) 7 (b) 4

(c) 2 (d) 1
86. Find the greatest 3-digit

number which, when divided by
3, 4, 5 and 8, leaves remainder
2 in each case.

rhu vadksa dh og cM+h ls cM+h la[;k Kkr
dhft,] ftls 3, 4, 5 vkSj 8 ls foHkkftr
djus ij izR;sd fLFkfr esa 'ks"kiQy 2 cpsA
(a) 962 (b) 122
(c) 958 (d) 482

SSC CGL Tier-I (2021)
{20/04/2022} All Shifts

87. Find the value of k in the
number 3426k if the number is
divisible by 6 but NOT divisible
by 5.

la[;k 3426k esa k dk eku Kkr dhft,]
;fn la[;k 6 ls foHkkT; gS] ysfdu 5 ls
foHkkT; ugha gSA
(a) 4 (b) 6
(c) 3 (d) 9

88. What is the least square
number which is exactly
divisible by 2, 3, 10, 18 and 20?

og NksVh ls NksVh oxZ la[;k dkSu lh gS tks 2,

3, 10, 18 vkSj 20 ls iw.kZr% foHkkT; gS\
(a) 900 (b) 180
(c) 196 (d) 30

89. If the number 48k2048p6 is
divisible by 99, then (k ×p) is
equal to:

;fn 48k2048p6 ,d ,slh la[;k gS] tks 99

ls foHkkT; gS] rks (k ×p) dk eku D;k gksxk\
(a) 2 (b) 6
(c) 4 (d) 0

90. The least number which should
be added to 3627 so that the sum
is exactly divisible by 4, 5, 6 and
8 is:

og NksVh ls NksVh la[;k dkSu lh gS ftls
3627 esa tksM+us ij izkIr ;ksx 4, 5, 6 vkSj
8 ls iw.kZr% foHkkT; gksxk\
(a) 93 (b) 39
(c) 27 (d) 72

91. What is the average of the first
six prime numbers?

izFke N% vHkkT; la[;kvksa dk vkSlr D;k
gksxk\

(a) 6 (b)
5

6
6

(c)
1

9
3

(d) 7
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92. Which of the following is the
smallest number that is a
perfect square and is divisible
by each of the numbers 6, 8
and 15?

fuEufyf[kr esa ls dkSu&lh lcls NksVh la[;k
gS tks fd ,d iw.kZ oxZ gS vkSj la[;kvksaa 6,

8 vkSj 15 izR;sd ls foHkkT; gS\
(a) 225 (b) 121

(c) 576 (d) 3600
SSC CGL Tier-I (2021)

{21/04/2022} All Shifts
93. Find the smallest number

which should be added to the
smallest number divisible by 6,
9 and 15 to make it a perfect
square.

og NksVh ls NksVh la[;k Kkr dhft,] ftls
6] 9 vkSj 15 ls foHkkT; lcls NksVh la[;k
es tksM+us ij ;g ,d iw.kZ oxZ cu tk,A
(a) 10 (b) 9
(c) 19 (d) 21

94. Find the sum of greatest and the
smallest number which may re-
place K in the number 3281k6 to
make the number divisible by 6.

ml lcls cM+h vkSj lcls NksVh la[;k dk ;ksx
Kkr djsa] tks la[;k 3281k6 esa k dks izfrLFkkfir
djds la[;k dks 6 ls foHkkT; cuk ldrh gSA
(a) 9 (b) 8
(c) 5 (d) 4

95. What is the sum of the num-
bers between 400 and 500 such
that when they are divided by
6,12 and 16, it leaves no re-
mainder?

400 vkSj 500 ds chp dh mu la[;kvksa dk
;ksx D;k gS] ftUgs 6] 12 vkSj 16 ls foHkkftr
djus ij dksbZ 'ks"kiQy ugha cprk gSa\
(a) 40 (b) 1024
(c) 960 (d) 912

96. I f a nine-digit number
485x3678y is divisible by 72,
then for the smallest value of
x, the value of (2y – 3x) is:

;fn ukS vadksa okyh la[;k 485x3678y,

72 ls foHkkT; gS] rks x ds lcls NksVs eku
ds fy, (2y – 3x) dk eku D;k gksxk\
(a) 6 (b) 9
(c) 11 (d) 8

97. I f a 10-digit number
54726x79y6 is divisible by 72,
then what is the value fo 5x –
3y, for the least value of y?

;fn 10 vadksa dh ,d la[;k 54726x79y6,

72 ls foHkkT; gS] rks y ds U;wure eku ds fy,]
5x – 3y dk eku D;k gksxk\
(a) 17 (b) 16
(c) 19 (d) 23

Tier-I
SSC CGL 2022

98. If  

3 3

2 2

(17) (7)
24

17 7 k




  , then what

is the value of k?

;fn  

3 3

2 2

(17) (7)
24

17 7 k




   gS] rks k dk

eku D;k gS\

(a) 119 (b) 128

(c) 24 (d) 109

99. Simplify the following

fuEufyf[kr dks ljy djsaA

25³ – 75³ + 50³

(a) –281250 (b) 281350

(c) 271250 (d) –281450

100. The value of 97 × 103 is
_________.

97 × 103 dk eku _________ gSA

(a) 7999 (b) 9991

(c) 8991 (d) 9981

101. 7 is added to a certain number
and the sum is multiplied by
5. The product is then divided
by 3 and 4 is subtracted from
the quotient. I f the result
comes to 16, then what is the
original number?

,d fuf'pr la[;k esa 7 tksM+k tkrk gS vkSj
;ksx dks 5 ls xq.kk fd;k tkrk gSA fiQj
xq.kuiQy dks 3 ls foHkkftr fd;k tkrk gS
vkSj 4 dks HkkxiQy esa ls ?kVk;k tkrk gSA ;fn
ifj.kke 16 vkrk gS] rks ewy la[;k D;k gS\

(a) 3 (b) 1

(c) 5 (d) 4

102. Choose the option in which
the numbers are in correct
ascending order.

og fodYi pqusa ftlesa la[;k,¡ lgh vkjksgh
Øe esa gksaA

(a)
4 2 1

, ,
5 3 11

 and 
2

9

(b)
1 2 2

, ,
11 9 3

 and 
4

5

(c)
2 1 4

, ,
9 11 5

 and 
2

3

(d)
2 4 1

, ,
3 5 11

 and 
2

9

103. Find the weighted arithmetic
mean of the first 'n' natural
numbers, the weights being
the corresponding numbers.

;fn Hkkjlaxr la[;k,a gSa rks çFke 'n' çkÑr
la[;kvksa dk Hkkfjr lekarj ekè; Kkr djsaA

(a)
 n(n 1)(2n 1)

2

 

(b)
 n(n 1)

2



(c) n

(d)
 2n 1

3



104. What is the value of/dk eku D;k
gS\
1002–992 + 982 – 972 + 962 – 952 +
942 –932 + ........ 122 – 11²?

(a) 5050 (b) 4985

(c) 4995 (d) 4950

Divisibility & Remainder

105. Which of the following numbers
is a divisor of
(4515-1)?

fuEufyf[kr esa ls dkSu&lh la[;k (4515-1)

dk Hkktd gS\

(a) 46 (b) 14

(c) 8 (d) 50

106. What is the remainder when
8127 is divided by 8?

8127 dks 8 ls Hkkx nsus ij 'ks"kiQy D;k gksxk\

(a) 5 (b) 7

(c) 4 (d) 6

107. What will be the remainder
when 2727+ 27 is divided by 28?

tc 2727+ 27 ds eku dks 28 ls foHkkftr
fd;k tk,] rks 'ks"kiQy fdruk gksxk\

(a) 28 (b) 27

(c) 25 (d) 26

108. If the 5-digit number 750PQ is
divisible by 3, 7 and 11, then
what is the value of P + 2Q?

;fn 750PQ ,d ,slh 5-vadh; la[;k gS
tks 3, 7 vkSj 11 ls foHkkT; gS] rks P + 2Q

dk eku Kkr dhft,A

(a) 17 (b) 15

(c) 18 (d) 16

109. If the 4-digit number x67y is
exactly divisible by 9, then the
least value of (x + y) is _____.

;fn x67y ,d ,slh 4-vadh; la[;k gS tks
9 lsiw.kZr% foHkkT; gS] rks (x + y) dk U;wure
eku ---------------- gSA

(a) 9 (b) 0

(c) 5 (d) 3
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110. In a class of students, the first
student has 2 toffees, second
has 4 toffees, third has 6 toffees
and so on. If the number of
students in the class is 25,
then the total number of toffees
are divisible by ________.

Nk=kkas dh ,d d{kk esa] igys Nk=k ds ikl 2
VkWfiQ;ka gSa] nwljs ds ikl 4 VkWfiQ;ka gSa] rhljs
ds ikl 6 VkWfiQ;ka gSa vkSj blh rjg lHkh Nk=kkas
ds ikl VkWfiQ;ka gSaA ;fn d{kk esa Nk=kksa dh
la[;k 25 gS] rks VkWfiQ;ksa dh dqy la[;k dks
------------ ls HkkT; fd;k tk ldrk gS\

(a) 5 and 7 (b) 5 and 13

(c) 11 and 13 (d) 7 and 11

111. The difference of two numbers
is 1564. After dividing the
larger number by the smaller,
we get 6 as quotient and 19 as
remainder. What is the
smaller number?

nks la[;kvksa dk varj 1564 gSA cM+h la[;k
dks NksVh ls foHkkftr djus ij] gesa HkkxiQy
ds :i esa 6 vkSj 'ks"kiQy ds :i esa 19 çkIr
gksrk gSA NksVh la[;k D;k gS\

(a) 456 (b) 287

(c) 623 (d) 309

112. Which of the following numbers
are divisible by 2, 3, 5?

fuEufyf[kr esa ls dkSu&lh la[;k 2, 3 5 ls
foHkkT; gS\

(a) 5467760 (b) 1345678

(c) 2345760 (d) 2456732

113. What will be the remainder
when 742 is divided by 48?

tc 742 dks 48 ls foHkkftr fd;k tk,] rks
'ks"k Kkr dhft,A

(a) 1 (b) 3

(c) 2 (d) 0

114. A number when divided by 7
leaves remainder of 4. If the
square of the same number is
divided by 7, then what is the
remainder?

fdlh la[;k dks 7 ls foHkkftr djus ij 4

'ks"kiQy cprk gSA ;fn mlh la[;k ds oxZ dks 7
ls foHkkftr fd;k tk,] rks 'ks"kiQy D;k gksxk\

(a) 3 (b) 1

(c) 4 (d) 2

115. Find the largest number of 3
digits divisible by 4 and 7.

4 vkSj 7 ls foHkkT; 3 vadksa okyh lcls
cM+h la[;k Kkr djsaA

(a) 960 (b) 980

(c) 990 (d) 970

116. If the 8-digit number 123456xy
is divisible by 8, then the total
possible pairs of (x, y) are:

;fn 8 vadksa dh la[;k 123456xy 8 ls
foHkkT; gS] rks (x, y) ds dqy fdrus laHkkfor
;qXe gksaxs\

(a) 8 (b) 13

(c) 10 (d) 11

117. Which of the following pairs of
non-zero values of p and q make
6-digit number 674pq0
divisible by both 3 and 11?

p vkSj q ds 'kwU;sÙkj ekuksa dk fuEufyf[kr esa
ls dkSu&lk ;qXe 6 vadksa dh la[;k 674pq0

dks 3 vkSj 11 nksuksa ls foHkkT; cukrk gS\

(a) p = 2 and q = 2

(b) p = 5 and q = 4

(c) p = 4 and q = 2

(d) p = 5 and q = 2

118. On dividing a certain number

by 363, we get 17 as the

remainder. What will be the

remainder when the same

number is divided by 11?

,d la[;k dks 363 }kjk foHkkftr fd;k

tkrk gS rks 'ks"kiQy 17 çkIr gksrk gSA tc

mlh la[;k dks 11 }kjk foHkkftr fd;k

tk,xk rks 'ksiQy D;k gksxk\

(a) 7 (b) 8

(c) 6 (d) 9

119. The largest five-digit number

which when divided by 7, 9 and

11, leaves the same remainder

as 3 in each case, is:

ikap vadksa okyh lcls cM+h la[;k dkSulh gS]

ftls 7, 9 vkSj 11 ls foHkkftr djus ij

çR;sd fLFkfr esa leku 'ks"kiQy 3 cprk gS\

(a) 95840 (b) 98685

(c) 96720 (d) 99795

120. Find the greatest 5-digit

number which is divisible by

11, 33, 99 and 121.

5 vadksa dh lcls cM+h la[;k Kkr dhft, tks

11, 33, 99 vkSj 121 ls foHkkT; gksA

(a) 90099 (b) 99990

(c) 99099 (d) 90909

121. What is the smallest number

that should be added to 4567 so

that the sum is divisible by 7?

4567 esa og NksVh ls NksVh dkSu&lh la[;k

tksM+h tk, fd ;ksxiQy 7 ls foHkkT; gks\

(a) 7 (b) 5

(c) 6 (d) 4

122. I f the 9-digit number
83P93678Q is divisible by 72,
then what is the value of

2 2P Q 12  ?

;fn 9 vadksa dh la[;k 83P93678Q, 72 ls

foHkkT; gS] rks 2 2P Q 12   dk eku D;k gS\

(a) 6 (b) 7

(c) 8 (d) 9

123. Find the greatest number that
will divide 49, 147 and 322 to
leave the same remainder in
each case.

og cM+h ls cM+h la[;k Kkr dhft,] ftlls
49, 147 vkSj 322 dks foHkkftr djus ij
çR;sd fLFkfr esa leku 'ks"kiQy çkIr gksA

(a) 9 (b) 5

(c) 7 (d) 8

124. A number n when divided by
6, leaves a remainder 3. What
will be the remainder when
(n²+5n+8) is divided by 6?

,d la[;k n dks tc 6 ls foHkkftr fd;k
tkrk gS] rks 'ks"kiQy 3 cprk gSA (n²+5n+8)

dks 6 ls foHkkftr djus ij 'ks"kiQy D;k gksxk\

(a) 1 (b) 3

(c) 5 (d) 2

125. 350 + 926 + 2718 + 928 + 929 is
divisible by which of the
following integers?

350 + 926 + 2718 + 928 + 929 fuEufyf[kr
eas ls fdl iw.kkZad ls foHkkT; gS\

(a) 11 (b) 5

(c) 7 (d) 2

126.What is the smallest perfect
square which is completely
divisible by each of 16, 18 and 36?

og lcls NksVk iw.kZ oxZ dkSu lk gS tks 16,

18 vkSj 36 esa ls çR;sd ls iw.kZr% foHkkT; gS\

(a) 144 (b) 81

(c) 196 (d) 169

127. Numbers divisible by 9
between 43 and 481 are:

43 vkSj 481 ds chp esa fdruh la[;k,¡ 9
}kjk foHkkT; gSa\

(a) 51 (b) 49

(c) 48 (d) 50

128. What should be subtracted
from 246837 to make it
divisible by 13?

246837 esa ls fdruk ?kVk;k tk, fd ;g
13 ls foHkkT; gks tk,xk\

(a) 4 (b) 5

(c) 3 (d) 6
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129. If a number K = 42 × 25 × 54 ×
135 is divisible by 3a, then find
the maximum value of a.

;fn ,d la[;k K = 42 × 25 × 54 ×

135, 3a }kjk foHkkT; gS] rks a dk vfèkdre
eku Kkr dhft,A

(a) 6 (b) 7

(c) 4 (d) 5

130. How many numbers from 1 to
430 are divisible by 7 and 11
both?

1 ls 430 rd fdruh la[;k,¡ 7 vkSj 11

nksuksa ls foHkkT; gS\

(a) 5 (b) 11

(c) 9 (d) 7

131. 9435 is added to 7593, then
2607 is subtracted from the
sum. The result is divisible by:

9435 dks 7593 esa tksM+k tkrk gS] vkSj
fiQj 2607 dks buds ;ksxiQy ls ?kVk;k tkrk
gSA ifj.kke fdlds foHkkT; gksxk\

(a) 4 (b) 10

(c) 3 (d) 5

132. A number when divided by
221, leaves a remainder 30. If
the same number is divided by
13, the remainder will be:

fdlh la[;k dks 221 ls foHkkftr djus ij
'ks"kiQy 30 jgrk gSA ;fn mlh la[;k dks 13

ls foHkkftr fd;k tk,] rks 'ks"kiQy Kkr
dhft,A

(a) 4 (b) 3

(c) 2 (d) 1

133. In a division sum, the divisor
is 10 times the quotient and
four times the remainder.
What is the dividend if the
remainder is 45?

,d Hkkx ds ç'u esa Hkktd] HkkxiQy dk 10

xquk vkSj 'ks"kiQy dk pkj xquk gSA ;fn
'ks"kiQy 45 gS rks HkkT; D;k gS\

(a) 4123 (b) 3285

(c) 2895 (d) 5412

134. If 7-digit number 678p37q is
divisible by 75 and p is not a
composite, then the values of
p and q are:

;fn 7 vadksa dh la[;k 678p37q, 75 ls
foHkkT; gS vkSj p ,d HkkT; la[;k ugha gS]
rks p vkSj q ds eku Kkr dhft,A

(a) p = 5, q = 5

(b) p = 3, q = 0

(c) p = 3, q = 5

(d) p = 2, q = 5

135. The largest 5-digit number
that is exactly divisible by 88
is:

5 vadksa dh lcls cM+h la[;k --------------- gS]
tks 88 ls iw.kZr% foHkkT; gSA

(a) 99968 (b) 99689

(c) 68999 (d) 66698

136. If the number 123456789 is
divided by 9, then the
remainder is:

;fn la[;k 123456789 dks 9 }kjk foHkkftr
fd;k tkrk gS] rks 'ks"kiQy D;k gksxk\

(a) 0 (b) 1

(c) 2 (d) 3

137. In a 7-digit number 89476*2,
what is the smallest possible
value of * such that the number
is divisible by 8?

,d 7-vadh; la[;k 89476*2 esa] *dk
U;wuer laHko eku D;k gS ftlls la[;k 8 ls
foHkkT; gks\

(a) 2 (b) 1

(c) 4 (d) 3

138. The remainder when 1919 +
20 is divided by 18, is:

tc 1919 + 20 dks 18 ls foHkkftr fd;k
tk,] rks 'ks"k Kkr dhft,A

(a) 3 (b) 2

(c) 1 (d) 0

139. The least number that should
be added to 35460 so that the
sum is exactly divisible by 3,
4, 5 and 7 is:

35460 esa dkSu&lh lcls NksVh la[;k tksM+h
tkuh pkfg, rkfd ;ksxiQy 3, 4, 5 vkSj 7
}kjk iw.kZr% foHkkT; gks\

(a) 84 (b) 420

(c) 240 (d) 180

140. Any six-digit number that is
formed by repeating a three-
digit number, is always
divisible by:

dksbZ Hkh Ng vadksa dh la[;k tks rhu vadksa dh
la[;k dks nksgjkdj curh gS] lnSo fdlls
foHkkT; gksrh gS\

(a) 111 (b) 1001

(c) 19 (d) 101

141. I f the seven-digit number
52A6B7C is divisible by 33, and
A, B, C are primes, then the
maximum value of 2A+3B+C is:

;fn lkar vadksa dh la[;k 52A6B7C, 33

ls foHkkT; gS] vkSj A, B, C HkkT; gSa] rks
2A+3B+C dk vf/dre eku gS&

(a) 32 (b) 23

(c) 27 (d) 34

142. If a 7-digit number 54p3987 is
divisible by 11, then p is equal
to:

;fn ,d 7-vadh; la[;k 54p3987, 11

ls foHkkT; gS] rks p fdlds cjkcj gksxk\

(a) 5 (b) 9

(c) 4 (d) 1

143. When m12–1 is divided by m +
1, the remainder is:

tc m12–1 dks m + 1 }kjk foHkkftr fd;k
tkrk gS] rks 'ks"kiQy D;k gksxk\

(a) 2 (b) 1

(c) 0 (d) –1

144. A four-digit pin, say abcd, of a
lock has different non-zero
digits. The digits satisfy b = 2a,
c = 2b, d = 2c. The pin is
divisible by __________.

eku yhft,] ,d rkys ds pkj vadksa okys fiu]
abcd esa vyx&vyx xSj&'kwU; vad gksrs gSaA
vad b = 2a, c = 2b, d = 2c dks larq"V
djrs gSaA fiu ______ ls foHkkT; gSA

(a) 2, 3, 5 (b) 2, 3, 7

(c) 2, 3, 13 (d) 2, 3, 11

145. If the number 6788934a4 is
divisible by 11,then find the
smallest whole number in the
place of a.

;fn la[;k 6788934a4, 11 ls foHkkT;
gS] rks a ds LFkku ij lcls NksVh iw.kZ la[;k
Kkr dhft,A

(a) 3 (b) 4

(c) 5 (d) 2

146. I f the nine-digit number
3422213AB is divisible by 99,
then what is the value of 2A +
B?

;fn ukS&vadh; la[;k 3422213AB, 99

ls foHkkT; gS] rks 2A + B dk eku fdruk gS\

(a) 11 (b) 12

(c) 10 (d) 13

Tier-I
SSC CGL 2023

147. The cube of the difference
between two given natural
numbers is 1728, while the
product of these two given
numbers is 108. Find the
positive difference between the
cubes of these two given
numbers.

nh xbZ nks izkd`frd la[;kvksa ds varj dk ?ku
1728 gS] tcfd nh xbZ bu nksuksa la[;kvksa
dk xq.kuQy 108 gSA nh xbZ bu nksuksa la[;kvksa
ds ?kuksa dk varj Kkr djsaA

(a) 4104 (b) 5616

(c) 2160 (d) 5626
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148. The square of the sum of two
given natural numbers is 784,
while the product of the two
given numbers is 192. Find the
positive difference between the
squares of these two given
numbers.

fdUgha nks çkÑr la[;kvksa ds ;ksx dk oxZ
784 gS] tcfd nh xbZ nksuksa la[;kvksa dk
xq.kuiQy 192 gSA nh xbZ bu nksuksa la[;kvksa
ds oxks± dk /ukRed varj Kkr dhft,A

(a) 512 (b) 122

(c) 400 (d) 112

149. The difference between the
cubes of two given natural
numbers is 6272, while the
positive difference between the
two given numbers is 8. What
is the sum of the cubes of the
two given numbers?

fdUgha nks çkÑr la[;kvksa ds ?kuksa ds chp dk
varj 6272 gS] tcfd nh xbZ nksuksa la[;kvksa
dk ?kukRed varj 8 gSA nh xbZ nksuksa la[;kvksa
ds ?kuksa dk ;ksx D;k gS\

(a) 9728 (b) 9684

(c) 8000 (d) 9600

150. The sum of the cubes of two
given natural numbers is 9728,
while the sum of the two given
numbers is 32. What is the
positive difference between the
cubes of the two given
numbers?

fdUgha nks çkÑr la[;kvksa ds ?kuksa dk ;ksx
9728 gS] tcfd nh xbZ nks la[;kvksa dk ;ksx
32 gSA nh xbZ nksuksa la[;kvksa ds ?kuksa ds chp
?kukRed varj D;k gksxk\

(a) 6272 (b) 5832

(c) 4662 (d)7904

Divisibility

151. 625 + 626 + 627 + 628 is divisible

by:/fuEu eas ls fdl la[;k ls foHkkT; gS%

(a) 256 (b) 254

(c) 255 (d) 259

152. What will be the remainder
when (265)4081+9 is divided by
266?

tc (265)4081+9 dks 266 ls foHkkftr
fd;k tk, rks 'ks"kiQy Kkr dhft;s\

(a) 8 (b) 6

(c) 1 (d) 9

153. The largest 5 digit number
exactly divisible by 88 is:

88 ls iw.kZr% foHkkT; 5 vadh; lcls cM+h

la[;k Kkr dhft,%

(a) 99990 (b) 99984

(c) 99978 (d) 99968

154.During a division, Pranjal

mistakenly took as the

dividend a number that was

10% more than the original

dividend. He also mistakenly

took as the divisor a number

that was 25% more than the

original divisor. If the correct

quotient of the original division

problem was 25 and the

remainder was 0, what was the

quotient that Pranjal obtained,

assuming his calculations had

no error?

Hkkx dk ç'u djrs le; çkaty us xyrh ls

HkkT; ds :i esa ,d la[;k ysyhtks ewy HkkT;

ls 10% vf/d FkhA mUgksaus xyrh ls Hkktd

ds :i esa ,d ,slh la[;k ysyh tks ewy

Hkktd ls 25% vf/d FkhA ;fn Hkkx ds ewy

ç'u dk lgh HkkxiQy 25 Fkk vkSj 'ks"kiQy

0 Fkk] rks ;g ekurs gq, fd mldh x.kuk esa

dksbZ =kqfV ugha gS] çkaty us fdruk HkkxiQy

çkIr fd;k\

(a) 21.75 (b) 21.25

(c) 28.75 (d) 22

155.A six-digit number is divisible

by 33. If 54 is added to the

number, then the new number

formed will also be divisible by:

Ng vadksa dh ,d la[;k 33 ls foHkkT; gSA

;fn la[;k esa 54 tksM+ fn;k tk,] rks fufeZr

ubZ la[;k ls Hkh foHkkftr gksxh%

(a) 3 (b) 2

(c) 5 (d) 7

156. Find the smallest number that

can be subtracted from

148109326 so that it becomes

divisible by 8.

og lcls NksVh la[;k Kkr dhft, ftls

148109326 ls ?kVkus ij çkIr la[;k 8

ls foHkkT; gks gksxhA

(a) 4 (b) 8

(c) 6 (d) 10

157. Which number among 24963,

24973, 24983 and 24993 is

divisible by 7?

24973, 24983 vkSj 24993 esa ls

dkSu&lh la[;k 7 ls foHkkT; gS\

(a) 24973 (b) 24983

(c) 24963 (d) 24993

158. Which of the following numbers
is divisible by 36?

fuEufyf[kr esa ls dkSu&lh la[;k 36 ls
foHkkT; gS\

(a) 47502 (b) 29412

(c) 54732 (d) 87064

159.An 11-digit number
7823326867X is divisible by 18.
What is the value of X?

,d 11-vadh; la[;k 7823326867X,

18 ls foHkkT; gSA X dk eku D;k gS\

(a) 6 (b) 4

(c) 8 (d) 2

160.Part One While solving a
problem, Suhas by mistake
took a number as the dividend
which was 10% less than the
original dividend. He also
mistakenly took a number as
the denominator which was
20% less than the original
denominator. I f the correct
quotient of the original
question of division was 24 and
the remainder was 0, then
assuming that there was no
error in his calculation, what
quotient did Suhas get?

Hkkx ,d ,d ç'u gy djrs le;] lqgkl us
xyrh ls HkkT; ds :Ik esa ,d la[;k ys yh
tks ewy HkkT; ls 10% de FkhA mlus xyrh
ls Hkktd ds :Ik esa ,d la[;k Hkh ys yh tks
ewYk Hkktd ls 20% de FkhA ;fn Hkkx ds
ewy ç'u dk lgh HkkxiQy 24 Fkk vkSj
'ks"kiQy 0 Fkk] rks ;g ekurs gq, fd mldh
x.kuk esa dksbZ =qfV ugha gS] lqgkl us fdruk
HkkxiQy izkIr fd;k\

(a) 27 (b) 21.6

(c) 26.4 (d) 30

161.Which of the numbers
9592450, 9592330, 9592885
and 9592741 is divisible by 11?

9592450, 9592330, 9592885 vkSj
9592741 esa ls dkSu&lh la[;k 11 ls
foHkkT; gS\

(a) 9592885 (b) 9592741

(c) 9592450 (d) 9592330

162.Which number among 98984,
98992, 98998 and 99008 is
NOT divisible by 8?

98984, 98992, 98998 vkSj 99008

esa ls dkSu&lh la[;k 8 ls foHkkT; ugha gS\

(a) 98998 (b) 98992

(c) 98984 (d) 99008
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163.What is the sum of the divisors
of 484 that are perfect squares?

484 ds mu Hkktdksa dk ;ksx fdruk gS tks
iw.kZ oxZ gSa\

(a) 125 (b) 35

(c) 610 (d) 13

164.Which number among 34936,
35508, 35580 and 36508 is
divisible by 33?

34936, 35508, 35580 vkSj 36508

esa ls dkSu&lh la[;k 33 ls foHkkT; gS\

(a) 35508 (b) 35580

(c) 36508 (d) 34936

165.What is the smallest number
which can be added to
9454351626 so that it becomes
divisible by 11?

og NksVh ls NksVh la[;k dkSu&lh gS ftls
9454351626 esa tksM+us ij çkIr la[;k
11 ls foHkkT; gksxh\

(a) 1 (b) 6

(c) 5 (d) 4

166.In a division sum, the divisor
is 13 times the quotient and 6
times the remainder. I f the
remainder is 39, then the
dividend is:

,d Hkkx ç'u esa] Hkktd HkkxiQy dk 13

xquk vkSj 'ks"kiQy dk 6 xquk gSA ;fn 'ks"kiQy
39 gS] rks HkkT; Kkr djsaA

(a) 4240 (b) 4576

(c) 4251 (d) 4800

167. Which of the following numbers
is divisible by 99?

fuEufyf•r esa ls dkSu&lh la[;k 99 ls
foHkkT; gS\

(a) 31548 (b) 60687

(c) 44775 (d) 84456

168. Which of the following numbers
is divisible by 44?

fuEufyf•r esa ls dkSu&lh la[;k 44 ls
foHkkT; gS\

(a) 32802 (b) 54736

(c) 93472 (d) 27048

169.A four-digit number abba is
divisible by 4 and a<b. How
many such numbers are
there?

abba ,d ,slh pkj vadh; la[;k gS tks 4
foHkkT; gS vkSj a<b ls foHkkT; gSA ,slh
fdruh la[;k,¡ gSa\

(a) 10 (b) 8

(c) 12 (d) 6

170.A 9-digit number 846523X7Y is
divisible by 9, and Y – X = 6.

Find the value of 2X 4Y .

846523X7Y ,d,slh 9-vadh;la[;k 9

ls foHkkT; gS] vkSj Y – X = 6. 2X 4Y

dk eku Kkr dhft,A

(a) 4 (b) 2

(c) 6 (d) 8

171.Which of the following is the
smallest 5-digits number that
is exactly divisible by 526?

fuEufyf•r esa ls 5 vadksa dh lcls NksVh
la[;k dkSu lh gS tks 526 ls iw.kZr%foHkkT;
gS\

(a) 10520 (b) 11046

(c) 10516 (d) 10426

172.A 6-digit number has digits as
consecutive natural numbers.
The number is always divisible
by _____.

,d 6 vad dh la[;k esa vad Øekxr
çkÑfrd la[;k ds :i esa gksrs gSaA ;g la[;k
lnSo _____ ls foHkkT; gksxhA

(a) 4 (b) 5

(c) 2 (d) 3

173.How many of the following
numbers are divisible by 3 but
NOT by 9?

fuEufyf•r esa ls fdruh la[;k,¡ 3 ls foHkkT;
gSa ysfdu 9 ls ugha\
5826, 5964, 6039, 6336, 6489,

6564, 6867 and 6960

(a) 5 (b) 3

(c) 4 (d) 6

ANSWER KEY - NUMBER SYSTEM

1. (b) 2. (b) 3. (a) 4. (d) 5. (a) 6. (b) 7. (c) 8. (b) 9. (d) 10. (b)
11. (b) 12. (d) 13. (c) 14. (b) 15. (d) 16. (c) 17. (b) 18. (b) 19. (b) 20. (b)
21. (b) 22. (c) 23. (d) 24. (b) 25. (a) 26. (d) 27. (c) 28. (b) 29. (d) 30. (a)
31. (d) 32. (a) 33. (d) 34. (d) 35. (b) 36. (b) 37. (a) 38. (a) 39. (d) 40. (a)
41. (c) 42. (a) 43. (c) 44. (d) 45. (a) 46. (a) 47. (c) 48. (b) 49. (a) 50. (c)
51. (d) 52. (a) 53. (a) 54. (a) 55. (c) 56. (c) 57. (a) 58. (d) 59. (b) 60. (b)
61. (c) 62. (c) 63. (c) 64. (b) 65. (b) 66. (d) 67. (c) 68. (c) 69. (c) 70. (d)
71. (b) 72. (c) 73. (b) 74. (d) 75. (b) 76. (b) 77. (b) 78. (b) 79. (c) 80. (a)
81. (d) 82. (d) 83. (d) 84. (c) 85. (b) 86. (a) 87. (b) 88. (a) 89. (d) 90. (a)
91. (b) 92. (d) 93. (a) 94. (b) 95. (d) 96. (d) 97. (b) 98. (a) 99. (a) 100. (b)
101. (c) 102. (b) 103. (d) 104. (c) 105. (c) 106. (b) 107. (d) 108. (a) 109. (c) 110. (b)
111. (d) 112. (c) 113. (c) 114. (d) 115. (d) 116. (b) 117. (d) 118. (c) 119. (d) 120. (c)

121. (d) 122. (c) 123. (c) 124. (d) 125. (a) 126. (a) 127. (b) 128. (d) 129. (b) 130. (a)

131. (c) 132. (a) 133. (b) 134. (c) 135. (a) 136. (a) 137. (d) 138. (a) 139. (c) 140. (b)

141. (b) 142. (a) 143. (c) 144. (c) 145. (d) 146. (a) 147. (b) 148. (d) 149. (a) 150. (a)

151. (d) 152. (a) 153. (d) 154. (d) 155. (a) 156. (c) 157. (b) 158. (b) 159. (d) 160. (a)

161. (d) 162. (a) 163. (c) 164. (a) 165. (b) 166. (c) 167. (b) 168. (b) 169. (b) 170. (c)

171. (a) 172. (d) 173. (c)
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SSC CGL Tier-I (2018)

{04/06/2019}

1. (b)
985 3678

72

x y

72 = 8×9

so we apply divisibility rule of
8 & 9

Divisibility rule for 8  last 3
digits must be divisible by 8.

78y ÷ 8  here y must be 4

Divisibility rule for 9  sum of
digits must be divisible by 9.

9+8+5+x+3+6+7+8+4

50 + x

here x must be 4

x = 4, y = 4

4x –3y = 16 – 12 = 4

2. (b)
789 531

72

x y

72 is multiple of 8×9, so we
check divisibility rule for 8 & 9

Divisibility rule for 8  last 3
digits must be divisible by 8.

31

8

y
y must be 2

Divisibility rule for 9  sum of
digits must be divisible by 9.

7 8 9 5 3 1 2

9

x      

here x must be 1

5x – 3y = 5(1)–3(2) = –1

3. (a)
179 091

88

x y

88 is multiple of 11×8,

so we will check divisibility
rule of 11 and 8

Divisibility rule for 8  last 3
digits must be divisible by 8.

91y ÷ 8 here y must be 2

Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.

1+9+0+1 7+x+9+2

11 18+x

nearest sum 22 so x must be 4

x =  4,  y = 2

5x – 8y = 5×4 – 8×2 = 4

SSC CGL Tier-I (2018)
{06/06/2019} All Shifts

4. (d)
2074 4 2

88

x y

88 is multiple of 11 and 8, so
we will check divisibility rule
for 11 and 8
Divisibility rule for 8  last 3
digits must be divisible by 8.
4y2 ÷ 8 here y must be 3
Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.
2+7+x+3 0+4+4+2
12+x 10
here x must be 9
x = 9, y = 3
4x + 3y =4×9+3×3 = 45

5. (a)
32 4115 2

88

x y

88 is multiple of 11×8
Divisibility rule for 8  last 3
digits must be divisible by 8.
5y2 ÷ 8 here y must be 1
Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.
3+x+1+5+2 2+4+1+1
11+x 8
here x must be 8
x = 8, y = 1
(4x –1) = 4×8–1 = 31

6. (b)
2094 843 2

88

x y

88 is multiply of 11 & 8 so we
check divisibility rule for 11 and
8
Divisibility rule for 8  last 3
digits must be divisible by 8.
3y2 ÷ 8 here y must be 5
Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.
2+9+x+4+5 0+4+8+3+2
20+x 17
here x must be 8
x =  8(largest)
y = 5
5x – 7y = 5×8 – 7×5 = 5

SSC CGL Tier-I (2018)
{07/06/2019} All Shifts

7. (c) 897359y7x2

For a number to be divisible by
72, that number should be
divisible by 9 as well as 8.

Divisibility rule for 8  last 3
digits must be divisible by 8.

7 2

8

x
x = 5 (for max value of

y)

Divisibility rule for 9  sum of
digits must be divisible by 9.

897359y752  
55

9

y

y must be 8

3x – y = 3(5)–8 = 7

8. (b)67127y76x2

Divisibility rule for 8  last 3
digits must be divisible by 8.

 
6 2

8

x
x must be 3

Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.

67127y76x2

21+x  17 + y

y must be 7

7x – 2y = 7×3 – 2×7 = 7

SSC CGL Tier-I (2018)

{10/06/2019} All Shifts

9. (d)5y5884805x6

72 = 8 × 9

Divisibility rule for 8  last 3
digits must be divisible by 8.


5 6

8

x
x = 3 or 7

Divisibility rule for 9  sum of
digits must be divisible by 9.

5+y+5+8+8+4+8+0+5+3+6

52+y

If we take x = 3 then y = 2

xy = 6

If we take x = 7 then y = 7

but in que. x y

Hints & Solutions (CGL)
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10. (b)15x1y2
44 = 4 × 11
Divisibility rule for 4  last 2
digits must be divisible by 4.

2

4

y
here y must be 1

Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.

15x1y2

5 + 1 + 2 1 + x + 1
8 2 + x
x = 6
x + y = 4 + 3 = 7

11. (b)6x2904
Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.

6x2904

(4+9+x) –(6+2+0)  11 or 0
x must be 6

SSC CGL Tier-I (2018)
{11/06/2019} All Shifts

12. (d)
517 324

12

x

12 is multiple of 3×4 so we will
check 3 and 4 divisibility rule
Divisibility rule for 4  last 2
digits must be divisible by 4.
24 is completely divisible by 4.
Divisibility rule for 3  sum of
digits must be divisible by 3.
5+1+7+x+3+2+4 = multiple of 3

22

3

x

x = 2

13. (c) 4 573

72

x y

72 is multiple of 8 & 9 so we
will check divisibility rule for
8 & 9
Divisibility rule for 8  last 3
digits must be divisible by 8.
73y ÷ 8 here y must be 6
Divisibility rule for 9  sum of
digits must be divisible by 9.
4+x+5+7+3+6

25

9

 x
 x = 2

x + y = 2 + 6 = 8

14. (b) 46393 8

11

x

Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.

46393x8

8+3+3+4 = 6+9+x
18 = 15 + x
x = 3

SSC CGL Tier-I (2018)
{12/06/2019} All Shifts

15. (d)
91876 2

72

x

72 = 8×9
Divisibility rule for 8  last 3
digits must be divisible by 8.
Divisibility rule for 9  sum of
digits must be divisible by 9.

9 1 8 7 6 2

9

x     

=
33

9

x
so x will be 3

16. (c)
6913 08

88

x

88 is multiple of 11×8
Divisibility rule for 8  last 3
digits must be divisible by 8.
Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.

6913x08

8+x+1+6 0+3+9
15 + x 12
here x must be 8 then it will
divisible by both 8 and 11.

SSC CGL Tier-I (2018)
{13/06/2019} All Shifts

17. (b)
55350 2

72

x

72 = 8×9
Divisibility rule for 8  last 3
digits must be divisible by 8.
0x2 ÷ 8
Divisibility rule for 9  sum of
digits must be divisible by 9.

=
5 5 3 5 0 2

9

x     

=
20

9

x

here x must be 7

18. (b)
8439 53

99

x

99 = 11×9
Divisibility rule for 9  sum of
digits must be divisible by 9.

=
8 4 3 9 5 3

9

x     

=
32

9

x

Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.
8+3+x+3 4+9+5
14+x 18
x = 4

19. (b)
n

8
= Remainder 3

6n – 1 
6 3 –1

8



Remainder = 1
Alternatively:-

Let n = 11

n

8
= 3 

11

8
= 3

6 11–1

8


  R = 1

SSC CGL Tier-I (2018)
{19/06/2019} All Shifts

20. (b)
n

7
, Remainder = 3

6n

7
= In this condition assume

remainder as a quotient so

Remainder = 
6 3

7


=

18

7
= 4

SSC CGL Tier-I (2019)
{03/03/2020} All Shifts

21. (b)Rule of divisibility of 8 =
Last 3 digits of any number
must be divisble by 8.
1005x4

5 4

8

x
x = 0

Least value of x must be zero.
22. (c) Remainder is 8 it means

the divisor must be greater
than 8.

192 8

x



192 must be completely
divisibly by x.
192 = 26 × 31

Total factors = (6 + 1)(1 + 1) = 14
Factors till 8 = 1, 2, 3, 4, 6, 8 =
6 will not be considered.
Req. Factors = 14 – 6 = 8
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23. (d) 94 * 2357
Divisibility rule for 11  The
difference between the sum
of the digits in the odd places
and the sum of the digits in
the even places must be zero
or multiple of 11.
9 + * + 3 + 7 ~ 4 + 2 + 5
19 + * ~ 11
19 +3 = 22  (nearest)
22 is a multiple of 11.* =3

SSC CGL Tier-I (2019)
{04/03/2020} All Shifts

24. (b) Remainder is 12 it means
divisor must be greater
than12.

720 12

x
720 must be divisible by x. or
x is a factor of 720.
720 = 24 × 32 × 51

Total factors of 720

= (4 1) (2 1) (1 1)      = 30

Factors till 12
= 1,2,3,4,5,6,8,9,10,12 = 10
x = 30 – 10 = 20

25. (a) x 35624 is divisible by 11.
Apply Rule of divisibility of 11.
x + 5 + 2 = 3 + 6 + 4
x + 7 = 13
x = 6
1257y4 is divisible by 72.
72 = 9 × 8
A number must be divisible by
9 when the sum of digits
divisible by 9.
For 8 – Last 3 digits must be
divisible by 8.
1 + 2 + 5 + 7 + y + 4
19 + y (sum must be 27)   y
= 8
y must be 8
5x – 2y
= 5 × 6 – 2 × 8
= 30 – 16 = 14

26. (d) Find number which are
divisible by 5 & 7.
Total term

= 
Last term – First terms

Common difference
+1

Divisible by 5-

= 
800–200

5
+1 = 121

Divisible by 7-

= 
798 – 203

7
 +1 = 86

Divisible by both 5 & 7 or (35)

770 210
1 17

35


 

Totel term divisible by 5 & 7
121 + 86 – 17 = 190
Total terms from 200 to 800
= 601
neither divisible by 5 nor by 7
601 – 190 = 411

Alternatively:-
Term nearest to 800 which is
divisible by both 5 & 7 = 770
4 term out of 5 not divisible by 5.
6 term out of 7not divisible by 7.

770 × 
4

5
 × 

6

7
 = 528

Remaining 800 – 770 = 30
terms

30

5
 = 6,

30

7
 = 4

In 30 term total 6+4=10 terms
are divisible. And remaining 20
term are not divisible by either
5 or 7.
Total not divisible
= 528 + 20 = 548
But this (548) is ans of 1 to
800. but question wants 200 to
800.
So, find up to 200 and subtract
those terms.
Nearest term to 200 which is
divisible 5 & 7 = 175

175 × 
4

5
×

6

7
 = 120

25

5
 = 5, 

25

7
 = 3

Remaining (25–5–3) = 17
120 + 17 = 137
Ans = 548 – 137 = 411
SSC CGL Tier-I (2019)

{05/03/2020} All Shifts
27. (c) 99 = 11 × 9

A number is divisible by 99
when that number seperately
divisible by 11 & 9.
Divisibility Rule of 11   The
difference of sum of even place
digits and sum of odd place digits
either zero or a multiple of 11.
Divisibility Rule of 9   sum of
a number must be divisible by9.
708x6y8z9
7+8+6+8+9 �  0+x+y+z
38 ~ x+y+z

38 ( )

11

x y z  

38

9

x y z  
= (sum of no.)

Now go through option (3)
38 16

11


=

22

11
(divisible)

38 16

9


=

54

9
(divisible)

x+y+z = 16

28. (b)Let quotient = 1
Number = d×1 + 15
New Number = 10(d×1 + 15)
In this case remainder is 6 so,
maximum possible number
must be (150–6=144)
Least possible number must be
16 because number must be
greater than 15 because
remainder is 15.

29. (d) 146*488

Divisibility of 8 = Last 3 digit
must be divisible

* 488

* = 2, 4, 6, 8
All number can be replace * but
the need of question is largest
number so the value of * = 8

SSC CGL Tier-I (2019)
{06/03/2020} All Shifts

30. (a)687x29
Divisibility rule of 9 ®  sum of
digits of a number must be
divisible by 9.
6 + 8 + 7 + x + 2 + 9 = 32 + x
Nearest number of 32 which is
divisible by 9 is 36
 x must be = 4
2x = 4× 2 = 8

31. (d)Divisibility rule of 4  last
two digits of any no must be
divisible by 4.
2365 * 4
Required digits = * 4
for divisible by 4 possible
digits are 0,2,4,6,8.
but in question largest digit
is asked so ans will be 8.

32. (a) Let numbers = 1x, 2x, 4x,
x² + 4x² + 16x² = 1029
21x² = 1029 x = 7
Greatest number = 4x
smallest number = x
difference =  4x – x = 3x
 3x = 3 × 7 = 21

33. (d)LCM of 3, 7 and 18 = 126
Note:-LCM is the smallest
number that is divisible by
given numbers. hence ans =
126

SSC CGL Tier-I (2019)
{07/03/2020} All Shifts

34. (d)= 
925 85

11

x

= 
(9 5 8) – (5 2 )

11

    x

= 
(22) – (7 )

11

 x

difference must be multiple of
11 or 0
  x = 4
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35. (b)
27 n

1
(let quotient=1)

n = 7 × 1 + 2
n = 9
In option only (n+5) = 14 which
is divisible by 7.

36. (b)
70 705 7

74



   
35 352 25 7

74



   
35 35

25 49

74



an + bn always divisible by
(a + b) when 'n' is odd number.

25+ 49 = 74

Remainder = zero
37. (a)25a² – 9

(5a)² – (3)²
= (5a + 3) (5a – 3)
[a2–b2 = (a+b)(a–b)]

SSC CGL Tier-I (2019)
{09/03/2020} All Shifts

38. (a) In option only Option (a)
120 is the smallest multiple
(or LCM) of 5, 8 and 15

39. (d)
n

5
 = 2

7n

5
 = 

7 2

5


=

14

5
Remaining = 4

(Remainder dks 7 ls xq.kk djus ij Hkh
ogh  Remainder vk,xkA tks l[;k dks
7 ls xq.kk djus ij vk,xkA)

40. (a)Divisible rule of 9 
The sum of digit is divisible by 9
= 1 + 1 + 9 + 0 + * 6
= 17 + *
Possible value of * from option
is

  * = 1

SSC CGL Tier-I (2020)
{13/08/2021} All Shifts

41. (c) When 676xy is divisible by
3,7,11. It will also be divisible
by the LCM of 3, 7, 11.
Dividend = Divisor×Quotient +
Remainder
LCM (3, 7, 11) = 231
By taking the largest five digit
number 67699 & divide it by
231.
67699 = 231×293+16
67699 = 67683+16
Hence, 67683 will be
completerly divisible by 231.
where x = 8 & y = 3
3x – 5y
= 3×8–5×3 = 24–15 = 9

Alternatively:-
6+6+y = 7+x
x–y = 5 sum of no.

6–1 26
7–2 28
8–3 30
9–4 32

3x–5y = 3×8–5×3 = 9
42. (a)L.C.M of 3, 7, 11 = 231

Largest possible value of
247xy is = 24799
When we divide 24799 by 231
we obtain 82 as a remainder
So required number
= 24799 – 82 = 24717
After comparing
x = 1
y = 7
 2y – 8x = 14 – 8 = 6

43. (c) Divisibility rule for 11 
The difference between the
sum of the digits in the odd
places and the sum of the digits
in the even places must be zero
or multiple of 11.
Go through option:-
take min value (3)
30a68b (3+a+8) (0+6+b)
         11+a b+6
    9    3 9 3

 a > b
 b = 3

SSC CGL Tier-I (2020)
{16/08/2021} All Shifts

44. (d)88 = 11 × 8
Divisibility rule for 8  last 3
digits must be divisible by 8.

23

8

y
y = 2

Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.
5 x 4 2 3 y 5+4+3~x+2+2
             12~x+4 = 0
   8   2 x = 8
 5x – 8y = 40 – 16 = 24

45. (a)88 = 11 × 8
Divisibility rule for 8  last 3
digits must be divisible by 8.
Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.
7p5964q28
   
  9     9 (for maximum)
Largest passible value of q to
be divisible by 8 is  = 9
 p2 – q = (9)2 – 9 = 72

46. (a)Divisibility rule for 3  sum

of digits must be divisible by 3.
  5306P2

   
2 8

5+3+0+6+P+2

= 
16 P

3



Difference = (8)2 – (2)2 = 60

SSC CGL Tier-I (2020)

{17/08/2021} All Shifts

47. (c) 72 = 8×9

Divisibility rule for 8  last 3

digits must be divisible by 8.

9 6

8

y
  y = 7

Divisibility rule for 9  sum of

digits must be divisible by 9.

94 x 29 y 6 9+4+x+2+9+7+6

  37+x

   8    7 x must be 8

 2x + 3y

= 2 × 8 + 3 × 7 = 37

48. (b)Divisibility rule for 11 

The difference between the

sum of the digits in the odd

places and the sum of the digits

in the even places must be zero

or multiple of 11.

42 a 48 b

 

5 0

49. (a)Divisibility rule for 3  sum

of digits must be divisible by 3.

45082   K

G
8   

S
2

= (G)2 + (S)2 = 64+4 = 68

SSC CGL Tier-I (2020)

{18/08/2021} All Shifts

50. (c) 72 = 8×9

Divisibility rule for 8  last 3

digits must be divisible by 8.

3 4

8

y
 y = 8 (max)

Divisibility rule for 9  sum of

digits must be divisible by 9.

888x53y4 8+8+8+x+5+3+8+4

  x+44

  1  8 x = 1

7x+2y =

7×1 + 2×8 = 23



Number System

15

G
a
ga

n
 P

ra
ta

p
 S

ir

C
h
a
m

p
io

n
 P

u
bl

ic
a
ti
on

51. (d)LCM of 3, 7, 11 = 231
By taking the number nearest
to 688xy = 68838
Dividend = Divisor × Quotient
+ Remainder
68838 = 231×298+0
 After compairing
68838 = 688xy
x = 3, y = 8
 (5x+3y) = (15+24) = 39

Alternatively:-
688xy is divisible by 3, 7, 11
For 3, (x+y) = 2, 5, 8, 11
For 11, (6+8+y)–(8+x)=0 or 11
(14+y)–(8+x) = 0 or 11
We take y = 8 & x = 3
22–11 = 11 (divisible by 11)
So, x = 3 & y = 8
Now,
5x+3y = 5×3+8×3 = 39

52. (a) If P is divisible by '2'and
another number Q is divisible
by '3'. then P×Q is also
divisible by '2×3' = '6'
Divisibility rule for 6 
number must be divisible by
both 2 & 3.

SSC CGL Tier-I (2020)
{20/08/2021} All Shifts

53. (a)6 = 3×2
Divisibility rule for 3  sum of
digits must be divisible by 3.
Divisibility rule for 2  last two
digits must be divisible by 2.
   72K460K 19+2K

 
4   4

 K = 4
54. (a)LCM of 5, 35, 39, and 65 = 1365

Largest five digit numbers =
99999
When 99999 divisible by 1365,
the remainders comes 354,
when the quotient is '73'.
 The largest five digit number
which is divisible by 5, 35, 39
and 65 = 99999–354 = 99645
Sum = 9+9+6+4+5 = 33

Alternatively:-
LCM of (5, 35, 39, 65) = 1365
Largest 5–digit number =
99999
when 99999 is divided by 1365

99999

1365
= ~73

Largest 5–digits number which
is divisible by 1365
73×1365 = 99645
99645 is the no. required
sum of digits = 9+9+6+4+5 = 33

55. (c)  3 356 7 2 2x y

÷  2 7 2x y = Ax2+By2–Cxy

a3–b3 = (a–b)(a2+b2+ab)

 2 7 2x y  (28x2+2y2+2 14 xy)

÷  2 7 2x y  = Ax2By2–Cxy

28x2+2y2+2 14 xy = Ax2+By2 –

Cxy
After Comparing:-
A = 28
B = 2

C = –2 14

 A+B – 14 C

= 28+2+28 = 58
56. (c) I f the six digits number

divisible by 7, 11, 13 then the
first three digits and the last
three digits are same
823p2q

 
 8 3

 p – q = 8 – 3 = 5
57. (a)Let Forth proportion = x

12

18
=

6

x
  x = 9

Now,
Third proportion is

4

k
=

k

9
 k2 = 36  k = 6

SSC CGL Tier-I (2020)
{23/08/2021} All Shifts

58. (d)LCM of (3, 7, 11) = 231
Let 593ab is the greatest no.
is with values of a & b = 59399
On dividing by 231
We get approx 257.13
So, the actual no = 231×257

= 59367
a = 6, b = 7
a2–b2+ab = 36–49+42 = 29

59. (b)Let number of subjects = x
Now,
67.6x+27+10+18 = 72.6x
5x = 55
x = 11
Number of subjects = 11

60. (b) I f the six digit number
divisilble by 7, 11 and 13 then
first three digits and last three
digits must be same.
5z3x4y

 4  5  3
 (x+y–z) = (5+3–4) = 4

61. (c) 72 = 8 × 9
Divisibility rule for 8  last 3
digits must be divisible by 8.

87

8

y
  y = 8

Divisibility rule for 9  sum of
digits must be divisible by 9.
89x64287y

 
8   2

 3x + 2y = 24+4 = 28
SSC CGL Tier-I (2020)

{24/08/2021} All Shifts
62. (c) abc = (100a+10b+c)

cab = (100c+10 a+b)
bca = (100b + 10c +a)
Calculate according to question
(100a+10b+c)+(100c+10+a+b)+
(100b+10c+a)
= 111a+111b+111c
= 111(a+b+c)
111 = 3 × 37
The sum of 3 digit numbers
abc, cab and bca is not divisible
by '31'.

63. (c) Divisibility rule for 11 
The difference between the
sum of the digits at the odd
places and the sum of the digits
at the even places must be zero
or multiple of 11.

4a067b
4 + 7 = 6 + a + b
a+b = 5 or 16
 Sum of all possible
value = 5 + 16 = 21

64. (b)72 = 8 × 9
Divisibility rule of 8  last 3
digits must be divisible by 8.

38

8

y
  y = 4

Divisibility rule of 9  sum of
the digits must be divisible by
9.
7698x138y

       
 8   4

 4x y  = 32 4  = 6

SSC CGL Tier-I (2021)
{11/04/2022} All Shifts

65. (b)23168b
Divisibility rule for 3  sum of
digits must be divisible by 3.
Divisibility rule for 9  sum of
digits must be divisible by 9.
 Check options
digit sum of (a) and (c) is
divisible by 9.
Out of (b) and (d) both numbers
are divisibly by 3 but 239685 is
greater.
 239685
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66. (d)Find HCF
108 124 156

3216

16

®

Required greatest number =
16

67. (c) From 500 to 650 151 no's

Divisible by 3 = 
151

3
 = 50

Divisible by 7= 
151

7
= 21

Divisible by both = 
151

21
= 7

 Neither divisible by 3 nor 7
= 151–(50+21–7)
= 151–64 = 87

68. (c) 156–6 = 150
181–6 = 175
331–6 = 325
To find greatest no we find
HCF

 

150 175 325

5025

25
 25

69. (c) Divisible by 7 Make pair of
3 digits from right side.
Add alternate pairs
Take difference of the sum if
difference is divisible by 7 then
the number is divisible by 7
otherwise not divisible by 7.
x8942y4 567×8

2 4

8

y
 y = 2,6

 y (largest) = 6
x894264
894–(264+x)

630 –

7

x
 x = 7

 x2+y = 49+6 = 55

SSC CGL Tier-I (2021)
{12/04/2022} All Shifts

70. (d)

( 3) ( 3) (8)

335 608 853

13

   

 

= 
72

13
= 7

71. (b)LCM of 8, 12, 9, 15 = 360

Required no =
360k 5

7



k = 1, 365not div. by 7
k = 2, 725not div. by 7
k = 3, 1085 div. by 7
 1085

72. (c)
8A5146B

11×8

46B

8
  B = 4

8 A 5 1 4 6 4

21 ~(7+A) = 0 or div by 11
21–7–A = 0 or div by 11
14–A = 0 or div by 11
 A = 3
 B–A = 4–3 = 1

73. (b)
46B

8
 B = 4

 8 A 5 1 4 6 4

21~(7+A) = 0 or div by 11
21–7–A = 0 or div by 11
 A = 3
BA = 43 = 64

SSC CGL Tier-I (2021)
{13/04/2022} All Shifts

74. (d)
7 79251 8

9 4

x y



 
8

4

y
 y = 0, 2, 4, 6, 8

 y = 8 (largest)

 
7 7925188

9

x

= 
47

9

x


2

9

 x

 x = 7
 10x2–3y2 = 490–192 = 298

75. (b)88 = 11×8


46B

8
, B = 4

8A51464

21–(7+A) = O or div by 11
 A = 3
 A×B = 4×3 = 12

76. (b)LCM of 15, 24, 28, 32
15 31×51

24 23×31

28 22×71

32 25

LCM = 25×31 ×51×71 = 3360
 3360×3= 10080
 10087

77. (b)88 = 11×8
Divisibility rule for 8  last 3
digits must be divisible by 8.

n48

8
 n = 2 (for smallest)

Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or

multiple of 11.

9m2365248

27–(12+m)
15–m m = 4
m2×n2 = 16×4 = 64

SSC CGL Tier-I (2021)
{18/04/2022} All Shifts

78. (b)That greatest number will
be HCF of (126–2), (224–7),(608–
19)
 HCF of 124 217 589

37293

279

31 × 9
 Greatest number = 31

79. (c)
234a5b

2 11
 but not 5

234a5b

11~(3+a+b) = 0 or div. by 11
8 ~(a+b) = 0 or  div. by 11
Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.
 a+b should be 8
b  0 (not divisible by 5)
b  1 (divisible by 2)
 From remainning numbers
234652 is greatest.

80. (a)Diff. is same in each case
(6–4),(7–5),(8–6)=2
 That greatest four digit no
will be LCM of (6,7,8) = 168

168 9999
840

1599
1512

87

59

 Greatest four digit no.
divisible by 168 =
9999 – 87 = 9912
 Required no. =
9912 – 2 = 9910

81. (d)72  8×9
Divisibility rule for 8  last 3
digits must be divisible by 8.

8 = 
38

8

y
 y = 4

468 51384

9

x

digit sum = 
39

6
9

x
x


 

 4 3x y

= 24 12  = 6
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82. (d)Put, n = 2

4 2 2

6

 
R = 2

Alternatively:-

2n n 2

6

 
=

2 2 2 2

6

  
=

8

6

  R = 2

SSC CGL Tier-I (2021)
{19/04/2022} All Shifts

83. (d)R
1
  

165

6
 1

R
2
  

255

6
 –1  5

1 2

2

R R

R




1 5

5




6

5
84. (c) 88  8 × 11

Divisibility rule for 8  last 3
digits must be divisible by 8.

8 = 
46B

8
B = 4

11 = 8a51464

Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.
21–(7+A) = 0 or div by 11.
 A = 3
 AB = 34 = 81

85. (b)6 = 2×3
k  7, 1
k = 2, 4
digit sum = 16+k+k
At k = 2, the given no. will not
be divisible by 3
 k = 4

86. (a)LCM of 3, 4, 5, 8 = 120

120 999 8
960

39

 greatest 3 digit no. divisible
by 120 is 999 – 39 = 960
 Required no. = 960+2 = 962

SSC CGL Tier-I (2021)
{20/04/2022} All Shifts

87. (b)6 = 2×3
k  3, 9, k  0, 5

  for divisibility by 2 last digit
should be 0 or any even no.
k = 6 or 4
check 4 
digit sum = 15+k
k  4   for divisible by 3 digit
sum should be divisible by 3
 k = 6

88. (a)LCM of 2, 3, 10, 18, 20 = 180
 Least squre no. which is
multile of 180 is
180×5 = 900 ( c o m p l e t e
square)

89. (d)99  9×11

11  48K2048P6

(18+k) – (14+P) = 0 or div by 11.
Divisibility rule for 11  The
difference between the sum of
the digits in the odd places and
the sum of the digits in the
even places must be zero or
multiple of 11.
= 4+k–P = 0 ro div by 11.
Divisibility rule for 9  sum of
digits must be divisible by 9.
digit sum = 5+k+P
 5+K+P

4,13

K+P  4, 13
K = 4–P
Put value of k in 4+k–P
 4+4–P–P = 0
8–2P = 0  P = 4
 K = 4–4=0  K = 0
 K×P = 4×0 = 0

90. (a)LCM of (4, 5, 6, 8) is 120

120 3627 3
360

27

 The least no. should be added
is 120–27 = 93

91. (b)First six prime no's = 2, 3,
5, 7, 11, 13

Avg. =
sum

no's
=

41

6
= 6

5

6

92. (d)LCM of (6, 8, 15) = 120
 Only no. from given numbers
that is divisible by 120 and is
also a perfect square is 3600

SSC CGL Tier-I (2021)
{21/04/2022} All Shifts

93. (a)LCM of (6, 9, 15)  90
 90+10 = 100


Perfect square

 Req. no = 10
94. (b)6 = 2×3

Divisibility rule for 6 
number must be divisible by
both 2 & 3.
Divisibility rule for 2  last two
digits must be divisible by 2.
Divisibility rule for 3  sum of
digits must be divisible by 3.
digit sum = 20+k
(3+2+8+1+k+6)

K (smallest) = 1
K (greatest) = 7
Req. Sum = 1+7 = 8

95. (d)LCM of 6, 12, & 16 = 48
Multiples of 48 between 400 &
500 = 432, 480
Sum = 432+480 = 912

96. (d)72  8×9
Divisibility rule for 8  last 3
digits must be divisible by 8.

8 = 
78

8

y
 y = 4

Divisibility rule for 9  sum of
digits must be divisible by 9.
485x36784
digit sum = 45+x for x = 0, the
no. will be divisible by 9.
 2y–3x = 2×4–0 = 8

97. (b)72  8×9
Divisibility rule for 8  last 3
digits must be divisible by 8.

8 =
9 6

8

y
y (least) = 3

Divisibility rule for 9  sum of
digits must be divisible by 9.
54726x7936
digit sum = 13+x  x = 5
 5x–3y = 25–9 = 16

Tier-I
SSC CGL 2022

98. (a)a3+b3 = (a + b) (a2 + b2 – ab)


 

 

3 3

2 2

17 7
24

17 7 K




 


2 2

2 2

(17 7)(17 7 –17 7)
24

17 7 – K

  




 172 + 72 – 119 = 172 + 72 – K

 K = 119

99. (a)a – b + c = 0

Hence, a3 – b3 + c3 = – 3abc

 –25 × 75 × 50 × 3

= – 281250

100. (b) 97 × 103 = (100 – 3) (100 +
3)

 a2 – b2 = (a + b) (a – b)

 1002 – 32 = 10000 – 9

= 9991

101. (c) Let original number = x

 Acc to question,

( 7) 5
– 4 16

3

 


x

( 7) 5
20

3

 


x

(x + 7) × 5 = 60

x = 5
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102. (b) Muiltiply each number by
100


4 4

100 80
5 5
  

2 2
100 66.66

3 3
  

1 1
100 9.09

11 11
  

2 2
100 22.22

9 9
  

 Correct asending order is

1 2 2
, ,

11 9 3
 and 

4

5

103.(d)Let n = 3

no.   1 2 3

Weight 1 2 3

Weighted average 

1 2 2 3 3

1 2 3

   

 


14 7

6 3


Put n = 3 in options only option

(d) gives 
7

3
on putting n = 3


 2n +1

3

104.(c)a2 – b2 = (a – b) (a + b)

1002 – 992 + 982 – 972+...+122–112

 (100–99) (100+99) + (98–97)

(98 + 97) + ....(12–11) (12+11)

 199, 195, ....... 23

No. of terms = 
23 199

1
4





= 45

Sum = 
n

[2a (n 1)d]
2

 

= 
45

[398 44(–4)]
2



= 
45

222
2



= 45 × 111 = 4995

Divisibility & Remainder

105.(c) an – bn is divisible by (a – b)

if n is odd.

(49)15 – 115 is divisible by

49–1=48

 8 is a factor of 48

Hence, this no. also divisible by 8

106.(b)8 A no. is divisible by 8
when last 3 digits are divisible
by 8


127

8
, R = 7

107.(d)
27 2727 27 ( 1) 27

28 28

  


 –1 + 27 = 26

108.(a)LCM of (3, 7, 11) = 231

231 750PQ 325

57P
693

115Q
1155

462

×

5

7

 P + 2Q = 7 + 2 × 5 = 17

109.(c)
67

9

x y
 

13 ( )

9

 x y

 Least value of (x + y) = 5

110.(b)No. of toffees

2, 4, 6, 8 ............. 50

Sum =
n

[2a (n 1)d]
2

 

= 
25

[4 24 2]
2

 

= 
25

52
2



= 25 × 26

It is divisible by 5 and 13

111.(d)A – B = 1564

B A
1
19

6

A = 6B + 19

 6B + 19 – B = 1564

5B = 1545

B = 309

112.(c)LCM of (2, 3, 5) = 30

   3 × 10

Only option (a) and (c) are
divisible by 10 digit sum of (a)
is not divisible by 3.

 (2345760) is dvisible by 2, 3, 5

113.(c)
742

48
48 × 15 = 720

 Remainder = 742 – 720 = 22

114.(d)Remainder = 
24 16

7 7


R = 2

115.(b)LCM of 4, 7 = 28

28 999 35

159
84

19

140

 Required no. = 999–19= 980

116.(b)8 Last 3 digit should be
divisible by 8.


6

8

xy

Numbers of the formate 6xy
divisible by 8 

600, 608, 616, 624, 632, 640,
648, 656, 664, 672, 680, 688,
696.

 13 pairs of (x, y) is possible.

117.(d)3 Digit sum should be
divisible by 3

17 p q

3

 

 p + q = 4, 7, 10, 13, 16

11 6 7 4 p q 0

(6 + 4 + q) ~ (7 + p)

(10 + q) ~ (7 + p)

(p ~ q) = 3

Only option (d) has p – q = 3

 p = 5 and q = 2

118.(c)Since 11 is a factor of 363.

Hence, new remainder =

17

11
, R = 6

119.(d)LCM of (7, 9, 11) = 693

693 99999 144

3069
2772
  2979
  2772
    207

693

Largest 5 digit number divided
by (7, 9, 11) =

99999 – 207 = 99792

 Largest 5 digit no. devided
by (7, 9, 11) which leaves 3 as
remainder = 99792 + 3

= 99795
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120.(c)LCM of (11, 33, 99 and 121)
= 1089

 1089 99999 91

1989
1089
  900

9801

 Required number =

99999 – 900 = 99099

121.(d) 7 4567 653

  36
–36
 17 +  
  

4
–21

     0

–42

 4 Should be added

122.(c)72  8 × 9

8  Last 3 digit should be
divisible by 8

 
78Q

8
, Q = 4

9  digit sum should be
divisible by 9


48 P

9


, P = 6

2 2P Q 12 36 16 12    

= 64  8

123.(c)Greatest number = HCF of

49 147 322

7598

77

77  7 × 11

 HCF = 7

 Required no. = 7

124.(d)Let n = 3

n2 + 5n + 8 = 9 + 15 + 8 = 32


32

6
, R = 2

125.(a)350 + 926 + 2718 + 928 + 929

 925 + 926 + 927 + 928 + 929

 925 (1 + 9 + 92 + 93 + 94)

 925 (1 + 9 + 81 + 729 + 6561)

 925 × 7381 which is divisible
by 11.

126.(a)LCM of (16, 18, 36) = 144

 Smallest perfect square
which is completely divisible by
16, 18 and 36 is 144

127.(b)45, 54, .......... 477

n = 
477 45

1
9




= 48 + 1 = 49

128.(d) 13 246837 18987

116
104
  128
  117
    113
    104
        97
        91
         6

13

 6 should be subtracted.

129.(b)
42 25 54 135

3a

  

Out of the given options the
maximum value of a = 7


42 25 54 135

21

  

Which divides it completely

130.(a)LCM of 7 and 11 = 77

Total no = 77, 154, 231, 308,
385

 Total 5 numbers are
divisible by 7 and 11

131.(c) (9435 + 7593) – 2607

 14421 which is divisible by 3

132.(a)Since 13 is a factor of 221.

Hence, 
30

13
, R = 4

133.(b)Divisor : Quo : Rem

40 : 4 : 10

20 : 2 : 5

×9 : ×9 : ×9

180 : 18 : 45

Dividend = Divisor × Quotient
+ Remaindeer

= 180 × 18 + 45 = 3285

134.(c)75 25 × 3

25 Last two digit should be
divisible by 25

 
7q

25
, q = 5

3 digit sum should be
divisible by 3


678P375

3


36 P

3


, P = 3

 P = 3, q = 5

135.(a)88  8 × 11

8  Last 3 digit should be
divisible by 8

968

8
, R = 0

 Largest 5 digit no. divisible
by 88 = 99968

136.(a)Digital sum of the given no.
= 1 + 2 + 3 + ...... + 9

= 45 which is divisible by 9

 Remainder will be 0

137.(d)8 Last 3 digit should be
divisible by 8

6 * 2

8
, * = 3

632

8
, R = 0

138.(a)
1919 20

18



 1 + 2 = 3

139.(c)LCM of (3, 4, 5 and 7) 420

420 35460 84
3360

1860
1680

180

 420 – 180 = 240 should

be added for exactly divisible

140.(b)Any six digit number of the
formate abcabc is always
divisible by 1001.

141.(b)33  3 × 11

11  5 2 A 6 B 7 C

(5 + A + B + C) ~ (2 + 6 + 7)

(A + B + C) – 10

 A + B + C = 10, 0

3  
52A6B7C

3


20 (A B C)

3

  

 (A + B + C) = 10

 Values of (A, B, C) are (2, 3, 5)

 Maximum value of

2A + 3B + C

=2 × 3 + 3 × 5 + 2

=23

142.(a) 5 4 P 3 9 8 7

(21 + P) ~ (15)

Difference should be 0 or 11

Or multiple of 11

 P = 5



Number System

20

G
a
ga

n
 P

ra
ta

p
 S

ir

C
h
a
m

p
io

n
 P

u
bl

ic
a
ti
on

143.(c)m12 – 112

Since a2 – b2 = (a + b) (a – b)

Divisible by both (a+b) and (a– b)

Hence,

m12 – 112 is divisible by (m + 1)
and (m – 1)

Hence, when divided by (m + 1)
remainder will be zero.

144.(c)a b c d

1 : 2

1 : 2

1 : 2

1 : 2 : 4 : 8

 Pin abcd = 1248

It will be divisible by (2, 3, 13)

145.(d) 6  7  8 8 9 3 4 a 4

(31) ~ (18 + a)

Difference should be zero or
multiple of 11

 a
smallest

 =2

146.(a)99  9 × 11

9  digit sum should be
divisible by 9.

3422213AB

9


17 A B

9

 

 A + B = 10

11 3 4 2 2 2 1 3 A B

(10 + B) ~ (7 + A)

 

9 1

19 – 8 = 11

 2A + B = 2 + 9 = 11

Tier-I
SSC CGL 2023

147.(b)(a1 – b)3 = 1728

(a – b) = 3 1728 12 ...(i)

a × b = 108

then

from (a + b)2 = (12)2 + 4 × 108

a + b = 576 = 24 ...(ii)

From eq. (i) and (ii)

a = 18, b = 6

Hence, (18)3 –(6)3 = 5616

148.(d)(a + b)2 = 784

a + b = 784 28 ...(i)

a × b = 192

From (a – b)2 – 4ab

(a – b)2 = (28)2 – 4 × 192

a – b = 16 4 ...(ii)

From eq. (i) and (ii)

a = 16, b = 12

Hence, (16)2 – (12)2 = 112

149.(a)a3 – b3 = 6272

a – 6 = 8 ...(i)

from

(a – b)3 = a3–b3 – 3ab (a – b)

(8)3 = 6272 – 3ab × 8

ab = 240

From (a + b)2 = (a – b)2 + 4ab

a + b = 1024 32 ...(ii)

a = 20, b = 12

Hence, (20)3 + (12)3 = 9728

150.(a)a3 + b3 = 9728

a + b = 32 ...(i)

From (a + b)3 = a3+b3+3ab(a+b)

(32)3 = 9728 + 3ab × 32

ab = × 240

From (a – b)2 = (a + b)2 – 4ab

(a – b)2 = (32)2 – 4 × 240

a – b = 64 = 8 ...(ii)

From eq. (i) and (ii)

Hence, (20)3 – (12)3 = 6272

Divisibility

151.(d)625 + 626 + 627 + 628

= 625 (1 + 61 + 62 + 63)

= 625 (1 + 6 + 36 + 216)

= 625 × 259

 The given no. is divisible by
259

152.(a)

4081

1 9

(265) 9

266

 



 (–1)4081 + 9

 –1 + 9 = 8

153.(d)
88 99999 1136

119
88

319
264

88

559
528
  31

 Largest 5 digit no. exactly
divisible by 88 is 99999–31

= 99968

Or

You can check from options
divisibility by 11 or 8.

154.(d)Original Mistakenly

dividend dividend

100 : 110

10 : 11

Original Mistakenly

divisor divisor

100 : 125

4 : 5

Original quotient = 
10

4
 = 2.5

2.5 unit ×10 25

 Original dividend

= 10 × 10 = 100

Mistakenly quotient obtained

was = 
110

5
 = 22

155.(a) The given six digit no. is
divisible by 33 means it is also
divisible by 3 and 11.

When 54 is added. The digit
sum of 54 is divisible by 3.

Hence the new number formed
will be divisible by 3

156.(c) Divisibility by 8 The last
3 digits should be divisible by
8.

 Last 3 digits = 326


326 –

8

x

x should be 6

326 – 6 = 320 is divisibility by
8

 6 should be subtracted.
157. (b)

×2

2  4  9  8

        –  6
2  4  9  2

       4

2  4 5

10   ×2

14 Remaining no. is divisible by 7

×2
3

 24983 is divisible by 7.

158.(b)36  9 × 4

Divisibility by 4 Last 2 digit
should be divisible by 4.

Divisibility by 9 digit sum of
the number should be divisible
by 9.

29412 Last two digit is
divisible by 4

Digit sum = 2+9+4+1+2 = 18

18 is divisible by 9

 29412 is divisible by 36
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159.(d)18  9 × 2

 x should be even no.

Divisible by 9digit sum of the
no. should be divisible by 9.

7823326867x

Digit sum = 52 + x


52

9

 x

 x should be 2

160.(a)Original Mistakenly

dividend dividend

100 : 90

10 : 9

Original Mistakenly

divisor divisor

100 : 80

5 : 4

 Original quotient = 24

 Original dividend = 24 × 5

= 120

10 unit ×12  120

9 unit ×12  108

 Quotient that suhas

get = 
108

4
 = 27

161.(d)Divisibility by 11

Took the sum of the odd places
digits and even place digits.

Take their difference if
difference is zero or divisible by
11 the number will be divisible
by 11.

9 5 9 2 3 3 0

Odd place sum = 9+9+3+0=21

Even place sum = 5+2+3 = 10

Difference = 21–10 = 11

Which is divisible by 11

 9592330 is divisible by 11.

162.(a)8 Last 3 digits should be
divisible by 8.

998

8
; Remainder = 6

 98998 is not divisible by 8.

163.(c) 484  22 × 22

 22 × 112

Factors of 484 that are perfect
squares = 1, 22, 112, 222

 1, 4, 121, 484

Sum = 484 + 121 + 4 + 1

= 610

164.(a)33  3 × 11

 Number should be divisible
by both 3 and 11.

35508  digit sum = 21

 Divisible by 3

 3 5 5 0 8

Odd place sum = 3+5+8 = 16

Even place sum = 5 + 0 = 5

Difference = 16 – 5 = 11

 35508 is divisible by 33 .

165.(b) 9 4 5 4 3 5 1 6 2 6

Odd place sum = 9 + 5 + 3 + 1 +
2 = 20

Even place sum = 4 + 4 + 5 + 6
+ 6 = 25

Difference = 25 – 20 = 5

But difference should be 0 or
multiple of 11.

 11–5 = 6 Should be added.

166.(c)

Divisor Quotient Remainder

13 : 1

6 : 1

78 : 6 : 13

×3 ×3 ×3

234 18 39

 Dividend = divisor × Quotient
+ Remainder

= 234 × 18 + 39

= 4251

167. (b) 99  9 × 11

60687  degit sum = 27

 divisible by 9

6 0 6 8 7

Odd place sum = 6 + 6 + 7 = 19

Even place sum = 0 + 8 = 8

Difference = 19 – 8 = 11

 60687 is divisible by 99

168.(b)44  11 × 4

4  Last two digit divisible by
4

54736  
36

4
, R = 0

5 4 7 3 6

Odd place sum = 5 + 7 + 6 = 18

Even place sum = 4 + 3 = 7

Difference = 18 – 7 = 11

Which is divisible by 11

 54736 is divisible by 44

169.(b)
abba

4
, a < b

4  Last two digit should be
divisible by 4

 
ba

4

b a

 

9 2, 6

8 4,

7 6, 2

6 4,

5 2

3 2

 8 numbers possible.

170.(c)846523x7y

Digit sum = 35 + x + y

 y + x = 10

y – x = 6

 y = 
10 6

2


 = 8

x = 
10 – 6

2
2



 2 4 2 2 4 8    x y

= 4 32

= 36

= 6

171.(a)Smallest 5 digit no. = 10,000

526 10,000 19

4740
526

6

4734520

 Smallest 5 digit number
divisible by 526 = 10,000 + 520
= 10520

172.(d)Sum of six consecutive
numbers is always divisble by
3.

Hence that number will always
be divisible by 3

Example:- 123456

Sum = 21

 divisible by 3.

173.(c)Digit sum of 5826 21

 Not. divisible by 9

Digit sum of 5964 24

 Not divisible by 9

Digit sum of 6039 18

Digit sum of 6336 18

Digit sum of 6489 27

Digit sum of 6564 21

 Not divisible by 9

Digit sum of 6867 27

Digit sum of 6960 21

 Not divisible by 9

 4 numbers are not divisible
by 9
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Tier-I
SSC CGL 2018

Simplify the following expression.

fuEu O;atd dk eku Kkr djsaA

SSC CGL Tier-I (2018)
{04/06/2019}

1. 2 × 3 ÷ 2 of 3 × 2 ÷ (4 + 4 × 4 ÷ 4
of 4 – 4 ÷ 4 × 4) = ?
(a) 8 (b) 1
(c) 4 (d) 2

2. 5 ÷ 5 of 5 × 2 + 2 ÷ 2 of 2 × 5 – (5
– 2) ÷ 6 × 2 = ?

(a)
9

5
(b)

19

10

(c) 19 (d)
23

2

3.  2
7

8
÷

5 2 1
3 of 2

6 7 3

 
 

 
×

6 1 2 5
2 of 4

7 5 3 9

  
   

  
 = ?

(a)
1

4
(b) 4

(c) 10 (d) 5

SSC CGL Tier-I (2018)
{06/06/2019} All Shifts

4. (5+3 ÷ 5×5) ÷ (3÷3 of  6) of (4×4 ÷
4 of 4 + 4 ÷ 4×4) = ?

(a) 8
1

5
(b) 7

1

3

(c) 9
3

5
(d) 6

2

3

5.
9

15
of

2 2 3
of

3 3 2

 
   ÷ 

3 3 3 4
of

4 4 4 3

 
   

of 
5 5 2 4

of
4 2 5 5

 
  

 
= ?

(a)
20

9
(b)

4

25

(c)
18

125
(d)

40

9
6. 16 ÷ 4 of 4 × [3 ÷ 4 of {4 × 3 ÷ (3

+ 3)}] ÷ (2 ÷ 4 of 8) = ?
(a) 6 (b) 9
(c) 48 (d) 16

SSC CGL Tier-I (2018)
{07/06/2019} All Shifts

7.
8

9
of  1 1

2 of 4
4 3

5  ÷  2 4
of

3 5
8 

of  2 4

3 5
8    = ?

(a)
1

1
8

(b)
4

15

(c)
1

200
(d)

1

100

8.
1

7
2

×
1 1 1

3 4 5
5 2 3

of
 
  
 

 +

5 1
11 3 1

8 4

  
        

 ÷ 
3

5
4

– 5 ÷ 5 ×

5 of 5 ÷ 25 = ?

(a)
1

2
(b)

1

10

(c)
3

10
(d)

1
1

2
9. 6 – 6 ÷ 6 × 6 + (6 ÷ 6 of 6) × 6 –

2 11 2
3 of

3 30 3

 
  
 

÷ 5 = ?

(a) 0 (b) 2
(c) –1 (d) –2

SSC CGL Tier-I (2018)
{10/06/2019} All Shifts

10.
3 2 5

2
4 3 9
   of 

1 2 5 2
1 3

5 23 6 7
  

of 
1

2
3

 = ?

(a)
5

1
6

(b)
2

1
3

(c)
1

3
2

(d)
5

4
6

11. 4.5 – (3.2÷0.8 × 5) + 3 × 4 ÷ 6 =?

(a) –13.5 (b) 4.2

(c) –8.5 (d) 5.7

12. 3.8 – (4.2 ÷ 0.7 × 3) + 5×2 ÷ 0.5

(a) 5.8 (b) 18.4

(c) 21.8 (d) 15.6

SSC CGL Tier-I (2018)
{11/06/2019} All Shifts

13. 2.8 + (5.2÷1.3×2) – 6 × 3 ÷ 8 + 2
(a) 6.45 (b) 4.55
(c) 8.44 (d) 10.55

14. 7.2 + (8.4 ÷ 0.12 × 0.2) – 5 × 3 ÷
0.05 + 3 = ?

(a) –75.8 (b) –275.8

(c) 21.2 (d) –175.8

15. 5.8 + (7.4 ÷ 3.7 × 5) – 6 × 2 ÷ 2.5

(a) 12 (b) 11

(c) 10 (d) 9

SSC CGL Tier-I (2018)

{12/06/2019} All Shifts

16. 3.8 + (8.2 ÷ 4.1 × 2) – 4 × 3 ÷ 1.2

(a) 2.2 (b) –1.2

(c) 1.2 (d) –2.2

17. 7.5 + (5.4 ÷ 4.5 × 2) – 8 × 4 ÷ 3.2
(a) 0.1 (b) –0.1

(c) 0.2 (d) 0.2

18. 108 ÷ 36 × 4 + 2.5 × 4 ÷ 0.5 – 10

(a) 18 (b) 16

(c) 22 (d) 20

SSC CGL Tier-I (2018)

{13/06/2019} All Shifts

19. 21.6 ÷ 3.6 × 2 + 0.25 × 16 ÷ 4 –
6 = ?

(a) 6 (b) 5

(c) 8 (d) 7

20. 15.2 + 5.8 ÷ 2.9 × 2 – 3.5 × 2 ÷
0.5 = ?

(a) 4.8 (b) 3.2
(c) 5.2 (d) 5.4

21. 9
3

4
÷ [2

1

6
÷ {4

1

3
– (2

1

2
+

3

4
)}] = ?

(a)
15

4
(b) 3

(c)
39

8
(d) 4

SSC CGL Tier-I (2018)
{13/06/2019} All Shifts

22. 9
3

4
+ [2

1

6
÷ {4

1

3
– (2

1

2
+

3

4
)}] =?

(a) 
15

4
(b) 4

(c) 
47

4
(d) 3

SIMPLIFICATION
ljyhdj.k
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Tier-I
SSC CGL 2019

SSC CGL Tier-I (2019)
{03/03/2020} All Shifts

23. If '+' means '–', '–' means '+','×'
means '÷' and '÷' means '×',
then the value of

42 –12 3 8 2 15

8 2 – 4 9 3

   

  
 is:

;fn '+' dk vFkZ '–', '–' dk vFkZ '+', '×' dk
vFkZ '÷' vkSj '÷' dk vFkZ '×' gksrk gks] rks

lehdj.k 
42 12 3 8 2 15

8 2 4 9 3

    

   
dk

eku_______gksxkA

(a)
15

19
(b) –

5

3

(c) –
15

19
(d)

5

3

24.  (18÷2 of 
1

4
)×

2

3





÷
3

4
×

5

8





÷

2

3





÷
3

4
 of 

3

4





 = ?

(a) 8
5

8
(b) 16

7

8

(c) 2
7

64
(d) 10

2

3

25. –
5

2
+

3

2
÷ 6×

1

2
 = ?

(a) –
1

3
(b) –

1

12

(c) –
19

8
(d) –

9

8
26. (a+b–c+d)²–(a–b+c–d)²=?

(a) 4a(b+d–c) (b) 2a(a+b–c)
(c) 2a(b+c–d) (d) 4a(b–d+c)

27.

 
36÷42 of 6×7+24×6÷18+3÷(2–6)–(4+3×2)÷8

21÷3 of 7

(a) 7 (b) 7
1

2

(c) 8 (d)
1

7
SSC CGL Tier-I (2019)

{04/03/2020} All Shifts

28.
7–[4+3(2–2×2+5)–8]÷5

2÷2 of (4+4÷4 of 4)
= ?

(a) 26 (b) 25
1

2

(c) 8
1

2
(d) 24

29. On simplification,

³ – ³

[( )² – 3 ]

x y

x x y xy ÷
[( – )²+3 ]

³ ³

y x y xy

x y ×

( )² – ( )²

² – ²

x y x y

x y

 
 = ?

(a) 4 (b) 1

(c)
1

2
(d)

1

4

30. If P=
4 – 8

³ – ² – 2

x x

x x x
,Q=

² 2 1

² – 4 – 5

x x

x x

 

and R=
2 ² 4 8

– 5

x x

x

 
, then

(P×Q)÷R is equal to:

;fn P = 
4

3 2

– 8

– – 2

x x

x x x
,

Q =
2

2

2 1

– 4 – 5

x x +

x x
 vk S j  R =

22 4 8

– 5

x x +

x
 gks] rks (P × Q) ÷ R dk

eku Kkr dhft,A

(a)
1

2
(b) 1

(c) 2 (d) 4
31.

1 2 1 1 7 9 9
5 3 5 – 7 9

2 3 4 9 8 20 11
1

5 5 –10 10 20
10

of

of

 
     
 

  
=?

(a) 1
4

5
(b) 1

1

2

(c) 3
4

5
(d) 9

1

2

32.
8 [(8 – 3) {(4 4 8) 4 – 4 4 8} – 2]

8 8 4 – 8 8 2 – 7

of

of

     

  

(a)
17

8
(b)

8

3

(c)
16

170
(d)

2

17
SSC CGL Tier-I (2019)

{05/03/2020} All Shifts

33. If P=

3 3

( – )² 3

x y

x y xy




,

Q=
( )² – 3

³ – ³

x y xy

x y


and

R=
( )² ( – )²

² – ²

x y x y

x y

 
, then what

is the value of (P÷Q)×R?

;fn P = 

3 3

( – )² 3

x y

x y xy




,

Q = 
( )² – 3

³ – ³

x y xy

x y


 vkSj

R = 
( )² ( – )²

² – ²

x y x y

x y

 
 gS] rks (P ÷ Q)

× R dk eku D;k gS\
(a) 2xy (b) 2(x² + y²)
(c) x²+y² (d) 4xy

34. 2 11 2 1 1 3 4
3 – 2 4

3 30 3 4 2 5 5
2 1 3 3 1 1

7 – 1 2
5 2 4 4 2 4

of of

of

  

  

(a) 2
2

9
(b)

10

21

(c) 2
6

7
(d) 3

4

7

35.
²( 4)²

( 4)² – 4

x x

x x




÷

( ² 4 )³

( 4)²

x x

x




×

64 – ³

16 – ²

x

x

(a)
– 4

4

x

x 
(b)

4

(4 – )

x

x x



(c)
4

( – 4)

x

x x


(d)

4

– 4

x

x



36.
3

5
×1

7

8
÷1

1

3
of 

3

16
–

1
3

5





÷4
1

2
of

5
1

3





×2
1

2
+

1

2
+

1

8
÷

1

4
 = ?

(a) 4
1

3
(b) 5

5

6

(c) 5
1

6
(d) 4

1

8

37. –1+
1

4
÷

1

2
×2+5 = ?

(a) 5 (b) 2

(c)
17

4
(d) –

7

2
SSC CGL Tier-I (2019)

{06/03/2020} All Shifts
38. If '+' means '–', '–' means '+', '×'

means '÷' and '÷' means '×',
then the value of -
;fn '+' dk vFkZ '–', '–' dk vFkZ '+', '×' dk
vFkZ '÷' vkSj '÷' dk vFkZ '×' gS] rks

   

 

30 5 84 6 5

2
18 – 4 2

3

     
 

  
  

 is:

(a) –2 (b) 2
(c) –1 (d) 1

39. Solve the following 113×87 = ?

(a) 10000 (b) 10026
(c) 9831 (d) 10169

40.  
4

3
÷

1

6
× 2 –1 = ?

(a) –2 (b) 8
(c) 3 (d) 15

41.  
 54 – (5 2) 8 13

48 – 4 3 8 – 2

  

 
 = ?

(a)
89

127
(b)

89

106

(c)
141

127
(d)

141

106
SSC CGL Tier-I (2019)

{07/03/2020} All Shifts
42. 3 – (9 – 3 ×8 ÷ 2)  = ?

(a) –21 (b) 6

(c) 0 (d)
21

2
43. 151² – 149² = ?

(a) 600 (b) 300
(c) 2² (d) 400
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44. 1
1

8
 ÷ 

1 3 1
4 ÷ of 8

4 5 2

 
  
 

– 
2

5
×1

1

3
÷

4

5
of 1 

2

3
 + 

11

20
 = ?

(a) 1
1

2
(b) 1

1

4

(c) 3
1

8
(d) 3

1

2
45. Find the product of (a + b + 2c)

(a² + b² + 4c² – ab – 2bc – 2ca).
(a + b + 2c) (a² + b² + 4c² – ab –

2bc – 2ca)  dk xq.kuiQy Kkr djsaA
(a) a³ + b³ + 8c³ – abc

(b) a³ + b³ + 8c³ – 6abc
(c) a³ + b³ + 8c³ – 2abc
(d) a³ + b³ + c³ – 6abc

46. Solve the following expression.

fuEufyf[kr O;atd dk eku D;k gS\
5.6 – {2 + 0.6 of (2.1 – 2.6 × 1.12)}

(a) 4.0871 (b) 4.0872

(c) 7.7113 (d) 7.7112

SSC CGL Tier-I (2019)
{09/03/2020} All Shifts

47. 1800 ÷ 20 × {(12 – 6) + (24 – 12)}

(a) 1720 (b) 1620

(c) 840 (d) 2720
48. Solve the following expression.

fuEufyf[kr O;atd dks gy djsaA
11 + 11 × 11 – 11 ÷ 11

(a) 131 (b) 11

(c) 121 (d) 22
49. (26 – 13 × 2) ÷ 2 + 1 = ?

(a) 26/3 (b) 0
(c) 1 (d) 14

50. The value of 515 × 485 is:

(a) 20825 (b) 249775

(c) 200825 (d) 250225

Tier-I
SSC CGL 2020

SSC CGL Tier-I (2020)
{13/08/2021} All Shifts

51. 20 ÷ 5 of 8 × [9 ÷ 6 + (6 – 3)] –

(10 ÷ 2 of 20) = ?

(a) 6 (b) 1

(c) 0 (d) 2
52. 3 ÷ 18 of 3 × 6 – 22 × 6 ÷ 18 – 3

÷ 2 + 10 – 3 ÷ 9 of 3 × 9 = ?

(a)
1

–
3

(b)
1

–
2

(c)
1

2
(d)

1

3
53. 14 – 20 × [7 – {18 ÷ 2 of 3 – (15 –

25 ÷ 5 × 4)}] = ?

(a) 0 (b) 24

(c) 6 (d) 34

54. 90 ÷ 20 of 6 × [11 ÷ 4 of {3 × 2 –

(3 – 8)}] ÷ (9 ÷ 3 × 2) = ?

(a)
1

36
(b)

1

32

(c)
9

8
(d)

3

8
SSC CGL Tier-I (2020)

{16/08/2021} All Shifts

55.

52 –1170 26 13 2

1 1
2 1 of 2 –1

8 4

  

  = ?

(a) 11 (b) 12
(c) 41 (d) 27

56.
5

3
6

+
2 15 4 1

3 5 14
3 4 5 2

   
    

   
 =

?
(a) 9 (b) 6
(c) 7 (d) 8

57. 25 ÷ 15 of 4 × [4 ÷ 5 × (9 – 7)] –
(20 ÷ 5 of 9) = ?

(a)
4

9
(b)

2

3

(c)
1

3
(d)

2

9
SSC CGL Tier-I (2020)

{17/08/2021} All Shifts
58. 32 ÷ 12 of 3 × [5 – (15–12) ÷ 9] of

3

7
+ 4 – 8 ÷ 2 of 4 = ?

(a)
7

1
9

(b)
7

4
9

(c)
1

3
3

(d)
1

3
6

59.
1 1 5 3 1 4

5 3 – – –
5 2 6 5 10 15

   
    

   
= ?

(a)
12

31
(b)

22

31

(c)
52

31
(d)

72

31

60.
7 1 1 4 1 5 1 3

of –
16 2 5 5 3 8 2 4

 
     

 
= ?

(a)
317

96
(b)

10

3

(c)
71

150
(d)

23

6

61.
108 108 108 – 92 92 92

108 108 92 92 108 92

   

    
= ?

(a) 200 (b) 1
(c) 16 (d) –1

SSC CGL Tier-I (2020)
{18/08/2021} All Shifts

62. 18 ÷ [26 – {25 – (15 – 5) ÷ 2}] of

12 + 2 – 2 ÷ 4 × 16 = ?

(a)
9

4
(b)

3

2

(c)
25

–
2

(d)
23

–
4

63.
2 2(375 125) – (125 – 375)

375 375 –125 125



 
= ?

(a)
15

8
(b)

3

4

(c)
3

2
(d)

27

28
64. 6 ÷ 4 of 3 – 4 ÷ 6 × (13 – 10)– 2 ×

15 ÷ 6 × 6 = ?

(a)
1

–19
2

(b)
1

–27
2

(c)
1

–31
2

(d)
14

–29
17

65. 441÷
3 1 1 5

270 17 – 8 –
7 2 2 2

    
      

    

(a)
49

75
(b)

39

75

(c)
19

75
(d)

29

75
SSC CGL Tier-I (2020)

{20/08/2021} All Shifts
66. 3 × 8 ÷ 9 of 6 – 2 ÷ 3 × (5 – 2) × 2

+ 18 ÷ 3 of 3 = ?

(a) –4 (b)
12

2
13

(c)
5

–1
9

(d)
1

2
3

67. 15 ÷ 3 of 2 × 4 + 9 ÷ 18 of 2 × 3 –
4 ÷ 8 × 2 = ?

(a)
3

9
4

(b)
3

12
4

(c)
3

39
4

(d)
3

42
4

68. 8 ÷ 4 of 2 – 15 ÷ 2 of 5 – 6 ÷ 5 ×
(–7 + 5) of 2 = ?

(a)
7

31
10

(b)
3

7
10

(c)
3

4
10

(d)
1

–
5

SSC CGL Tier-I (2020)
{23/08/2021} All Shifts

69. 7 × 4 ÷ 21 of 4 – 5 ÷ 4 × (9 – 13)
+ 2 – 2 ÷ 8 = ?

(a)
1

7
12

(b)
1

5
3

(c)
1

12
2

(d)
1

5
16

70. 423÷
3 1 1 5

270 35 17 – 8 –
7 3 2 2

    
       

    

(a)
41

2455
(b)

47

2455

(c)
51

2455
(d)

43

2455
71. 54 ÷ 16 of 3 × [12 ÷ 4 of {6 × 3 ÷

(11 –2)}] ÷ (12 ÷ 8 × 2) = ?

(a)
3

4
(b)

9

16

(c)
3

8
(d)

9

8
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72.
1 1

3 4
5 2
  of 

1 1
5 –

3 8
÷

1

2
 of 

1 1

4 4


1 1 1

2 8 4

 
  

 
 = ?

(a)
37

–
60

(b)
17

60

(c)
17

–
60

(d)
37

60

73.
7 1 2 5 9 5 3 2

of – of
12 10 3 3 10 8 4 3

   

(a) –4 (b)
1

8
2

(c)
23

3
36

(d)
29

7
36

74.
3 1 1 2

– of
4 4 4 5

 
 

 
 ÷ 

3 2 3
of

4 3 5

 
 

 
= ?

(a)
14

75
(b)

70
–

27

(c)
14

–
15

(d)
32

75

Tier-I
SSC CGL 2021

SSC CGL Tier-I (2021)
{11/04/2022} All Shifts

75. 372÷56×7–5+2 = ?

(a) 58 (b) 
95

2
98

(c)
1

43
2

(d)
93

2
98

76. 980 ÷ 35 × 16+ 4–2 × 2 = ?

(a)
15

2
(b) 448

(c)
7

4
(d) 556

77.

1 1 1 1 1
3 5 1 5 5

2 3 3 4 2
1 2 1

1 1 6
2 2 2

   

 
÷7×2

(a)
13

147
(b)

9
29

32

(c) 
5

1
14

(d)
5

28
SSC CGL Tier-I (2021)

{12/04/2022} All Shifts

78.
5 35 5 15 5

12 2

   


 = ?

(a) – 9.5 (b) – 13.5
(c) – 2.5 (d) 11.5

79. 40 ÷ 5 of 2 × [18÷6 × (12–9) of 5–
(3–8)]÷ 25 = ?
(a) 5 (b) 7
(c) 8 (d) 4

80.
2 3

7 8
 

1 1 1
2 3 of1

4 2 3


  


17 1 3
1 3 1

40 5 8

               
 = ?

(a)
2

7
(b)

4

7


(c)
2

7
 (d)

4

7
SSC CGL Tier-I (2021)

{13/04/2022} All Shifts
81. What is the value of x, if

5 1 –
5

x    – (5 – x) –
1

200
 of (20 –

x) = 0.08?

;fn 5 1 –
5

x    – (5 – x) –
1

200
 of (20

– x) = 0.08 gS] rks x dk eku D;k gS\
(a) 36 (b) 9
(c) 18 (d) 24

82.

 

   

2

2 2

48.3× 4.95 +4.95×13.25

12.55 – 5.65 ×19.8

 
  

 
  

= ?

(a) 17.5 (b) 0.175
(c) 1.75 (d) 175

83. What is the value of p, if 25(3 +
4p) ÷ 12 of 5 – 3 × 8 = 6?
;fn 25(3 + 4p) ÷ 12 of 5 – 3 × 8 =
6 gS] rks p dk eku D;k gS\
(a) 72 (b) 69

(c) 15
1

3
(d) 17

1

4
SSC CGL Tier-I (2021)

{18/04/2022} All Shifts

84.
 

3
46 of 32 6

4
3

37 of 34 6
4

 

 
= ?

(a)
64

7
(b)

54

7

(c)
44

7
(d)

34

7
85. 15 +6.3 ÷ 7–3×1.3–2 = ?

(a) 9 (b) –10
(c) 10 (d) 7

86.
3 ÷1× 2 + 5 – 2

3 × 3 – 2
 = ?

(a)
9

7
(b)

19

3

(c)
4

7
(d)

4

3
SSC CGL Tier-I (2021)

{19/04/2022} All Shifts

87.

3 3 5 3
– – – of 4.8 – 0.9

8 8 8 8

1 1 3 1
4 ÷2.5×0.2÷ of 50+ –

6 5 4 8

              
    

= ?

(a)
30

79
(b)

42

79

(c)
36

79
(d)

24

79

88.
 

 

3 1 7 5 6
9 ÷ of 9 + 6 × 4 – 2 + ÷ – +

7 5 25 8 16

24 ÷16 – 10 + 36 ÷ 5 + 20 ÷ 4 – 1

           

(a)
40

7
(b)

5

56

(c)
7

40
(d)

51

36

89.

2 5 4 1 2
1  ÷  × 6 +  × + 

3 6 5 2 3

1 3 3 3
1– 1 × – – 6  – 3 – 

3 5 5 10

                       

(a)
4

–
3

(b)
4

3

(c)
1

7
(d)

1
–

7
SSC CGL Tier-I (2021)

{20/04/2022} All Shifts

90. [25 + 8 ÷ 2 - {16 + (14 of 7 ÷ 14) -

(18 ÷ 12 of 
1

2
)}] = ?

(a) 6 (b) 3
(c) 9 (d) 12

91. 25 ÷ 10 – 
7 1

4 3

       of 
6 14

5 3


9 1 1

10 5 25

       = ?

(a) 11 (b) 7
(c) 15 (d) 9

92.

1 3 3 1 1
1 +1 ÷ 1 of1 ×2

2 7 5 4 3
2 4 5

2 ÷ × +14
3 9 6

    
= ?

(a)
107

342
(b)

49

114

(c)
13

114
(d)

1

6
SSC CGL Tier-I (2021)

{21/04/2022} All Shifts

93.

1 1 4 3 1 1
4 +3 ×1 ÷3 6 of1

3 3 5 4 4 15

2 5 2
÷ ×

3 6 3

 
 
 

=?

(a)
1

28
8

(b)
1

8

(c)
3

289
8

(d)
1

12
8

94.
 

   

3

2 2

7.03 – 0.027

7.03 +2.109+ 0.03
= ?

(a) 7.06 (b) 7
(c) 7.33 (d) 6.73

95. Simplify/ dk eku Kkr dhft,A
1 1 5 3 4 5 2 1

5 ÷3 × – ÷ 3 ÷ of 6 of 1
4 2 12 16 7 14 3 3

                

(a)
5

32
(b)

17

32

(c)
3

32
(d)

7

32
96. – 5 + 5 + 625 ÷ 5 × 5 = ?

(a) 25 (b) 625
(c) 605 (d) 121
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SSC CGL 2023

97. Simplify the following
expression.

fuEufyf•rO;atd dk eku Kkrdhft;sA

85 1 46 27 86 91 112
– of

34 18 69 135 129 14 36

                        

(a)
1

3
5

(b)
3

3
4

(c)
1

3
2

(d)
1

3
4

98. Find the sum of

dk ;ksx Kkr dhft,A
3 + 32 + 33..... + 38.

(a) 6561 (b) 6560

(c) 9840 (d) 3280

99. The product of 277 and 323 is :

277 vkSj 323 dkxq.kuiQyKkr dhft,%

(a) 89471 (b) 88471

(c) 91371 (d) 89391

100.Simplify the expression

O;atd dks ljy dhft;s%

2 23.35 1.25
?

3.35 1.25






(a) 3.10 (b) 4.60

(c) 4.10 (d) 2.1

101.Simplify the given expression

fn;s x, O;atd dk ljyhdj.k djsaA

2 2(326 222) (326 222)

(326 222)

  



(a) 1 (b) 4

(c) 3 (d) 2

102.Simplify the given expression.

fn;s x, O;atd dk ljyhdj.k djsaA

432 432 247 247 – 432 247

432 432 432 247 247 247

   

    

(a)
1

259
(b)

1

185

(c)
1

679
(d)

1

450

103.Simplify the following
expression.

fuEu O;atd dk eku Kkr dhft,A

7248 6 712 5– 71 [(51 4–13) (13–12 7)]3616
11

232

 
               

    
 

(a)
–31

233
(b)

31

232

(c)
41

232
(d)

–31

232

104.7.5 × 17.2 ÷ 8.6 + (59.5) of 
1 7

7 2


of 5 = ?/dk eku Kkr djsaA

(a) 6 (b) 3

(c) 4 (d) 2

105.Simplify/dk eku Kkr djsaA
[0.08 – {3.5 – 4.9 –  (12.5 – 7.8 –
4.6)}]

(a) 1.58 (b) 0.08

(c) 2.58 (d) 12.58

106.Simplify/dk eku Kkr djsaA

5 11
264 – 142 75 38 –

4 4

                   

(a) 231 (b) 230

(c) 232 (d) 234

107.What is the value of the given
expression?

fn, x, O;atd dk eku D;k gS\

a 4 a 2

a 2 a

4 5 4

15 4 – 2 4

  

 

(a) 16 (b) 64

(c) 20 (d) 24

108.If 720 ÷ 8 + 915 ÷ 15 – m + 32
× 5 = 1104 ÷ 16 × 111 ÷ 37, then
the value of m is :

;fn 720 ÷ 8 + 915 ÷ 15 – m + 32

× 5 = 1104 ÷ 16 × 111 ÷ 37 gS] rks
m dk eku D;k gksxk\

(a) 104 (b) 518

(c) 207 (d) 311

109.7p – [3q – {8p – (4q – 10p)}] = ?

(a) 7p – 11q (b) 11p – 7q

(c) 9p – 12q (d) 12p – 9q

110.What is the value of

fn, x, O;atd dk eku Kkr dhft,A
6 - (6 ÷ 2 - 3 + 7 - 2) × [{3 - 2 ÷ 2}

× 5 - 6]?

(a) 5 (b) 6

(c) 4 (d) 3

ANSWER KEY - SIMPLIFICATION

1. (d) 2. (b) 3. (d) 4. (c) 5. (d) 6. (a) 7. (c) 8. (d) 9. (d) 10. (c)

11. (a) 12. (a) 13. (d) 14. (b) 15. (b) 16. (d) 17. (b) 18. (c) 19. (d) 20. (c)

21. (c) 22. (c) 23. (c) 24. (b) 25. (c) 26. (a) 27. (a) 28. (b) 29. (a) 30. (a)

31. (b) 32. (b) 33. (b) 34. (c) 35. (c) 36. (c) 37. (a) 38. (a) 39. (c) 40. (d)

41. (d) 42. (b) 43. (a) 44. (a) 45. (b) 46. (b) 47. (b) 48. (a) 49. (c) 50. (b)

51. (d) 52. (c) 53. (d) 54. (b) 55. (a) 56. (a) 57. (d) 58. (b) 59. (c) 60. (d)

61. (c) 62. (d) 63. (c) 64. (c) 65. (a) 66. (c) 67. (a) 68. (c) 69. (a) 70. (b)

71. (b) 72. (a) 73. (b) 74. (c) 75. (c) 76. (b) 77. (c) 78. (a) 79. (c) 80. (b)

81. (a) 82. (c) 83. (d) 84. (a) 85. (c) 86. (a) 87. (c) 88. (b) 89. (a) 90. (c)

91. (a) 92. (d) 93. (a) 94. (d) 95. (d) 96. (b) 97. (d) 98. (c) 99. (a) 100. (d)

101. (b) 102. (c) 103. (d) 104. (a) 105. (a) 106. (a) 107. (a) 108. (a) 109. (b) 110. (c)
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SSC CGL Tier-I (2018)
{04/06/2019}

1. (d)2×3÷2 of 3×2÷(4+4×4÷4of4–
4÷4×4)
= 2×3÷6×2÷(4+4×4÷16–4÷4×4)
= 2÷(5–4)
= 2

2. (b)5 ÷ 5 of 5 ×2+2÷2of 2×5 – (5–
2) ÷6×2
= 5÷25×2 +2÷4×5 –3÷6×2

= 
2

5
+

5

2
–1

=
19

10

3. (d)
7

2
8

÷
5 2 1

3  of 2
6 7 3

 
   ×

6 1 2 5
2 of 4

7 5 3 9

  
     

=
23

8
÷

23 2 7
of

6 7 3

 
   ×

20 21 2 5
of

7 5 3 9

  
     

=
23

8
÷

23 14

6 21

 
   ×

420 2 5

35 3 9

  
     

=
23

8
÷

23 21

6 14

 
   ×

420 3 5

35 2 9

  
     

=
23

8
÷

23

4

 
   ×18×

5

9

= 
23

8
×

4

23
×10

= 5
SSC CGL Tier-I (2018)

{06/06/2019} All Shifts
4. (c) (5+3÷5×5)÷(3÷3of6) of (4×4÷ 4

of 4+4÷4×4)
= (5+3÷5×5) ÷ (3÷18) of (4×4 ÷
16+4 ÷ 4×4)

=
3

5 5
5

 
    ÷

3

18

 
   of(1+4)

= 8 ÷ (
1

6
×5)

= 9
3

5
5. (d)

9

15
of

2 2 3
of

3 3 2

 
   ÷

3 3 3 4
of

4 4 4 3

 
   

of
5 5 2 4

of
4 2 5 5

 
   

=
9

15
of

2 6

3 6

 
   ÷

3 123

4 4 12

 
    of

5 5 8

4 2 25

 
   

=
9

15
of

2

3

 
   ÷

3 3 4
of

4 4 25

 
  

=
2

5
÷

9

100

=
40

9
6. (a)16 ÷ 4 of 4 × [3 ÷ 4 of {4 × 3 ÷

(3 + 3)}] ÷ (2 ÷ 4 of 8)
= 16÷16×[3÷4of(4×3÷6)]÷(2÷32)

= 1×[3÷4of(2)]÷
1

16

= 1×
3

8
×

16

1
= 6

SSC CGL Tier-I (2018)
{07/06/2019} All Shifts

7. (c) 
8

9
 of  1 1

2 of 4
4 3

5   

2 4
8 of

3 5

 
    of 

2 4
8

3 5

 
   

According to BODMAS:­

=
8

9
of

21 3

4 28

 
   ÷

15
8

8

 
   ×

20

3

 
  

 =
8

9
×

9

16
÷100

=
1

200
8. (d)Use BODMAS operation:­

1
7

2
×

1 1 1
3 4 5

5 2 3
of

 
  
 

 +

5 1
11 3 1

8 4

  
        

 ÷ 
3

5
4

– 5 ÷ 5 ×

5 of 5 ÷ 25

=
15

2
× 

16 9 16
of

5 2 3

 
    + 

19
11–

8

  
    

÷ 
23

4
 – 1

= 
15

2
×

16
24

5

 
   +

69 4

8 23

 
  

–1

= 
15

2
×

2

15
+

3

2
–1

= 1
1

2

9. (d)6–6÷6×6+(6÷6 of 6)×6

–
11 11 2

of
3 30 3

 
   ÷ 5

use BODMAS operations

= 6–6+1–
11 11

3 45

 
   ÷5

= 1–15÷5
= –2

SSC CGL Tier-I (2018)
{10/06/2019} All Shifts

10. (c)
3 2 5

2
4 3 9
   of 

1 2 5 2
1 3
5 23 6 7
  

of 
1

2
3

[Using BODMAS]

3

4
×

8

3
÷

5 6

9 5

 
   +

2

23
×

23

6
÷

2 7

7 3

 
  

=
3

4
×

8

3
÷

2

3

 
   +

2

23
×

23

6
×

3

2

= 3 +
1

2
 = 3

1

2

11. (a)4.5 – (3.2 ÷ 0.8 × 5) + 3 × 4 ÷
6

= 4.5 –(4×5) +
3 4

6



= 4.5 –20 + 2
= –13.5

12. (a)3.8–(4.2÷0.7×3)+5×2÷0.5
= 3.8–(6×3) + 5×4
= 3.8 – 18 + 20 = 5.8

SSC CGL Tier-I (2018)
{11/06/2019} All Shifts

13. (d)2.8 + (5.2÷1.3×2) – 6×3÷8+2

= 2.8 + 8 – 
9

4
+ 2

= 12.8 – 2.25 = 10.55
14. (b)7.2 + (8.4÷0.12×0.2) –5×3

÷0.05 + 3

= 7.2 + (70×0.2)–5 ×
300

5
 + 3

= 7.2 + 14 – 300 + 3
= –275.8

15. (b)5.8+(7.4÷3.7×5)–6×2 ÷2.5

= 5.8 + 10 – 6×
20

25

= 5.8 + 10 – 4.8 = 11

Hints & Solutions
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16. (d)3.8+(8.2÷4.1×2) – 4×3 ÷12

= 3.8 + 4 – 4×
3

1.2

= 3.8 + 4 –10 = –2.2
17. (b)7.5 + (5.4÷4.5×2)–8×4÷3.2

= 7.5 +
5.4

4.5
×2 – 8×

4

3.2

= 7.5 + 
12

5
–

32

3.2
= 7.5 + 2.4 –10 = –0.1

18. (c) 108÷36×4+2.5×4÷0.5 –10

= 3×4 +2.5×
4

0.5
–10

= 12 + 20 – 10 = 22

SSC CGL Tier-I (2018)
{13/06/2019} All Shifts

19. (d)21.6÷3.6×2 + 0.25×16 ÷ 4–6

=
21.6

3.6
× 2 + 0.25 ×

16

4
– 6

= 12 + 1– 6 = 7
20. (c) 15.2 +5.8÷2.9×2–3.5×2÷0.5

use 'BODMAS' operations

= 15.2+2×2–3.5×
2

0.5
= 15.2 + 4 – 14
= 5.2

21. (c) 9
3

4
÷ [2

1

6
÷ {4

1

3
– (2

1

2
+

3

4
)}]

use 'BODMAS' operations

=
39

4
÷

13 13 5 3
–

6 3 2 4

   
       

=
39

4
÷

13 13 13
–

6 3 4

  
     

=
39

4
÷

13 12

6 13

 
  

=
39

4
×

1

2
=

39

8
SSC CGL Tier-I (2018)

{13/06/2019} All Shifts

22. (c)
3 1 1 1 3

9 2 4 2
4 6 3 2 4

                
Use BODMAS Operations


39 13 13 13

4 6 3 4

   
    
    


39 13 13

4 6 12

 
  
  

= 
39 13 12

4 6 13

 
   


39

2
4

 
47

4

SSC CGL Tier-I (2019)
{03/03/2020} All Shifts

23. (c)
42 –12 3 8 2 15

8 2 – 4 9 3

   

  
Change sign according to
question.

42 12 3 – 8 2 –15

8 2 4 – 9 3

  

  

46 – 31

8 – 27
=

15
–
19

24. (b)
1

18 2of
4

 
  
 

×
2 3 5

3 4 8

 
   
 

÷

2 3 3
of

3 4 4

 
  
 

36 ×
5

9
÷

32

27
=

7
16

8

25. (c) 
–5 3 1

6
2 2 2

  

–5

2
 +

3

2 6 2 

–60 3

24


=

–57

24
=

–19

8
26. (a) a² – b² = (a+b) (a+b)

= (a+b–c+d)² – (a–b+c–d)²
= (a+b–c+d+a–b+c–d) (a+b–
c+d–a+b–c+d)
= (2a) (2b–2c+2d)
= 4a (b+d–c)

27. (a) 36÷42 of 6×7+24×6÷18+3÷

(2 – 6) – (4 3 2) 8

21 3 of 7

  



= 

1
1 24 3 (–4) – (10) 8

3
1

    

= 9 – 
3

4
 – 

10

8

= 
72 – 6 –10

8
 = 

56

8
 = 7

SSC CGL Tier-I (2019)
{04/03/2020} All Shifts

28. (b) 
7 – [4 3(2 – 2 2 5) – 8] 5

2 2 of (4 4 4 of 4)

   

  

= 
7 – [4 9 – 8] 5

17
2 2 of

4

 
 
   
 

= 
6

17
2

2


= 
6 17

4



= 
51

2
= 25

1

2

29. (a) 2

³ – ³

[( ) – 3 ]

x y

x x y xy
÷

2

3 3

[( – ) +3 ]



y x y xy

x y
×

( )² – ( – )²

² – ²

x y x y

x y

=
( – )( ² ² )

[ ² ² – ]

 



x y x y xy

x x y xy
×

( )( ² ² – )

[ ² ² ]

 

 

x y x y xy

y x y xy
×

4

( )( – )

xy

x y x y
 = 4

30. (a) Put x = 1

P = 
4 – 8

³ – ² – 2

x x

x x x
 = 

1– 8

1–1– 2

= 
–7

–2
 = 

7

2

Q = 
² 2 1

² – 4 – 5

 x x

x x
 = 

1 2 1

1 – 4 – 5

 

4

–8
 = –

1

2

R = 
2 ² 4 8

– 5

 x x

x
= 

2 4 8

1– 5

 

= 
14

–4
 =

–7

2

P Q

R


= 

7 1
–

2 2
–7

2




1

2

31. (b)
1 2 1 1 7 9 9

5 3 of 5 – 7 9
2 3 4 9 8 20 11

1
5 5of –10 10 20

10

 
     
 

  

=

11 11 1 46 63 189 9
of –

2 2 4 9 8 20 11
1

5 – 5
2

   



=

11 11 46 5 9
–

2 8 9 6 11

5

 
    
 

=

77 9
4

18 11
5

 

=
15

2 5




3

2
=1

1

2

32. (b) 8 [(8­3) {(4 4 of 8)

4 – 4 4 8} – 2]

8 8 4 – 8 8 of 2 – 7

  

  

  

= 

1
8 5 2 – 2

8

16 – – 7
2

   
    
    



= 

17
8 5 – 2

8
32 –1 –14

2

 
  
  

= 

6
8

17
17

2



= 
8 17 2

6 17


 =

8

3
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SSC CGL Tier-I (2019)
{05/03/2020} All Shifts

33. (b)Put, x = 2, y = 1

P =
9

7
, Q =

3

7
, R =

10

3

 P÷Q×R = 
9

7
×

7

3
×

10

3
= 10

Go through option:­(b)
2(x2+y2) = 2(4+1) = 10

Alternatively:-

³ ³

( – )² 3

x y

x y xy




÷

2( ) – 3

³– ³

x y xy

x y



× 
( )² ( – )²

²– ²

x y x y

x y

 

= 
( )( ² ² – )

²+ ² – 2 3

x y x y xy

x y xy xy

 


÷

²+ ² 2 – 3

( – )( ² ² )

x y xy xy

x y x y xy



  ×
2( ² ²)

( )( – )

x y

x y x y





= 
( )( ² ² – )

² ²

x y x y xy

x y xy

 

 
×

( – )( ² ² )

( ² ² – )

x y x y xy

x y xy

 


× 

2( ² ²)

( )( – )

x y

x y x y




= 2(x² + y²)

     
   

² ² 2 ² ²

² – ² 4

x y x y x y

x y x y xy

    

  

34. (c)

2 11 2 1 1 3 4
3 of – of2 4

3 30 3 4 2 5 5
2 1 3 3 1 1

of7 – 1 2
5 2 4 4 2 4

  

  

= 

11 11 5 3 24
–

3 45 8 5 5
3 3 3 9

3 –
4 4 2 4

  

  

= 

5 5 24
15 –

8 3 5
3 2

4 –
4 3

 



= 
10

7/2
 = 

20

7
 = 2

6

7
35. (c) 2 3

2 2

²( 4) ( ² 4 )

( 4) 4 ( 4)

 


  

x x x x

x x x
3

2

64

16






x

x

= 

2 2

3

²( 4) ( 4)

² 8 16 4 ³( 4)

 


   

x x x

x x x x x

×
34 ³

4² ²





x

x

= 

2 2

3

²( 4) ( 4)

² 4 16 ³( 4)

 
 

  

x x x

x x x x

(4 )(16 4 ²)

(4 )(4 )

x x x

x x

  

 

= – )

+4

( 4

x

x x

Alternatively-Put, x =1
2 2

2 3

1(1 4) (1 4) 64 1

(1 4) 4 1 (1 4) 16 1

  
 

    

9 25 63

21 27 15
 


= 
5

3



Not put x = 1 in option (3)

– 5

– 3




( 4)

( 4)

x

x x ...satisfied

36. (c)
3 7 1

1 1
5 8 3
  of

3
­

16

1 1 1
3 ÷4 of 5

5 2 3

 
  
 

×
1 1 1 1

2
2 2 8 4
  

  
3 15 12

5 8 48
  

16 9 16

5 2 3

 
   
 

5 1 1

2 2 2
  


3 15 16

4 24
5 8 5

 
     
 

5
1

2
 


9 2 5

1
2 15 2

 
    
 


9 2 5

1
2 15 2
  


9 1 27 2 6

1
2 3 6

 
  


31

6
=

1
5

6

37. (a)– 1 + 
1

4
 ÷ 

1

2
 × 2 + 5

  – 1+ 
1

4
 × 2 × 2 + 5

  –1 + 1 + 5

  5

SSC CGL Tier-I (2019)
{06/03/2020} All Shifts

38. (a) [(30 5) (84 6)] 5

2
18 [4 2]

3

   
 

   
  

Change sign according to que.

= 

 

 

  

 
    

30 5 – 84 6 5

2
18 4 2

3

=
 6 –14 5

12 8




= 

–40

20
= –2

39. (c) 113×87
(110+3)×87 = (1002–132)
9570+261 9831

Alternatively:-
(100+13)(100–13)
10000 – 169 = 9831

40. (d)
4 1

2 1
3 6
  

= 
4

3
×6×2–1 = 15

41. (d) 
   

 

54 – (5 2) 8 13

48 – 4 3 8 – 2

=





34 13

4
48 – 8 – 2

3

=

47

38
48 –

3
 = 

47 3

106




141

106

SSC CGL Tier-I (2019)
{07/03/2020} All Shifts

42. (b)3–(9–3 × 8÷2)
= 3–(9–12)
= 3 – (–3)
= 6

43. (a) (151)2 – (149)2

 a2–b2 = (a+b) (a–b)
= (151+149) (151–149)
= 300×2
= 600

44. (a)1
1

8
÷ 

1 3 1
4 of 8

4 5 2

 
  
 

– 
2

5
 ×

1
1

3
 ÷ 

4

5
 of 1

2

3
 + 

11

20

  
9

8
÷ 

17 3 17
of

4 5 2

 
  
 

 –
2

5
 × 

4

3
 ÷

4

5
 of 

5 11

3 20



9

8
÷ 

17 5 2

4 3 17

 
   
 

 –
2

5
 × 

4

3
 ÷

20

15
+

11

20


9

8
÷ 

5

6

 
  
 

–
2

5
×

4

3
×

15

20
+

11

20

  
9

8
× 

6

5
 – 

2

5
 + 

11

20

= 
27

20
 – 

2

5
 + 

11

20

= 
27 – 8 11

20



= 
3

2
 = 1

1

2
45. (b)a³ + b³ + c³ – 3abc  = (a + b +

c)
(a² + b² + c² – ab – bc – ca)
In this question
a = a
b = b
c = 2c

a³ + b³ + (2c)³ – 3 × a × b × 2c
= a³ + b³  + 8c³ – 6abc

46. (b)5.6 – {2 + 0.6 of (2.1 – 2.6 ×
1.12)}
5.6 – {2 + 0.6 of (– 0.812)}
5.6 – {2 – 0.4872}
5.6–1.5128 = 4.0872
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47. (b)1800 ÷ 20 × {(12–6) + (24–
2)}
  1800 ÷ 20 × {6+12}


1800

18
20

  = 1620

48. (a)11 + 11 × 11 – 11 ÷ 11
= 11 + 121 – 1
= 131

49. (c) (26 –13×2) ÷ 2+1

= 
0

2
 + 1 = 1

50. (b)515 × 485
(500+15) (500–15)
= 250000 – 225 a2–b2=(a+b)(a–
b)
= 249775

Solutions
SSC CGL Tier-I (2020)

{13/08/2021} All Shifts
51. (d)20 ÷ 5 of 8 × [9 ÷ 6 × (6 – 3)]

– (10 ÷ 2 of 20)
Use 'BODMAS' operations

= 
1 9 1

2 2 4

 
 

  

= 
9 1

4 4


= 
8

4
= 2

52. (c) 3 ÷ 18 of 3 × 6 – 22 × 6 ÷ 18 –
3 ÷ 2 + 10 – 3 ÷ 9 of 3 × 9
Use 'BODMAS' Operations


3 22 3 3

6 10 9
54 3 2 27

     

= 
1 22 3

10 1
3 3 2
   

= 
2 44 9 60 6

6

   
=

3

6
=

1

2
53. (d)14–20×[7–{18÷2 of 3–(15–

25÷5×4)}]
= 14–20×[{18÷6–(–5)}]
= 14–20×[7–{3+5}]
= 14–20×[7–8]
= 14–20×(–1)
= 14+20
= 34

54. (b)90 ÷ 20 of 6 × [11 ÷ 4 of
{3 × 2 – (3 – 8)}] ÷ (9 ÷ 3 × 2)
Use BODMAS Operations
= 90 ÷ 20 of 6 × [11 ÷ 4 of {6 – (–
5)}] ÷ (9 ÷ 3 × 2)

= 90 ÷ 20 of 6 ×
1

4

 
 
  

 ÷ 6

= 
90 1 1

120 4 6
 

= 
1

32

SSC CGL Tier-I (2020)
{16/08/2021} All Shifts

55. (a)
52 1170 26 13 2

1 1
2 1 of2 1

8 4

   

 

  
52 45 26

9 5
2

4 4

 

 

  
78 45

3


   

33

3
  11

56. (a)3
5

6
 + 

2 15 4 1
3 5 14

3 4 5 2

   
       

= 
23

6
 + 

11 15 29 2

3 4 5 29

   
       

= 
23

6
 + 

11 3

3 2

 
 

 

= 
23

6
 + 

31

6

= 
54

6
= 9

57. (d)25 ÷ 15 of 4 × [4÷5×(9–7)] –
(20 ÷ 5 of 9)
Use BODMAS operations


25

60
 × 

4
2

5

 
 

 
 – 

20

45
 = 

2

9
SSC CGL Tier-I (2020)

{17/08/2021} All Shifts
58. (b)32÷12 of 3× [5–(15–12)÷9]

of 
3

7
+4–8÷2 of 4

Use 'BODMAS' operations

= 32÷12 of 3× 
1

5
3

 
  

 of 
3

7
+4–8

÷2 of 4

= 
32

36
×

14

3
×

3

7
+4–

8

8

= 
7

4
9

59. (c) 5
1

5
÷

1 5 3 1 4
3

2 6 5 10 15

   
         

= 
26

5
÷

7 5 18 3 8

2 6 30

     
       

= 
26

5
÷

7 5 13

2 6 30

  
   
  

= 
26

5
÷ 

7 12

2 30

 
  

= 
26

5
÷ 

93

30

= 
26

5
×

30

93

= 
52

31

60. (d)
7 1 1

 of 
16 2 5

 
   ×

4

5
–

1

3
×

5

8
÷

1

2
+

3

4

= 
7

10
16

 
   ×

4

5
–

1

3
×

5

4
+

3

4

= 
35

8
×

4

5
–

5

12
+

3

4

= 
7

2
–

5

12
+

3

4

= 
42 5 9

12

 
= 

46

12
= 

23

6

61. (c)
108 108 108 92 92 92

108 108 92 92 108 92

    

    
[a3 – b3 = (a–b)(a2+b2+ab)]

= 
3 3

2 2

a b

a b ab



 

= 
2 2

2 2

(a b)(a b ab)

a b ab

  

 
 = a – b

= 108 – 92 = 16

SSC CGL Tier-I (2020)
{18/08/2021} All Shifts

62. (d)18÷[26–{25–(15–5)÷2}] of
12+2–2÷4×16
Use 'BODMAS' operations
= 18÷[26–20] of 12+2–2÷4×16

= 
18

72
+2–2÷4×16

= 
1

4
+ 2 – 

1

2
 × 16

= 
1

4
– 6

= –
23

4

63. (c)
   2 2
375 125 125 375

375 375 125 125

  

  

= 
   22 2

2 2

a b b a

a b

  



=    

2 2 2 22 2a b ab b a ab

a b a b

    

 

= 
4 375 125

500 250

 



= 
3

2
64. (c) 6 ÷ 4 of 3 – 4 ÷ 6 × (13–10)–2

× 15 ÷ 6 × 6
Use 'BODMAS' operations

= 
6

12
–4÷6×3–2×15÷6×6

= 
6

12
–

4

6
×3–2×

15

6
×6

= 
1

2
–2–30 = –31

1

2
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65. (a)441÷
3 1 1 5

270 17 8
7 3 2 2

    
            

= 441÷[630+51–6] = 
49

75
SSC CGL Tier-I (2020)

{20/08/2021} All Shifts
66. (c) 3 × 8 ÷ 9 of 6 – 2 ÷ 3 × (5–2) ×

2 + 18 ÷ 3 of 3
Use 'BODMAS' operations
= 3×8÷54–2÷3×(3)×2+18÷9

= 3×
8

54
–

2

3
×3×2+2

= 
4

9
–4+2

= 
4

9
–2

= –1
5

9
67. (a)15÷3 of 2×4+9÷18 of 2×3–

4÷8×2
Use 'BODMAS' operations

= 
15

6
×4+

9

36
×3–

4

8
×2

= 10+
3

4
–1

= 9
3

4
68. (c) 8÷4 of 2–15÷2 of 5–6÷5×(–

7+5) of 2
Use BODMAS operations

= 
8

8
–
15

10
–

6

5
×(–4)

= 1–
3

2
+

24

5

= 
43

10
= 4

3

10
SSC CGL Tier-I (2020)

{23/08/2021} All Shifts
69. (a)7×4÷21 of 4–5÷4×(9–13)+2–

2÷8
Use BODMAS

= 7×
4

84
–

5

4
×(–4)+2–

1

4

= 
1

3
+5+

7

4

= 
4 60 21

12

 
=

85

12
= 7

1

12

70. (b)423÷
3 1

270 35 17
7 3

  
       

–
1 5

8
2 2

 
  

= 423÷[630×35+51–6]
= 423(22050+45)
= 423÷22095

= 
47

2455

71. (b)54÷16 of 3×[12÷4 of {6×3÷(11–
2)}]÷(12÷8×2)
Use BODMAS operations
= 54÷48[12÷4 of 2]÷3

= 
54

48
×

12

8
×

1

3
 = 

9

16
SSC CGL Tier-I (2020)

{24/08/2021} All Shifts

72. (a)3
1

5
÷4

1

2
 of 5

1

3
–

1

8
÷

1

2
 of

1

4
+

1

4

1 1 1

2 8 4

 
   

= 
16

5
÷24–

1

8
÷

1

8
+

1

4
 (1)

= 
16

5
×

1

24
–

1

8
×8+

1

4

= 
2 3

–
15 4

= –
37

60

73. (b)
7

12
÷

1

10
o f

2

3
–

5

3
×

9

10
+

5

8
÷

3

4
of

2

3

= 
7

12
÷

1

15
–

5

3
×

9

10
+

5

8
÷

1

2

= 
7

12
×15 – 

3

2
+

5

4

= 
35

4
 – 

3

2
 + 

5

4

= 
34

4
 = 8

1

2

74. (c)
3 1 1 2

of
4 4 4 5

 
    ÷

3 2 3
of

4 3 5

 
  

= 
3 1

10
4 4

 
     ÷ 

3 5

4 2

 
  

= –
7

4
 × 

8

15
 = –

14

15
SSC CGL Tier-I (2021)

{11/04/2022} All Shifts

75. (c)
372

56
×7–5+2

= 46.5–5+2

= 43.5 = 43
1

2

76. (b)
80

35


×16+4–4

= 28×16
= 448

77. (c) 7 16 3 21 11

2 3 4 4 2 7 2
3 5 13

2 3 2

   
 

 

= 

7 11
21

2 2
5 13

2 2

 


÷7×2

= 
19

4
÷7×2

= 
19 1

2
4 7

  

= 
19

14



= –1
5

14

SSC CGL Tier-I (2021)
{12/04/2022} All Shifts

78. (a)
5 – 35 5 15 5

12 – 2

  

= 
5 7 15 5

10

  

= 
5 105 5

10

 
 = –9.5

79. (c) 40÷5 of 2× [18÷6×(12–9)of 5–
(3–8)]÷25
= 40÷10×[3×15+5]÷25
= 4×50÷25
= 4×2
= 8

80. (b)
2 3

7 8
 

1 1 1
2 3 of1

4 2 3


  


17 1 3
1 3 1

40 5 8

               

= 
2

7
–

3

8

9 14 57 57

4 3 40 40

 
    

= 
2

7
–

3

8
–

9 3

4 14

 
  

= 
2

7
–

3

8
–

27

56

= 
16 21 27

56

 

= 
32

56



= 
–4

7
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SSC CGL Tier-I (2021)
{13/04/2022} All Shifts

81. (a) 5 1 –
5

x    – (5 – x) –
1

200
 of (20

– x) = 0.08

5–x–5+x–
1

10
+

200

x
=

8

100

200

x
= 

8

100
+

1

10

200

x
=

18

100
x = 36

82. (c)

 

   

2

2 2

48.3× 4.95 +4.95×13.25

12.55 – 5.65 ×19.8

 
  

 
  

= 
48.3 4.95[4.95 13.25]

18.2 6.9 19.8

 

 

= 
48.3 4.95 18.2

18.2 6.9 19.8

 

 
= 1.75

83. (d)25(3 + 4p) ÷ 12 of 5 – 3×8 = 6
25(3+4p)÷60–24 = 6

25(3 4p)

60


–24 = 30

75+100P = 1800
100P = 1725

P =
1725

100
 = 17

1

4
SSC CGL Tier-I (2021)

{18/04/2022} All Shifts

84. (a)
 

3
46 of 32 6

4
3

37 of 34 6
4

 

 

46 24 6

37 30

 


= 

64

7
85. (c) 15 + 6.3 ÷ 7 – 3 × 1.3 – 2

= 15+0.9–3.9–2
= 15.9–5.9 = 10

86. (a)
3 ÷1× 2 + 5 – 2

3 × 3 – 2

=
3 2 5 2

9 2

  


= 

6 3

7


= 

9

7
SSC CGL Tier-I (2021)

{19/04/2022} All Shifts

87. (c)

3 3 5 3
– – – of 4.8 – 0.9

8 8 8 8

1 1 3 1
4 ÷2.5×0.2÷ of 50+ –

6 5 4 8

              
    

=

3 3 2
of 4.8 0.9

8 8 8

25 5
2.5 0.2 10

6 8

  
    
  

   

= 

3 1
of 4.8–0.9

8 8
5 1 5

3 50 8

 
  

 
= 

1.2 0.9
1 5

30 8





= 

0.3

4 75
120
 =

36

79

88. (b)

      
 

 

3 1 7 5 6
9 ÷ of 9 + 6 × 4 – 2 + ÷ – +

7 5 25 8 16

24 ÷16 – 10 + 36 ÷ 5 + 20 ÷ 4 – 1

           

=

3 1 7
9 of 21 1

7 5 25

4 36 (5 5 1)

 
     

   

=

5
9 9 1

7

4 36 9

 
    
 

= 

2
1

7

4 4

 
   


= 
5

7
×

1

8
 =

5

56
89. (a)

2 5 4 1 2
1  ÷  × 6 +  × + 

3 6 5 2 3

1 3 3 3
1– 1 × – – 6  – 3 – 

3 5 5 10

                       

5 5 2 2
6

3 6 5 3
4 3 3 27

2 6
3 5 5 10

   

   
     

   

=

2 2
12

5 3
4 21

2 6
5 10

 

  
      

  

=
196

15
49

5



= 
–4

3
SSC CGL Tier-I (2021)

{20/04/2022} All Shifts
90. (c) [25 + 8 ÷ 2 – {16 + (14 of 7 ÷

14) – (18 ÷ 12 of 
1

2
)}]

= 25+4–{16+7–3}
= 29–20
= 9

91. (a)25 ÷ 10 – 
7 1

4 3

       of 
6 14

5 3


9 1 1

10 5 25

      

= 2.5–
7

10
+

42

10
+5

= 2.5–0.7+4.2+5
= 1.8+4.2+5
= 11

92. (d)

1 3 3 1 1
1 +1 ÷ 1 of1 ×2

2 7 5 4 3
2 4 5

2 ÷ × +14
3 9 6

    

= 

3 10 7
2

2 7 3
8 9 5

14
3 4 6

  

  
=

3 5

2 3
5 14




=

19

6
19

= 
19

6
×

1

19
=

1

6

SSC CGL Tier-I (2021)
{21/04/2022} All Shifts

93. (a)

1 1 4 3 1 1
4 +3 ×1 ÷3 6 of1

3 3 5 4 4 15

2 5 2
÷ ×

3 6 3

 
 
 

= 

13 10 9 4 25 16

3 3 5 15 4 15
2 6 2

3 5 3

 
     

 

 

= 

13 32

3 3
8

15


=

45

3
×

15

8

= 
225

8
= 28

1

8

94. (d)

3 3

2 2

(7.03) (0.3)

(7.03) 7.03 03 (0.3)



  

a3–b3 = (a–b)(a2+ab+b2)


3 3

2 2

a b

a ab b



 
= a–b

 7.03–0.3 = 6.73
95. (d)

1 1 5 3 4 5 2 1
5 ÷3 × – ÷ 3 ÷ of 6 of 1

4 2 12 16 7 14 3 3

                

=
21 2 5 3

4 7 12 16

  
    

  
÷

25 5 20
of 

7 14 3

 
 

 
of 

4

3

= 
5 3

8 16

 
 

 
÷

25 42

7 100

 
 

 
 of 

4

3

=
7

16
÷

3

2
of 

4

3

=
7

16
÷ 2 

7

32
96. (b) –5 + 5 + 625 ÷ 5 × 5

= –5+5+125×5
= 0+625
= 625

Tier-I
SSC CGL 2023

97. (d)
5 1 2 5 2 91

2 18 3 1 3 14

     
         

     

of 
28

9


5 10 13

6 3 3

 
  
 

 of 
28

9

  
5

–1
6
 of

28

9


5

36
 + 

28

9
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
5 112

36




117

36
= 

13

4
 = 

1
3

4

98. (c) 31 + 32 + 33 + ­­­­­­­ + 38

This is a G.P series

r =  
23

31
= 3

Sum = 

nr 1
a.

r 1

 
 

 

= 

83 1
3

3 1

 
 

 

= 
6561 1

3
2

 
 
 

= 3 × 
6560

2

= 3 × 3280 = 9840

99. (a) 277 × 323

(300 – 23) × (300 + 23)

(300)2 – (23)2

90000 – 529

=  89471

[a2 – b2 = (a + b) (a – b)]

100.(d) a2 – b2 = (a + b) (a – b)

2 23.35 1.25

3.35 1.25






(3.35 1.25)(3.35 1.25)

3.35 1.25

 



2.10

101.(b) (a + b)2 – (a – b)2  =  4ab


2 2(326 222) (326 222)

326 222

  




4 326 222

326 222

 



4

102.(c) a3 +b3 = (a + b) (a2 + b2 + ab)

2 2

3 3

432 247 432 247

(432 247 )

  




2 2

2 2

(432 247 432 247)

(432 247)(432 247 432 247)

  

   


1

(432 247)


1

679

103.(d)
 

48 2 42
88 42 13 84

16 11

232

   
          

   


 85 4 29

232

  


85 116

232




–31

232

104.(a)
17.2

7.5 59.5
8.6

   of 
1 7

7 2


of 5

7.2 × 2 + 8.5 – 
35

2

15 + 8.5 – 17.5

23.5 – 17.5

6

105.(a)  0.08 3.5 4.9 0.1    

  0.08 1.5   

  0.08 1.5

 1.58

106.(a)   264 – 142 75 38 4    

  264– 142 75 34   

  264– 142 109

 264 33

231

107.(a) 

a 2 2

a 2

4 4 5

4 15 2

   
  



24 (11)

(11)


108.(a) 720 915 1104 111
m 160

8 15 16 37
    

90 + 61 – m + 160 = 69 × 3

311 – m = 207

m = 311– 207 = 104

109.(b)  7P 3q 8p 4q 10p     

  7P 3q 18p 4q    

 7P – [3q – 18p + 4q]

  7P 7q 18p 

7p – 7q + 18p

11p – 7q

110.(c)6 – (3 – 3 + 5) ×[{3 –1} × 5–6 }]

6 – 5 × [2 × 5 – 6 ]

6 – 5 × [2 × 5 – 6]

1 × [10 – 6]

1 × 4 = 4
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Tier-I
SSC CGL 2021

SSC CGL Tier-I (2021)
{11/04/2022} All Shifts

1. LCM of two numbers is 56
times their HCF, while the
sum of their HCF and LCM be-
ing 1710. If one of the two num-
bers is 240, then what is the
other number?

nks la[;kvksa dk y?kqÙke lekiR;Z (LCM)

muds egÙke lekiorZd (HCF) dk 56

xquk gS] muds HCF vkSj LCM dk ;ksx
1710 gSA ;fn nks la[;kvksa esa ls ,d 240

gS] rks nwljh la[;k dkSu&lh gS\
(a) 57 (b) 171

(c) 1680 (d) 210

SSC CGL Tier-I (2021)
{12/04/2022} All Shifts

2. Six bells begin to toll together
and toll, respectively, at inter-
vals of 3,4,6, 7, 8 and 12 sec-
onds. After how many seconds,
will they toll together again?

6 ?kafV;ka] tks fd Øe'k% 3, 4, 6, 7, 8

vkSj 12 lsdaM ds varjky ij ctrh gS] ,d
lkFk ctuk 'kq: djrh gSaA fdrus lsdaM ds
ckn] os fiQj ls ,d lkFk ctsaxhA
(a) 167 (b) 168

(c) 176 (d) 186
3. A and B are two prime num-

bers such that A >B and their
LCM is 209. The value of A2 -B
is:

A vkSj B ,slh nks vHkkT; la[;k,¡ gS fd A
> B gS vkSj mudk y-l-o- (LCM) 209

gSA A2 – B dk eku fdruk gksxk\
(a) 350 (b) 372

(c) 361 (d) 339

SSC CGL Tier-I (2021)
{13/04/2022} All Shifts

4. 13, a, b and c are four distinct
numbers and the HCF of each
pair of numbers (13, a) ; (13, b)
; (13,c) is 13, where a, b, c are
each less than 60 and a < b <

c. What is the value of 
a+c

b
?

13, a, b, c pkj vyx&vyx la[;k,a gSa
vkSj la[;kvksa ds izR;sd tksM+s (13,a) ;

(13,b) ; (13,c) dk e-l- 13, gS] tgka a,

b, c izR;sd 60 ls de gS vkSj a <b <c

gSA 
a+c

b
dk eku D;k gS\

(a) 3.5 (b) 2
(c) 5 (d) 4.5

SSC CGL Tier-I (2021)
{18/04/2022} All Shifts

5. LCM of two numbers is 22
times their HCF. If one of the
numbers is 132 and the sum
of LCM and HCF is 276, then
what is the other number?
nks la[;kvksa dk y?kqÙke lekioR;Z (LCM)

muds egÙke lekiorZd (HCF) dk 22

xquk gSA ;fn ,d la[;k 132 gS vkSj LCM

vkSj HCF dk ;ksx 276 gS] rks nwljh la[;k
D;k gS\
(a) 24 (b) 30
(c) 25 (d) 20

SSC CGL Tier-I (2021)
{19/04/2022} All Shifts

6. Three numbers are in the
proportion of 3 : 8 : 15 and their
LCM is 8280. What is their
HCF?

rhu la[;k,¡ 3 % 8 % 15 ds vuqikr esa gS
vkSj mudk y?kqÙke lekioR;Z 8280 gSA
mudk egÙke lekiorZd D;k gksxk\
(a) 60 (b) 69
(c) 76 (d) 57

7. What is the LCM of 3.6, 1.8 and
0.144?
3.6, 1.8 vkSj 0.144 dk y?k qÙker
lekioR;Z D;k gS\
(a) 3.6 (b) 36
(c) 3600 (d) 360

SSC CGL Tier-I (2021)
{21/04/2022} All Shifts

8. LCM and HCF of two numbers
are 90 and 15, respectively. If
the sum of the two numbers is
75, then find the greater
number.

nks la[;kvksa ds y-l-vkSj e-l- Øe'k% 90

vkSj 15 gSaA ;fn nksuksa la[;vksa dk ;ksx 75

gS] rks cM+h la[;k Kkr dhft,A
(a) 45 (b) 90
(c) 75 (d) 60

Tier-I
SSC CGL 2022

9. The HCF of two numbers is 12.
Which one of the following can
never be their LCM?

nks la[;kvksa dk egÙke lekiorZd 12 gSA
fuEufyf[kr esa ls dkSu&lk mudk y?kqÙke
lekioR;Zd Hkh ugha gks ldrk gS\

(a) 72 (b) 60

(c) 90 (d) 84

10. What is the ratio between the
HCF and LCM of the numbers
whose LCM is 48 and the
product of the numbers is 384?

mu la[;kvksa ds egÙke lekiorZd vkSj y?kq
lekioR;Z ds chp dk vuqikr D;k gS ftudk
y?kqÙke lekioR;Z 48 gS vkSj la[;kvksa dk
xq.kuQy 384 gS\

(a) 1 : 4 (b) 1 : 6

(c) 1 : 3 (d) 2 : 5

11. Two numbers are in the ratio
of 6 : 5. If their HCF is 3, then
what is the LCM of the two
numbers?

nks la[;k,¡ 6 : 5 ds vuqikr esa gSaA ;fn mudk
egÙke lekiorZd 3 gS] rks nksuksa la[;kvksa dk
y?kqÙke lekiorZd fdruk gksxk\

(a) 64 (b) 110

(c) 90 (d) 80

12. The ratio of two numbers is
5 : 4 and their HCF is 4. What
is their LCM?

nks la[;kvksa dk vuqikr 5 : 4 gS vkSj mudk
egÙke lekiorZd 4.  gSA mudk y?kqÙke
lekioR;Z D;k gS\

(a) 80 (b) 48

(c) 36 (d) 60

13. What is the largest common
divisor of the numbers 1026,
2268 and 2430?

la[;k 1026, 2268 vkSj 2430 dk egÙke
lekiorZd D;k gS\

(a) 108 (b) 54

(c) 81 (d) 27

LCM & HCF
y?kqÙke lekorZd vkSj egÙke lekorZd

3
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14. What will be the least number
which when doubled will be
exactly divisible by 15, 18, 25
and 32?

og NksVh ls NksVh la[;k D;k gksxh ftls nksxquk
djus ij og 15, 18, 25 vkSj 32 ls iw.kZr%
foHkkT; gks tk,xh\

(a) 3600 (b) 7200

(c) 6400 (d) 3200

15. The HCF of two numbers 2040
and 391 is:

nks la[;kvksa 2040 vkSj 391 dk egÙke
lekiorZd D;k gS\

(a) 17 (b) 21

(c) 16 (d) 18

16. Three numbers are in the ratio
of 2 : 3 : 5 and their LCM is 90.
Find their HCF.

rhu la[;k,¡ 2 : 3 : 5 ds vuqikr esa gS vkSj
mudk y?kqÙke lekioR;Z 90 gSA mudk egÙke
lekiorZd Kkr dhft,A

(a) 9 (b) 1

(c) 6 (d) 3

17. Calculate the HCF of 
12 14

,
5 15

and 
16

17
.

12 14
,

5 15
 vkSj 

16

17
ds egÙke lekiorZd dh

x.kuk djsaA

(a)
4

255
(b)

3

255

(c)
2

255
(d)

1

255
18. What is the HCF of 36 and 198?

36 vkSj 198 dk egÙke lekiorZd Kkr
djsaA

(a) 36 (b) 22

(c) 18 (d) 9

19. The LCM of two numbers is 120
and the numbers are in the
ratio 3 : 8. The sum of the
numbers will be:

nks la[;kvksa dk y?kqÙke lekioR;Z 120 gS
vkSj la[;k,¡ 3 : 8 ds vuqikr esa gSaA la[;kvksa
dk ;ksx Kkr djsaA

(a) 48 (b) 55

(c) 45 (d) 6

20. The HCF of two numbers 110
and 1980 is:

nks la[;kvksa 110 vkSj 1980 dk egÙke
lekiorZd D;k gS\

(a) 140 (b) 110

(c) 120 (d) 180

21. The LCM of the two numbers
is 4104 and the HCF is 9. If one
of the numbers is 171, find the
other.

nks la[;kvksa dk yli 4104 vkSj eli 9
gSA ;fn la[;kvksa esa ls ,d la[;k 171 gS]
rks nwljh la[;k Kkr dhft,A

(a) 218 (b) 215

(c) 220 (d) 216

22. Choose the correct statement
from the following.

fuEufyf•r esa ls lgh dFku pqusaA
(a)HCF is the least common
multiple of the given numbers.

,plh,iQ nh xbZ la[;kvksa esa lcls NksVk
lkekU; xq.kt gSA
(b) HCF of two or more numbers
is the highest number which
perfectly divides all the given
numbers.

nks ;k nks ls vf/d la[;kvksa dk ,plh,iQ
og mPpre la[;k gS tks nh xbZ lHkh la[;kvksa
dks iw.kZr% foHkkftr djrh gSA
(c) HCF is also called the least
common divisor.

,plh,iQ dks lcls NksVk lkekU; foHkktd
Hkh dgk tkrk gSA
(d) In prime factorisation
method of HCF, the multiples
of all the given numbers are
listed.

,plh,iQ dh vHkkT; xq.ku•aMu fof/ esa] nh
xbZ lHkh la[;kvksa ds xq.kt lwphc¼ gksrs gSaA

23. The sum of two numbers is 18
and their HCF and LCM are 3
and 54 respectively. What will
be the sum of their
reciprocals?

nks la[;kvksadk ;ksx 18 gS vkSj mudk egÙke
lekiorZd vkSj y?kqÙke lekioR;Z Øe'k% 3
vkSj 54 gSA muds O;qRØeksa dk ;ksx D;k
gksxk\

(a)
1

7
(b)

1

11

(c)
1

6
(d)

1

9
24. What is the LCM of (8x³ + 80x²

+ 200x) and (4x4 + 16x3 – 20x2)?

(8x³ + 80x² + 200x) vkSj (4x4 + 16x3

– 20x2) dk y?kqÙke lekioR;Z D;k gS\

(a) 8x² (x+5)² (x–1)

(b) 8x² (x–1)² (x+5)

(c) 4x² (x–1)² (x+5)

(d) 4x² (x+5)² (x–1)

25. Find the least number exactly
divisible by 9, 24 and 36.

og NksVh ls NksVh la[;k Kkrdjsa] tks 9, 24

vkSj 36 ls iw.kZr% foHkkT; gksA

(a) 72 (b) 36

(c) 24 (d) 9

26. Find the LCM of 186.6 and
373.2.

186.6 vkSj 373.2 dk y?kqÙke lekioR;Z
Kkr djsaA

(a) 373.2 (b) 398.2

(c) 186.6 (d) 276.6

27. If the HCF of two numbers is 8,
then which of the following can
NEVER be their LCM?

;fn nks la[;kvksa dk egÙke lekiorZd 8 gS]
rks fuEu esa ls dkSu&lk mudk y?kqÙke
lekioR;Zd Hkh ugha gks ldrk gS\

(a) 56 (b) 48

(c) 42 (d) 40

28. The HCF of three numbers 105,
335 and 465 will be:

rhu la[;kvksa 105, 335 vkSj 465  dk
egÙke lekiorZd Kkr djsaA

(a) 11 (b) 5

(c) 7 (d) 3

29. The HCF of 222, 642 and 1062
is ____.

222, 642 vkSj 1062 dk egÙke lekiorZd
____ gSA

(a) 6 (b) 8

(c) 4 (d) 2

30. Find the HCF of 4.08 and 6.63.

4.08 vkSj 6.63 dk egÙke lekiorZd Kkr
djsaA

(a) 0.50 (b) 0.52

(c) 0.51 (d) 0.53

31. If the HCF of xy³, x²y and x3y4 is
xy, then their LCM is ________.

;fn xy³, x²y and x3y4 dk egÙke
lekiorZd] xy gS rks mudk y?kqÙke lekioR;Z
________. gSA

(a) x3y4 (b) x3y3

(c) x4y3 (d) x4y4

32. The LCM of 96, 136 and 504 is:

96, 136 vkSj 504 dk y?kqÙke lekiorZd
D;k gS\

(a) 34272 (b) 36548

(c) 25872 (d) 28564

33. The LCM of 144, 360 and 450
is:

144, 360 vkSj 450 dk y?kqÙke lekioR;Z
Kkr dhft,A

(a) 4800 (b) 3600

(c) 7200 (d) 2400
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34. Find the greatest common

multiple of 
1 3 5

, ,
2 4 6

 and 
7

8
.

1 3 5
, ,

2 4 6
vkSj 

7

8
dk egÙke lekiorZd Kkr

djasA

(a)
105

2
(b)

1

24

(c)
7

24
(d)

1

48

35. The LCM of 
3 5

,
8 16

and 
7

2
is:

3 5
,

8 16
 vkSj 

7

2
dk y?kqÙke lekioR;Z D;k

gS\

(a)
1

101
2

(b)
1

52
2

(c)
1

28
2

(d)
1

25
4

36. The HCF of two numbers is 21
and their LCM is 840. If one of
the numbers is 49, then the
other number is:

nks la[;kvksa dk egÙke lekiorZd 21 gS
vkSj mudk y?kqÙke lekioR;Z 840 gSA ;fn
buesa ls ,d la[;k 49 gS] rks nwljh la[;k
D;k gksxh\

(a) 650 (b) 540

(c) 810 (d) 360

37. The LCM of 1.2 and 2.7 is:

1.2 vkSj 2.7 dk y?kqÙke lekioR;Z Kkr
djasA

(a) 5.4 (b) 10.8

(c) 1.08 (d) 32.4

38. The HCF of three numbers 98,
175 and 210 will be:

rhu la[;kvksa 98, 175 vkSj 210 dk
egÙke lekiorZd Kkr djsaA

(a) 6 (b) 3

(c) 5 (d) 7

39. Find the HCF of 60, 148 and
382.

60, 148 vkSj 382 dk egÙke lekiorZd
Kkr dhft,A

(a) 4 (b) 2

(c) 6 (d) 24

40. Determine the LCM of two
numbers if their HCF is 9 and
their ratio is 14 : 19.

nks la[;kvksa dk y?kqÙke lekioR;Z Kkr dhft,]
;fn mudk egÙke lekiorZd 9 gS vkSj
mudk vuqikr 14 : 19 gSA

(a) 2394 (b) 3990

(c) 1596 (d) 3192

41. The HCF of two numbers is 17
and the other two factors of
their LCM are 11 and 19. The
smaller of the two numbers is:

nks la[;kvksa dk HCF 17 gS vkSj muds
LCM ds vU; nks xq.ku•aM 11 vkSj 19

gSaA nksuksa la[;kvksa esa ls NksVh la[;k gS%

(a) 208 (b) 187

(c) 323 (d) 306

42. The HCF of three numbers 72,
108 and 2010 is:

rhu la[;kvksa 72, 108 vkSj 2010 dk
egÙke lekiorZd D;k gS\

(a) 18 (b) 6

(c) 12 (d) 5

43. The ratio of two numbers is
6 : 7 and their HCF is 3. Their
LCM is _____.

nks la[;kvksa dkvuqikr 6 : 7 gS vkSj mudk
egÙke lekiorZd] 3 gSA mudk y?kqÙke
lekioR;Z _____ gSA

(a) 124 (b) 128

(c) 122 (d) 126

Tier-I
SSC CGL 2023

44. If the LCM and the HCF of two
numbers are 12 and 2
respectively, then find the
mean proportional of these
numbers.

;fn nks la[;kvksa dk LCM vkSj HCF

Øe'k% 12 vkSj 2 gSa] rks bu la[;kvksa dk
ekè;kuqikfrd Kkr dhft,A

(a) 2 6 (b) 400

(c) 144 (d) 3600

45. Find the least number divisible
by 2, 3, 5, 6, 9 and 18, which is
a perfect square.

2, 3, 5, 6, 9 vkSj 18 ls foHkkT; lcls
NksVh la[;k Kkr dhft,] tks ,d iw.kZ oxZ gSA

(a) 900 (b) 400

(c) 144 (d) 3600

ANSWER KEY - LCM & HCF

1. (d) 2. (b) 3. (a) 4. (b) 5. (a) 6. (b) 7. (a) 8. (a) 9. (c) 10. (b)
11. (c) 12. (a) 13. (b) 14. (a) 15. (a) 16. (d) 17. (c) 18. (c) 19. (b) 20. (b)
21. (d) 22. (b) 23. (d) 24. (a) 25. (a) 26. (a) 27. (c) 28. (b) 29. (a) 30. (c)
31. (a) 32. (a) 33. (b) 34. (b) 35. (b) 36. (d) 37. (b) 38. (d) 39. (b) 40. (a)

41. (b) 42. (b) 43. (d) 44. (a) 45. (a)
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SSC CGL Tier-I (2021)
{11/04/2022} All Shifts

1. (d)LCM = 56 HCF
LCM+HCF = 1710
 56HCF+HCF = 1710

HCF = 
1710

57
= 30

 LCM = 56×30 = 1680
HCF × LCM = I × II
 30×1680 = 240×x
x = 210

SSC CGL Tier-I (2021)
{12/04/2022} All Shifts

2. (b)They will ring/toll together
after the LCM of (3, 4, 6, 7, 8
and 12) seconds.
LCM of 3, 4, 6, 7, 8 and 12
3  31

4  22

6  21×31

7  71

8  23

1223×31

 LCM = 22×31×71

= 8×3×7 = 168

3. (a)LCM = A×B = 209

11 19×

 A = 19 B = 11

A2–B = 361–11 = 350

SSC CGL Tier-I (2021)
{13/04/2022} All Shifts

4. (b)HCF of
(13, a) 13
(13, b)  13
(13, c)  13
 a, b, c will be multiple of 13
and less than 60.
 a, b, c  13, 26, 39 or 26,
39, 52 because a<b<c


a b

b


= 

13 39

26


or

26 52

39


= 2

SSC CGL Tier-I (2021)
{18/04/2022} All Shifts

5. (a)LCM = 22×HCF ...(i)
LCM + HCF = 276 ...(ii)
HCF = 12

 LCM = 22×12 = 264
 I×II = HCF×LCM
132×II = 12×264

II = 
12 264

132


= 24

SSC CGL Tier-I (2021)
{19/04/2022} All Shifts

6. (b)  I : I I : III
3x : 8x : 15x

LCM = 3×8×5×x = 120x
HCF = x
 120x = 8280

x = 
8280

120
= 69

 HCF = 69
7. (a)LCM of fraction=

LCM of numerator

HCF of Denominator

3.6 = 
36

10
=

18

5

1.8 = 
18

10
= 

9

5

0.144 = 
144

1000
= 

18

125

 LCM of 
18

5
, 

9

5
,

18

125
=

LCM of (18, 9, 18)

HCF of (5, 5,125) = 
18

5
= 3.6

SC CGL Tier-I (2021)
{21/04/2022} All Shifts

8. (a) I×II = LCM×HCF
I×II = 90×15
I×II = 1350
I+II = 

45 30

75

+
 45×30 = 1350
 greater no. = 45

Tier-I
SSC CGL 2022

9. (c) Let numbers are x, y

Their HCF = 12

 Their LCM = 12xy

 LCM will be multiple of 12.

 90 can never be their LCM

10. (b)HCF × LCM = I × II

HCF × 48 = 384

HCF = 
384

48
= 8

HCF 8

LCM 48
 1 : 6

Hints & Solutions (CGL)

11. (c) I : I I

Ratio 6 : 5

×3 : ×3

Numbers 18 : 15

 LCM of (18, 15) = 90

Or

LCM = 6 × 5 × 3 = 90

12. (a) I : I I

Ratio 5 : 4

×4 : ×4

Numbers 20 : 16

 LCM of (20, 16) = 80

Or

LCM = 5 × 4 × 4 = 80

13. (b)Largest common divisor =
HCF

1026, 2268, 2430
   

  162
HCF will be 162 or a factor of
162
 162

  

 2 × 81
 3 × 54

 HCF = 54

14. (a)LCM of (15, 18, 25, 32) 

15  3 × 5

18  2 × 32

25  52

32  25

 LCM = 25 × 32 × 52 = 7200

 After doubling 3600 it will be
divisible by 7200.

15. (a) 391 2040 5
1955

85

HCF will be a factor of 85.

 HCF = 17

16. (d)Let their HCF = x

 LCM = 2 × 3 × 5 × x = 30x

 30x = 90

x = 3

17. (c) HCF of fraction = 
HCF of num.

LCM of den.

=
HCF (12, 14, 16)

LCM(5, 15, 17)


2

255
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18. (c) 36 198 5
180

18

 HCF will be 18 or a factor of 18

 HCF = 18

19. (b)Let the numbers are 3x, 8x

 Their LCM = 24x

 24x = 120 x = 5

 Sum of the numbers =

3x + 8x = 11x = 11 × 5 = 55

20. (b) 110 1980 18
110

880
880
×

 HCF of 110 and 1980 is 110

21. (d)HCF × LCM = I × II

9 × 4104 = 171 × II

9 × 24 = II

 II = 216

22. (b)HCF of two or more numbers
is the highest number which
perfectly divides all the given
numbers.

23. (d)Let the numbers are 3x, 3y.

Their LCM = 3xy = 54

 xy = 18

Sum 3x + 3y = 18

x + y = 6

Sum of their reciprocals =

1 1

3 3


x y


1 1 1

3

 
  
 x y

1

3

 
 
 
 

x + y

xy

1 6

3 18
 

1

9
24. (a) (8x3 + 80x2 + 200x)

 8x (x2 + 10x + 25)

 8x (x + 5)2

Now, (4x4 + 16x3 – 20x2)

 4x2 (x2 + 4x – 5)

 4x2 (x + 5) (x – 1)

 LCM of 8x (x + 5)2 and 4x2

(x + 5) (x + 5)2 × (x –1) is =

8 × x2 × (x + 5)2 × (x – 1)

 8x2 (x + 5)2 (x – 1)

25. (a)LCM of (9, 24, 36) = 72

 The last number exactly
divisible by 9, 24, 36 is 72

26. (a)
373.2

2
186.6



 LCM of 186.6 and 373.2 is =
373.2

27. (c) The LCM of two numbers is
always a multiple of their HCF.

 LCM will be a multiple of 8.

 42 can no. be their LCM.

28. (b) 105 335 465

130230

100

5  × 20
 HCF = 5

29. (a) 222 642 1062

420420

6 × 70
7 × 60

 HCF = 6
30. (c) 4.08 6.63

2.55

5   × 0.51  
3   × 0.85

 HCF = 0.51

31. (a)LCM = Highest power of all
variables

= x3y4

32. (a)96  25 × 3

136  23 × 17

504  23 × 32 × 7

 LCM = 25 × 32 × 7 × 17

= 32 × 63 × 17

= 34272

33. (b)144  24 × 32

360  23 × 32 × 5

450  2 × 32 × 52

LCM = 24 × 32 × 52

  = 16 × 9 × 25

  = 3600

34. (b)HCF of fraction= 
HCF of num.

LCM of den.


HCF(1, 3, 5, 7)

LCM(2, 4, 6, 8)


1

24

35. (b)LCM of fraction=
LCM of num.

HCF of den.


LCM (3, 5, 7)

HCF (8, 16, 2)


105

2


1
52

2
36. (d)HCF × LCM = I × II

21 × 840 = 49 × II

II = 
21 840

49


 360

37. (b)1.2 31 × 0.4

2.7 32 × 0.3

LCM = 32 × 0.4 × 0.3

= 10.8

38. (d) 98, 175, 210

35

7 × 5
 HCF = 7

39. (b)

234

60, 148, 382

88

2 × 73

146

 HCF = 2

40. (a)LCM =14 × 19 × 19

= 2394

Alternatively:-

I : I I

Ratio 14 : 19

×9 : ×9

Numbers 126 : 171

 LCM of (126, 171) = 2334

41. (b) I : I I

Ratio 11 : 19

×17 : ×17

Numbers 187 : 323

 Smaller no. = 187

42. (b) 72, 108, 2010

36
HCF will be a factor of 36.

36 1, 2, 3, 4, 6, 9, 12, 18, 36

 HCF = 6

43. (d) I : I I

Ratio 6 : 7

×3 : ×3

Numbers 18 : 21

 LCM of (18, 21) = 126

Alternatively:-

LCM = 6 × 7 × 3 = 126

Tier-I
SSC CGL 2023

44. (a)LCM × HCF = I × II

 I × II = 12 × 2 = 24

Mean preportconal of two

numbers = I II

= 24

= 2 6

45. (a)LCM of 2, 3, 5, 6, 9, 18 

2  21

3  31

5  51

6  21 × 31

9  32

18  22 × 32

 LCM = 21 × 32 × 51 = 90

 Least perfect square no.
divisible by 90 is 900
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Tier-I
SSC CGL 2018

SSC CGL Tier-I (2018)
{04/06/2019}

1. The income of Raju is 20%
more than his expenditure. If
his income increased by 60%
and his expenditure increases
by 70%, then by what percent
does his saving increase/de-
crease ?

jktw dh vk; mlds O;; ls 20% vf/d gSA
;fn mldh vk; esa 60% vkSj mlds O;;
eas 70% dh o`f¼ gksrh gS] rks mldh cpr
fdrus izfr'kr c<+sxh@de gksxh\
(a) It decreased by 10%

10% de gksxh
(b) It decreased by 2%/2% de gksxh
(c) It increases by 10%/10%

c<+sxh
(d) It increases by 2%/2% c<+sxh

2. The income of A is 25% more
than that of B and the income
of C is 65% less than the sum
of the incomes of A and B. In-
come of C is what percent less
than the income of A?

A dh vk; B dh vk; ls 25% vf/d gS
vkSj C dh vk; A vkSj B dh vk; ds ;ksx
ls 65% de gSA C dh vk; A dh vk; ls
fdrus çfr'kr de gS\
(a) 28 (b) 32
(c) 35 (d) 37

SSC CGL Tier-I (2018)
{06/06/2019} All Shifts

3. The income of A is 50% more
than that of B. If the income of
A is increased by 40% and the
income of B is increased by
90% then the percentage in-
crease in their combined in-
come will be :

A dh vk; B dh vk; ls 50% vf/d gSA
;fn A dh vk; esa 40%  dh o`f¼ gqbZ gS vkSj
B dh vk; esa 90 % dh o`f¼ gqbZ gS]rks mudh
la;qDr vk; esa izfr'kr o`f¼ gksxh%
(a) 64 (b) 55
(c) 60 (d) 70

4. When the price of an item was
reduced by 20%, then its sale
increased by x%. If there is an
increase of 60% in the receipt
of the revenue, then the value
of x is:

tc fdlh oLrq dh ewY; esa 20% dh deh
gqbZ] rks mldh fcØh esa x% dh o`f¼ gqbZA ;fn
jktLo izkfIr esa 60% dh o`f¼ gqbZ gS] rks x
dk eku gS%
(a) 120 (b) 96
(c) 100 (d) 80

5. Sudha saves 15% of her in-
come. If her expenditure in-
creases by 20% and savings
increase by 60%, then by what
percent has her income in-
creased?

lq/k viuh vk; dk 15% cpkrh gSA ;fn
mldk O;; 20% c<+rk gS vkSj cpr esa
60% dh o`f¼ gksrh] gS] rks mldh vk; esa
fdrus izfr'kr dh o`f¼ gqbZ gS\
(a) 26 (b) 35
(c) 24 (d) 30

SSC CGL Tier-I (2018)
{07/06/2019} All Shifts

6. A is 20% less than B and C is
30% more than D. If D is 25%
less than A, then which of the
following is true?

A, B ls 20% de gS vkSj C, D ls 30%

vf/d gS ;fn D, A ls 25% de gS] rks
fuEu esa ls dkSu lk lgh gS\
(a)B = 0.39C (b) C = 0.78B
(c) B = 0.78C (d) C = 0.39B

7. The prices of two articles are
in the ratio 4 : 5. If the price of
the first article is increased by
x% and that of the other is de-
creased by 30%, then the new
prices of A and B will be in the
ratio 10 : 7. The value of x is:

nks oLrqvksa dh dhersa 4 : 5 ds vuqikr esa gSaA ;fn
igys dh dher esa x% dh òf¼ gqbZ gS vkSj nwljs dh
dher esa 30% dh deh gqbZ gS] rks A vkSj B dh
ubZ dhersa 10 : 7 ds vuqikr esa gksaxhA x dk eku gS%
(a) 24.5 (b) 22.5
(c) 25 (d) 20

8. Surbhi spends 75% of her in-
come. If her income increased
by 20% and savings decrease
by 1%, then the percentage in-
crease in her expenditure is:
lqjHkh viuh vk; dk 75% [kpZ djrh gSA
;fn mldh vk; 20% c<+ tkrh gS vkSj
cpr 1% ?kV tkrh gS] rks mlds O;; esa
fdrus izfr'kr dh o`f¼ gksrh gS\
(a) 27 (b) 2.2
(c) 22 (d) 2.7

SSC CGL Tier-I (2018)
{10/06/2019} All Shifts

9. The income of A is 40% more
than that of B. If A got a 25% rise
in his income and B got a 40%
rise in his income, then the per-
centage increase in the com-
bined incomes of A and B is :
A dh vk; B ls 40% vf/d gSA ;fn A dh
vk; esa 25% o`f¼ gksrh gS vkSj B dh vk;
esa 40% o`f¼ gksrh gS] rks A vkSj B ds la;qDr
vk; esa o`f¼ izfr'kr gS %
(a) 31.25 (b) 34.5
(c) 28.25 (d) 24.5

10. The price of sugar is increased
by 20% . A person wants to in-
crease his expenditure by 8%
only. By what percent should he
decrease his consumption ?
;fn phuh ds ewY; esa 20% dh o`f¼ gks tkrh
gSA vkSj dksbZ O;fDr vius [kpZ esa dsoy 8%

gh dh o`f¼ djuk pkgrk gS rks viuh [kir
esa fdrus izfr'kr dh deh djuh gksxh\
(a) 10% (b) 11%
(c) 9% (d) 12%

SSC CGL Tier-I (2018)
{11/06/2019} All Shifts

11. The price of sugar is increased
by 22%. A person wants to
increase his expenditure by
12% only. By what percent
should he decrease his
consumption nearest to one
decimal place?
;fn phuh ds ewY; esa 22% dh o`f¼ gks tkrh
gS vkSj dksbZ O;fDr vius [kpZ esa dsoy 12%

dh gh o`f¼ djuk pkgrk gS rks mls [kir esa
fdrus izfr'kr dh deh djuh gksxh\ (n'keyo
ds ,d LFkku rd)
(a) 10% (b) 7.8%
(c) 8.2% (d) 8.6%

PERCENTAGE
izfr'kr4
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SSC CGL Tier-I (2018)
{13/06/2019} All Shifts

12. If 85% of a number is added to
75, then the result is the num-
ber itself. The number is :

;fn fdlh la[;k esa 85% dks 75 esa tksM+k
tkrk gS rks ifj.kke ogh la[;k gSaA og la[;k gSa%
(a) 500 (b) 200
(c) 300 (d) 100

SSC CGL Tier-I (2018)
{19/06/2019} All Shifts

13. If 50% of the number is added
75, then result becomes the
same number, then the num-

ber is:

;fn fdlh la[;k ds 50% dks 75 esa tksM+k tkrk
gS] rks ifj.kke ogh la[;k gksrh gSA og la[;k gS%
(a) 400 (b) 100
(c) 250 (d) 150

Tier-I
SSC CGL 2019

SSC CGL Tier-I (2019)
{03/03/2020} All Shifts

14. If the length of a rectangle is
increased by 40% and the
breadth is decreased by 20%,
then the area of the rectangle
increases by x%. Then the
value of x is:
;fn fdlh vk;r dh yackbZ 40% rd c<+k
nh tkrh gS vksj pkSM+kbZ 20% rd ?kVk nh
tkrh gS rks vk;r dk {ks=kiQy x% c<+ tkrk
gS rks x dk eku D;k gS\
(a) 16 (b) 8
(c) 20 (d) 12

15. If the difference between 62%
and 80% of a number is 198,
then the difference between
92% and 56% of the number
will be:
;fn fdlh la[;k ds 62% vkSj 80% ds chp
dk varj 198 gS] rks ml la[;k ds 92% vkSj
56% ds chp dk varj Kkr dhft,A
(a) 1100 (b) 3564
(c) 396 (d) 360

SSC CGL Tier-I (2019)
{04/03/2020} All Shifts

16. Sonu saves 15% of her income.
If her income increases by
20% and she still saves the
same amount as before, then
what is the percentage
increase in her expenditure?
(correct to one decimal place)
lksuw viuh vk; dk 15% cpk ysrh gSA ;fn
mldh vk; esa 20% dh o`f¼ gksrh gS vkSj
og vc Hkh igys ftruh gh cpr djrh gks]
rks mlds [kpZ esa fdrus izfr'kr dh o`f¼ gqbZ
gSa\ (n'keyo ds ,d LFkku rd Kkr djsa)
(a) 22.8 (b) 23.5
(c) 23.8 (d) 24.2

17. The income of A is 60% less
than that of B, and the
expenditure of A is equal to
60% of B's expenditure. If A's
income is equal to 70% of B's
expenditure, then what is the
ratio of the savings of A and B?

A dh vk; B dh rqyuk esa 60% de gS] vkSj
A dk O;; B ds O;; ds 60% ds cjkcj gSA
;fn A dh vk;] B ds O;; ds 70% ds
cjkcj gS] rks A vkSj B dh cpr dk vuqikr
D;k gS\
(a) 3:8 (b) 5:9
(c) 4:7 (d) 2:15

18. A, B and C donate 8%, 7% and
9%, of their salaries,
respectively to a charitable
trust. The salaries of A and B
are same and the difference
between their donations is
`259. The total donation of A
and B is `1,185 more than that
of C. The total donation of A and
C is what percentage of the
total salaries of A, B and C?
(Correct to one decimal place)

A, B vkSj C vius osru dk Øe'k% 8%,

7% vkSj 9% fdlh /ekZFkZ VªLV dks nku
djrs gSaA A vkSj B dk osru leku gS vkSj
muds nku ds chp dk varj ̀ 259 gSA A vkSj
B dk dqy nku] C dh rqyuk esa `1,185

vf/d gSA A vkSj C dk dqy nku A, B vkSj
C ds dqy osru dk fdruk izfr'kr gS\
(n'keyo ds ,d LFkku rd lgh djsa)
(a) 6.2% (b) 5.8%

(c) 6.4% (d) 7.1%
SSC CGL Tier-I (2019)

{05/03/2020} All Shifts
19. In an examination in which

the full marks were 500, A
scored 25% more marks than
B, B scored 60% more marks
than C and C scored 20% less
marks than D. If A scored 80%
marks, then the percentage of
marks obtained by D is:

,d ijh{kk] ftlesa iw.kkZad 500 Fkk] A dks B
dh rqyuk esa 25% vf/d vad izkIr gq,] B
dks C dh rqyuk esa 60% vf/d vad izkIr
gq, vkSj C dks D dh rqyuk esa 20% de
vad izkIr gq,A ;fn A dks 80% vad feys
gksa] rks D dks fdrus izfr'kr vad feys\
(a) 65% (b) 60%
(c) 50% (d) 54%

20. A and B spend 60% and 75% of
their incomes, respectively. If
the savings of A are 20% more
than that of B, then by what
percentage is the income of A
less than the income of B?

A vkSj B viuh vk; dk Øe'k% 60% vkSj

75% [kpZ djrs gSaA ;fn A dh cpr] B dh

cpr dh rqyuk esa 20% vf/d gS] rks A dh

vk; B dh vk; ls fdrus izfr'kr de gSa\

(a) 15 (b) 20

(c) 10 (d) 25

21. The price of sugar is increased

by 20%. By what percentage

must one cut down on the

consumption of sugar, so that

no extra amount has to be

increased on sugar?

phuh dh dher esa 20% dh o`f¼ dh xbZ gSA

phuh dh [kir esa fdrus izfr'kr dh dVkSrh

dh tkuh pkfg,] ftlls phuh ij gq, O;; esa

dksbZ vfrfjDr o`f¼ u gks\

(a) 16
2

3
% (b) 20%

(c) 83
1

3
% (d) 80%

SSC CGL Tier-I (2019)
{06/03/2020} All Shifts

22. The population of a city

increased by 30% in the first

year and decreased by 15% in

the next year. If the present

population is 11,050 then the

population 2 years ago was:

,d 'kgj dh tula[;k igys o"kZ esa 30%

c<+h vkSj vxys o"kZ 15% de gks xbZA ;fn

orZeku tula[;k 11,050 gS rks 2 o"kZ igys

dh tula[;k fdruh Fkh\
(a) 10,000 (b) 99,500

(c) 99,000 (d) 10,050

23. In a school, 4% of the students

did not appear for the annual

exams. 10% of the students

who appeared for the exams

could not pass the exam. Out

of remaining students, 50%

got distinction marks and 432

students passed the exam but

could not get distinction

marks. The total number of

students in the school is:

,d Ldwy essa] 4% Nk=k okf"kZd ijh{kk ds
fy;s mifLFkr ugha gq,A ijh{kk esa 'kkfey gksus
okys 10% Nk=k ijh{kk esa mÙkh.kZ ugha gks
ldsA 'ks"k Nk=kksa esa ls] 50% us fMfLVad'ku
ds vad izkIr fd;s vkSj 432 Nk=kksa us ijh{kk
mÙkh.kZ dh] ysfdu mUgsa fMfLVad'ku vad ugha
feysA Ldwy esa Nk=kksa dh dqy la[;k gS\
(a) 878 (b) 1200

(c) 1000 (d) 960
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SSC CGL Tier-I (2019)
{07/03/2020} All Shifts

24. In an examination. Anita
scored 31% marks and failed by
16 marks. Sunita scored 40%
marks and obtained 56 marks
more than those required to
pass. Find the minimum
marks required to pass.
,d ijh{kk esa] vfurk dks 31% vad feys
vkSj og 16 vadks ls vuqRrh.kZ gks xbZA lquhrk
us 40% vad izkIr fd, vkSj mls vko';d
mÙkh.kZ ls 56 vad vf/d feysA mÙkh.kZ gksus
ds fy, U;wure vko';d vad Kkr djsA
(a) 3116 (b) 264
(c) 3944 (d) 7100

25. If radius of a circle is decreased
by 11%, then the total decrease
in the area of the circle is given
as:
;fn fdlh o`Ùk dh f=kT;k esa 11% dh deh
dh tkrh gS] rks o`Ùk ds {ks=kiQy esa gqbZ dqy
deh dks Kkr djsaA
(a) 20.79% (b) 19.50%

(c) 20.50% (d) 21%
26. Anu spends 68% of her monthly

income. If her monthly income
increase by 20% and her
monthly savings increase by

9
3

8
% then the percentage

increase in her monthly
expenditure is:
vuq viuh ekfld vk; dk 68% [kpZ djrh
gSA ;fn mldh ekfld vk; 20% dh o`f¼

gksrh gS vkSj mldh ekfld cpr esa 9
3

8
%

dh o`f¼ gksrh gS] rks mlds ekfld O;; esa
fdrus izfr'kr dh o`f¼ gqbZ
(a) 20% (b) 32%

(c) 25% (d) 22%
27. By what number must the

given number be multiplied to

increase the number by 25%.

fdlh nh xbZ la[;k esa 25% dh òf¼ ds fy,]

mls fdl la[;k ls xq.kk fd;k tkuk pkfg,\

(a)
3

4
(b)

5

4

(c) 3 (d)
2

5
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28. Ravi scores 72% marks in

examinations. If these are 360

marks, then the maximum

marks are:

jfo ijh{kkvksa esa 72% vad izkIr djrk gSaA vxj

Oks 360 vad gSa] rks vf/dre vad fdrus gSa\

(a) 450 (b) 400

(c) 500 (d) 350

29. The price of cooking oil
increased by 25%. Find by how
much percentage a family
must reduce its consumption
in order to maintain the same
budget?
[kkn~; rsy dh dher esa 25% dh o`f¼ gks
xbZA mlh ctV dks cuk, j[kus ds fy, ,d
ifjokj dks vius miHkksx esa fdrus izfr'kr dh
deh djuh pkfg,\
(a) 20% (b) 70%
(c) 30% (d) 80%

Tier-I
SSC CGL 2020
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30. The income of A is 45% more
than the income of B and the
income of C is 60% less than
the sum of the incomes of A
and B. The income of D is 20%
more than that of C. If the
difference between the
incomes of B and D is ` 13200.
then the income (in `) of C is:

A dh vk;] B dh vk; ls 45% vf/d gS
vkSj C dh vk; A dh vk; vkSj B dh vk;
ds ;ksxiQy ls 60% de gSA D dh vk; C
dh vk; ls 20% vf/d gSA ;fn B vkSj D
dh vk; ds chp varj `13,200 gS] rks C
dh vk; (` esa) Kkr djsaA
(a) 75000 (b) 73500
(c) 72500 (d) 72000

31. Radha saves 25% of her
income. If her expenditure
increases by 20% and her
income increases by 29%, then
her savings increase by:
jk/k] viuh vk; dk 25% cpkrh gSA ;fn
mlds O;; esa 20% dh of̀¼ gksrh gS vkSj
mldh vk; esa 29% dh of̀¼ gksrh gS] rks
mldh cpr esa o`f¼ Kkr djsaA
(a) 56% (b) 52%
(c) 65% (d) 70%

32. A, B and C divide a certain sum
of money among themselves.
The average of the amounts
with them is `4520, Share of A

is 
2

10 %
3

 more than share of B

and 
1

33 %
3

 less than share of

C. What is the share of B (in
`)?
A, B vkSj C fdlh fuf'pr jkf'k dks vkil esa
forfjr djrs gSaA muds ikl dh jkf'k;ksa dk vkSlr

`4520 gSA A dk fgLlk] B ds fgLls ls 
2

10 %
3

vf/d gS vkSj C ds fgLls ls 
1

33 %
3

 de gSA

B dk fgLlk (` esa) Kkr djsaA

(a) 3500 (b) 5976
(c) 3600 (d) 3984

SSC CGL Tier-I (2020)
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33. The income of A is 30% less

than the income of B and the

income of B is 137.5% more

than that of C. If the income of

A is `28500 less than that of B,

then the income (in `) of C is:

A dh vk;] B dh vk; ls 30% de gS vkSj
B dh vk; C dh vk; ls 137.5% vf/d
gSA ;fn A dh vk; B dh vk; ls ̀ 28,500

de gS] rks C dh vk; (` esa) Kkr djsaA

(a) 40000 (b) 50000

(c) 48000 (d) 36000

34. Chamanlal, Arshad and Jagjit

Singh contested an election. All

the votes polled were valid.

Arshad got 35% of the total

votes. For every 35 votes

Chamanlal got 14 votes. The

winner got 4950 more votes

than the person who received

the least number of votes. Find

the total number of votes polled.

peuyky] vj'kn vkSj txthr flag us dksbZ
pquko yM+k FkkA ernku ds lHkh oksV oS/ FksA
vj'kn dks dqy oksVksa ds 35% oksV feys FksA
peuyky dks izR;sd 35 oksV esa ls 14 oksV feys
FksA fotsrk dks lcls de oksV ikus okys O;fDr
dh rqyuk esa 4950 oksV vf/d feys FksA
ernku gq, lHkh oksVksa dh dqy la[;k Kkr djsaA

(a) 13378 (b) 38000

(c) 99000 (d) 33000

35. If a number is first increased

by 15%, then reduced by 15%.

it results in 782. If the same

number is first reduced by 25%,

then increased by 25% and

again reduced by 20%, then

what will be the resulting

number?

;fn fdlh la[;k esa igys 15% dh o`f¼
gksrh gS] fiQj 15% dh deh gksrh gS] rks
bldk ifj.kke 782 gksxkA ;fn mlh la[;k
esa igys 25% dh deh gks] fiQj 25% dh
o`f¼ gks vkSj fiQj ls 20% dh deh gks] rks
ifj.kkeh la[;k Kkr djsaA

(a) 712 (b) 150

(c) 750 (d) 600
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36. A certain number of students
from school X appeared in an
examination and 20%
students failed. From school Y,
130% more students than that
from school X, appeared in the
same examination. If 90% of
the total number of students
appeared from from both the
schools passed, then what is
the percentage of students
from school Y who failed
(correct to one decimal place)?
fdlh ijh{kk esa fo|ky; X ls fuf'pr la[;k
esa Nk=k mifLFkr gq, vkSj 20% Nk=k vuqÙkh.kZ
gks x,A mlh ijh{kk esa] fo|ky; X dh rqyuk
esa fo|ky; Y ls 130% vf/d Nk=k mifLFkr
gq,A ;fn nksuksa fo|ky;ksa ls mifLFkr gq, dqy
Nk=kksa esa ls 90% Nk=k mÙkh.kZ gq,] rks fo|ky;
Y ds vuqÙkh.kZ Nk=kksa dk izfr'kr (,d n'keyo
LFkku rd) Kkr djsaA
(a) 8.3% (b) 10%
(c) 6.4% (d) 5.7%

37. Rajan spent 10% of his salary
on rent. He spent 20% of the
remaining part of the salary on
transport. After which he spent
40% of the balance of the salary
on food. Further, he spent 80%
of the balance on various bills.
He deposits `5000 in the bank
and kept the remaining `1480
for his own petty expenditure.
Find his monthly salary (in `).
jktu us vius osru dk 10% fdjk, ij
•pZ fd;kA mUgksaus osru ds 'ks"k Hkkx dk
20% ifjogu ij •pZ fd;kA ftlds ckn
mlus osru ds 'ks"k dk 40% Hkkstu ij •pZ
dj fn;kA blds vykok] mUgksaus 'ks"k jkf'k dk
80% fofHkUu fcyksa ij •pZ fd;kA og
`5000 cSad esa tek djrk gS vkSj 'ks"k
`1480 vius NksVs&eksVs •pZ ds fy, j•rk
gSA mldk ekfld osru (` esa) Kkr dhft,A
(a) 75000 (b) 8000
(c) 82500 (d) 64800

SSC CGL Tier-I (2020)
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38. In an examination. 45% of all
the students who appeared are
boys and the rest are girls. If
60% of the boys and 70% of the
girls passed, then what is the
percentage of students who
failed?
fdlh ijh{kk esa] mifLFkr gksus okys lHkh Nk=kksa
esa ls 45% Nk=k] yM+ds gSa vkSj 'ks"k yM+fd;ka
gSaA ;fn 60% yM+ds vkSj 70% yM+fd;ka
mÙkh.kZ gqbZ gks] rks vuqÙkh.kZ gksus okys Nk=kksa dk
izfr'kr Kkr djsaA
(a) 36 (b) 35.4
(c) 40 (d) 34.5

39. The income of A is 20% less
than the income of B and the
income of C is 70% of the sum
of incomes of A and B. The
income of D is 25% more than
the income of C. If the difference
between the incomes of B and
D is `23000. then what is the
income (in `) of A?

A dh vk;] B dh vk; ls 20% de gS vkSj
C dh vk;] A vkSj B dh vk; ds ;ksxiQy dk
70% gSA D dh vk;] C dh vk; ls 25%

vf/d gSA ;fn B vkSj D dh vk; ds chp varj
`23000 gS] rks A dh vk; (`  esa) Kkr djsaA
(a) 32000 (b) 25000
(c) 26000 (d) 28000

SSC CGL Tier-I (2020)
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40. Weight of A is 20% more than
weight of B, whose weight is
30% more than weight of C. By
how much percent weight of A
is more than weight of C?

A dk otu] B ds otu ls 20% ls vf/d
gS] ftldk otu C ds otu ls 30%

vf/d gSA A dk otu] C ds otu ls fdruk
izfr'kr vf/d gS\
(a) 69 (b) 56
(c) 44 (d) 35.89

41. The present population of a
village is 15280. If the number
of males increases by 25% and
the number of females
increases by 15%, then the
population will become 18428.
The difference between present
population of males and females
in the village is:

fdlh xkao dh orZeku tula[;k 15280 gSA
;fn iq#"kksa dh la[;k esa 25% dh of̀¼ gksrh
gS vkSj efgykvksa dh la[;k esa 15% dh o`f¼
gksrh gS] rks tula[;k 18428 gks tk,xhA
xkao esa iq#"kksa vkSj efgykvksa dh orZeku
tula[;k ds chp dk varj Kkr djsaA
(a) 1840 (b) 1380

(c) 920 (d) 2760
42. Price of a one gram gold coin

decreased by 10% on its initial
price on Monday and increased
by 20% on Tuesday and again
increased by 8% on
Wednesday, and 5% increase
on Thursday. If the final price
on Thursday is `5511.24, then
the initial price (in `) of one
gram gold coin on Monday was?

,d xzke ds lksus ds flDds ds ewY; esa
lkseokj dks blds izkjafHkd ewY; ij 10%

dh deh gksrh gS] eaxyokj dks 20% dh
o`f¼ gksrh gS vkSj cq/okj dks fiQj ls 8% dh

o`f¼ gksrh gSA xq#okj dks blesa fiQj ls 5%

dh of̀¼ gksrh gSA ;fn xq#okj dks vafre ewY;
`5511.24 Fkk] rks lkseokj dks ,d xzke
ds lksus ds flDds dk izkjafHkd ewY; (` esa)
fdruk Fkk\
(a) 4500 (b) 4250

(c) 4000 (d) 5000
SSC CGL Tier-I (2020)
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43. Three persons A, B and C

donate 10%,  7% and 9%
respectively of their monthly
salaries to a charitable trust.
Monthly salaries of A and B are
equal and the difference
between the donations of A and
B is `900. If the total donation
by A and B is `600 more than
that of C, then what is the
monthly salary (in `) of C?

rhu O;fDr A, B vkSj C vius ekfld osru dk
Øe'k% 10%, 7% vkSj 9% Hkkx ,d /ekFkZ
VªLV dks nku djrs gSaA A vkSj B dk ekfld
osru cjkcj gS vkSj A vkSj B ds nku ds chp
varj ̀ 900 gSA ;fn C dh rqyuk esa A vkSj B
}kjk fd;k x;k dqy nku `600 vf/d gS] rks
C dk ekfld osru (` esa) Kkr djsaA
(a) 60000 (b) 50000
(c) 45000 (d) 55000

44. Lucky spends 85% of her
income. If her expenditure
increases by x%, savings
increase by 60% and income
increases by 26%, then what
is the value of x?

yDdh] viuh vk; dk 85% [kpZ djrh gSA
;fn mlds O;; esa x% dh of̀¼ gksrh gS] cpr
esa 60% dh òf¼ gksrh gS vkSj vk; esa 26%

dh òf¼ gksrh gS] rks x dk eku Kkr djsaA
(a) 30 (b) 34

(c) 26 (d) 20
SSC CGL Tier-I (2020)
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45. The total number of students

in a school is 1400, out of
which 35% of the students are
girls and the rest are boys. If
80% of the boys and 90% of the
girls passed in an annual
examination, then the
percentage of the students who
failed is:

,d fo|ky; esa Nk=kksa dh dqy la[;k 1400

gS] ftlesa ls 35% Nk=k yM+fd;ka gSa vkSj
'ks"k yM+ds gSaA ;fn okf"kZd ijh{kk esa 80%

yM+ds vkSj 90% yM+fd;ka mÙkh.kZ gqbZ] rks
vuqÙkh.kZ gksus okys Nk=kksa dk izfr'kr Kkr djsaA
(a) 17.4 (b) 21.5
(c) 15.8 (d) 16.5


	01-Number System
	02-Number System
	03-Simplificatio
	04-Simplificatio
	06-LCM & HCF Q+S
	07-Percentage Qs
	Blank Page
	Page 1

	2.pdf
	Page 1


